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‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

Study Circle Career Development Institute

(8) Vm{H©$H$ VH©$ Am{U {díbofUmË‘H$ j‘Vm
1) {Xboë¶m dmŠ`aMZodéZ {ZU©̀ , {ZîH$f© H$mT>Uo, {dYmZo Am{U {ZîH$f©
2) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$
3) n[apñWVr Am{U à{VgmX, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
4) {dYmZ Am{U H¥$VrMm ‘mJ©, à{VnmXZ Am{U H$maU, {dYmZmÀ`m gË`VoMr nS>VmiUr
5) ~¡R>H$, H«$‘ d ‘m§S>Ur ì`dñWm, VwbZm dm ‘mZm§H$Z
6) ZmVog§~§Y
7) ‘erZ BZnwQ> Am{U {MÝho, J{UVr` VH©$
8) ñWmZ {ZpíMVr MmMUr, {Xem{ZX}e
9) {díbofU, Hy$Q> ‘m{hVrdarb àíZ, g‘ñ`m gmoS>dUo
10) {dXoMm nwaonUm
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(8) Vm{H©$H$ VH©$ Am{U {díbofUmË‘H$ j‘Vm (10)
1) {Xboë¶m dmŠ`aMZodéZ {ZU©̀ , {ZîH$f© H$mT>Uo, {dYmZo Am{U {ZîH$f©
2) {dYmZo Am{U ̀ w{º$dmX, {dYmZo Am{U J¥{hVHo$
3) n[apñWVr Am{U à{VgmX, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
4) {dYmZ Am{U H¥$VrMm ‘mJ©, à{VnmXZ Am{U H$maU, {dYmZmÀ`m gË`VoMr nS>VmiUr
5) ~¡R>H$, H«$‘ d ‘m§S>Ur ì`dñWm, VwbZm dm ‘mZm§H$Z
6) ZmVog§~§Y
7) ‘erZ BZnwQ> Am{U {MÝho, J{UVr` VH©$
8) ñWmZ {ZpíMVr MmMUr, {Xem{ZX}e
9) {díbofU, Hy$Q> ‘m{hVrdarb àíZ, g‘ñ`m gmoS>dUo
10) {dXoMm nwaonUm
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Vm{H©$H$ VH©$ Am{U {díbofUmË‘H$ j‘Vm ¶mda àíZ AgUmè¶m ‘hmamḯ>
bmoH$godm Am¶moJmÀ¶m narjm

1) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
2) JQ> -~ g§¶wº$ nyd©narjm, ’o$~«wdmar 2022
3) JQ> -H$ g§¶wº$ nyd©narjm, E{àb 2022
4)  ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd© narjm, E{àb 2022
5) JQ>-~, ‘w»¶ narjm nona -1, Owb¡ 2022
6) nmobrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
7) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Owb¡ 2022
8) ImË¶m§VJ©V nmocrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
9) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Owb¡ 2022
10) {b{nH$ Q>§H$boIH ‘w»¶ narjm, Am°JñQ> 2022
11) Xþæ¶‘ {ZarjH$ ‘w»¶ narjm,Am°JñQ> 2022
12) amÁ¶godm nyd©narjm nona -2, Am°JñQ> 2022
13) H$a ghm¶H$ ‘w»¶ narjm, Am°JñQ> 2022
14) Vm§{ÌH$ ghm¶H$ ‘w»¶ narjm, gßQ>|~a 2022
15) CÚmoJ {ZarjH$ ‘w»¶ narjm, gßQ>|~a 2022
16) nmobrg Cn{ZarjH$ (‘w»¶) narjm, gßQ>|~a 2022
17) JQ> -~ g§¶wº$ nyd©narjm, Am°³Q>mo~a 2022
18) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Am°³Q>mo~a 2022
19) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm , Am°³Q>mo~a 2022
20) JQ>-H$ godm g§¶wº$ nyd©narjm, Zmoìho§~a 2022
21) d[að> g§emoYZ A{YH$mar narjm, {S>g|~a, 2022
22) àemgH$s¶ A{YH$mar narjm, {S>g|~a 2022
23)  ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd©narjm, {S>g|~a 2022
24) ñQ>oZmo ‘amR>r narjm, {S>g|~a 2022
25) ñQ>oZmo B§J«Or narjm, {S>g|~a 2022

‘hmamḯ> bmoH$godm Am¶moJmÀ¶m narjm 2022
1) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
2) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
3) JQ> -~ g§¶wº$ nyd©narjm, ’o$~«wdmar 2022
4) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
5) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
6) Oo‘E’$gr d {XdmUr Ý¶m¶mYre H${Zð> ñVa nyd© narjm , ‘mM© 2022
7) JQ> -H$ g§¶wº$ nyd©narjm, E{àb 2022
8) ImË¶m§VJ©V nmocrg Cn{ZarjH$ nyd©narjm, E{àb 2022
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9) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd© narjm, E{àb 2022
10) amÁ¶godm gm_mÝ` AÜ``Z nona -1, ‘o 2022
11) amÁ¶godm gm_mÝ` AÜ``Z nona -2, ‘o 2022
12) amÁ¶godm gm_mÝ` AÜ``Z nona -3, ‘o 2022
13) amÁ¶godm gm_mÝ` AÜ``Z nona -4, ‘o 2022
14) JQ>-~, ‘w»¶ narjm nona -1, Owb¡ 2022
15) Oo‘E’$gr ‘w»¶ narjm nona-1, Owb¡ 2022
16) Oo‘E’$gr ‘w»¶ narjm nona-2, Owb¡ 2022
17) nmobrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
18) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Owb¡ 2022
19) ImË¶m§VJ©V nmocrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
20) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Owb¡ 2022
21) JQ>-H$, ‘w»¶ narjm nona -1, Am°JñQ> 2022
22) ghm¶H$ gaH$mar A{^¶moº$m narjm nona -1, gßQ>|~a 2022
23) ghm¶H$ gaH$mar A{^¶moº$m narjm nona -2, gßQ>|~a 2022
24) {b{nH$ Q>§H$boIH ‘w»¶ narjm, Am°JñQ> 2022
25) Xþæ¶‘ {ZarjH$ ‘w»¶ narjm,Am°JñQ> 2022
26) amÁ¶godm nyd©narjm nona -1, Am°JñQ> 2022
27) amÁ¶godm nyd©narjm nona -2, Am°JñQ> 2022
28) H$a ghm¶H$ ‘w»¶ narjm, Am°JñQ> 2022
29) Vm§{ÌH$ ghm¶H$ ‘w»¶ narjm, gßQ>|~a 2022
30) JQ>-~ ‘w»¶ narjm nona-1 , gßQ>|~a 2022
31) CÚmoJ {ZarjH$ ‘w»¶ narjm, gßQ>|~a 2022
32) nmobrg Cn{ZarjH$ (‘w»¶) narjm, gßQ>|~a 2022
33) H¥$fr godm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
34) H¥$fr godm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
35) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
36) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
37) dZgodm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
38) dZgodm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
39) JQ> -~ g§¶wº$ nyd©narjm, Am°³Q>mo~a 2022
40) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Am°³Q>mo~a 2022
41) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm , Am°³Q>mo~a 2022
42) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
43) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
44) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
45) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
46) JQ>-H$ godm g§¶wº$ nyd©narjm, Zmoìho§~a 2022
47) A{gñQ>§Q> Q>mD$Z ßb°Za narjm, Zmoìh|~a 2022
48) AZwdmXH$ (‘amR>r) MmiUr narjm, [S>g|~a, 2022
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49) d[að> g§emoYZ A{YH$mar narjm, {S>g|~a, 2022
50) àemgH$s¶ A{YH$mar narjm, {S>g|~a 2022
51) {d^mJr¶ EEgAmo narjm nona -1, {S>g|~a 2022
52) {d^mJr¶ EEgAmo narjm nona -2, {S>g|~a 2022
53) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd©narjm, {S>g|~a 2022
54) ñQ>oZmo ‘amR>r narjm, {S>g|~a 2022
55) ñQ>oZmo B§J«Or narjm, {S>g|~a 2022
56) newd¡ÚH$s¶ A{YH$mar narjm, {S>g|~a 2022
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‘hmamîQ́> bmoH$godm Am¶moJ narjm 2023 Aä¶mgH«$‘
1) ^maVmMm B{Vhmg Am{U ̂ maVr` amï´>r` Midi (15)
2) ‘hmamï´>, ̂ maV Am{U OmJ{VH$ ̂ yJmob (15)
3) ^maVr` amÁ¶ì¶dñWm Am{U emgZ (15)
4) Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
6) gm‘mÝ` {dkmZ (15)
7) Mmby KS>m‘moS>r - amï´>r` Am{U Am§Vaamï´>r` ‘hÎd (15)
8) Vm{H©$H$ Am{U {dl²bofUmË‘H$ j‘Vm (10)
9) gm‘mÝ` ‘mZ{gH$ j‘Vm (7)
10) ‘yb ŷV g§»`mË‘H$ j‘Vm (8)
11) {ZU©¶j‘Vm Am{U g‘ñ`m gmoS>dUyH$, g§dmX H$m¡eë` d Am§Vaì¶º$s H$m¡eë` (5)
12) AmH$bZ, ‘amR>r Am{U B§J«Or ̂ mfm AmH$bZ H$m¡eë ò (50)
13) ‘m{hVr A{YH$ma A{Y{Z¶‘ (5)
14) ‘hmamîQ́> bmoH$godm h¸$ (5)
15) ‘m{hVr d g§àofU V§ÌkmZ (10)

(1) ^maVmMm B{Vhmg Am{U ^maVr` amḯ>r` Midi (15)
1) àmMrZ ^maVmMm B{Vhmg (4)
2) ‘Ü¶¶wJrZ ^maVmMm B{Vhmg (3)
3) AmYw{ZH$ ^maVmMm B{Vhmg (4)
4) ^maVr` amï´>r` Midi (4)

(2) ‘hmamḯ>, ^maV Am{U OmJ{VH$ ŷJmob (15)
1) OJmMm ^m¡{VH$ ŷJmob (3)
2) OJmMm gm‘m{OH$ ŷJmob (1)
3) OJmMm Am{W©H$ ŷJmob (1)
4) ^maVmMm ^m¡{VH$ ŷJmob (2)
5) ^maVmMm gm‘m{OH$ ŷJmob (1)
6) ^maVmMm Am{W©H$ ŷJmob (2)
7) ‘hmamï´>mMm ^m¡{VH$ ŷJmob (2)
8) ‘hmamï´>mMm gm‘m{OH$ ŷJmob (1)
9) ‘hmamï´>mMm Am{W©H$ ŷJmob (2)

(3) ‘hmamḯ> Am{U ^maV - ^maVr` amOH$maU Am{U emgZ (15)
1) g§{dYmZ - ^maVmÀ¶m amÁ¶KQ>ZoMm àmW{‘H$ Aä¶mg (3)
2) amOH$s` ì`dñWm (3)
3) n§Mm`Vr amO Am{U ehar emgZ (3)
4) gmd©O{ZH$ YmoaU (3)
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5) ‘mZdr h¸$ g‘ñ`m (3)
* ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005
* ‘hmamîQ´> bmoH$godm h¸$, 2015

(4) Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
1) emídV {dH$mg (2)
2) J[a~r (2)
3) g‘mdoe (2)
4) bmoH$g§»`memó (2)
5) gm‘m{OH$ joÌmVrb CnH«$‘ (2)
6) ^maVr` AW©ì`dñWm - gmd©O{ZH$ {dÎm (1)
7) {dXoer ì`mnma (1)
8) ~±qH$J, ‘hmJmB© (1)
9) CÚmoJ (1)
10) eoVr (1)

(5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
1) n[apñW{VH$s (2)
2) O¡d{d{dYVm (2)
3) hdm‘mZ ~Xb (2)

(6) gm‘mÝ` {dkmZ (15)
1) ^m¡{VH$emó (3)
2) agm¶Zemó (3)
3) àm{Uemó (2)
4) dZñn{Vemó (2)
5) H¥$fr / eoVrg§b¾ {dkmZ (2)
6) Amamo½¶emó (5)
7) {dkmZ Am{U V§ÌkmZ (2)
* ‘m{hVr d g§àofU V§ÌkmZ

(7) Mmby KS>m‘moS>r, amḯ>r` Am{U Am§Vaamḯ>r` ‘hÎd (15)
1) amOH$s¶ KQ>Zm (2)
2) Am{W©H$ d {dÎmr¶ KQ>Zm (2)
3) d¡km{ZH$ KQ>Zm (2)
4) gm‘m{OH$ d e¡j{UH$ KQ>Zm (2)
5) ^m¡Jmo{bH$, gm§ñH¥${VH$ d gm{hpË¶H$ KQ>Zm (3)
6) Zo‘UwH$m d nwañH$ma$ KQ>Zm (2)
7) gm‘mÝ¶kmZ d H«$sS>m{df¶H$ KQ>Zm (2)
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(8) Vm{H©$H$ VH©$ Am{U {díbofUmË‘H$ j‘Vm (10)
1) {Xboë¶m dmŠ`aMZodéZ {ZU©̀ , {ZîH$f© H$mT>Uo, {dYmZo Am{U {ZîH$f©
2) {dYmZo Am{U ̀ w{º$dmX, {dYmZo Am{U J¥{hVHo$
3) n[apñWVr Am{U à{VgmX, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
4) {dYmZ Am{U H¥$VrMm ‘mJ©, à{VnmXZ Am{U H$maU, {dYmZmÀ`m gË`VoMr nS>VmiUr
5) ~¡R>H$, H«$‘ d ‘m§S>Ur ì`dñWm, VwbZm dm ‘mZm§H$Z
6) ZmVog§~§Y
7) ‘erZ BZnwQ> Am{U {MÝho, J{UVr` VH©$
8) ñWmZ {ZpíMVr MmMUr, {Xem{ZX}e
9) {díbofU, Hy$Q> ‘m{hVrdarb àíZ, g‘ñ`m gmoS>dUo
10) {dXoMm nwaonUm

(9) gm‘mÝ` ‘mZ{gH$ j‘Vm (7)
1) H«$‘ Am{U ‘m{bH$m 1
2) H«$‘ Am{U ‘m{bH$m 2
3) gm§Ho${VH$ ^mfm/ H$moqS>J-{S>H$moqS>J
4) gmå¶, VwbZm, dJuH$aU
5) J{UVr` / A§H$J{UVr` {H«$`m
6) AmH¥$Ë`m§da àl²Z 1
7) AmH¥$Ë`m§da àl²Z 2

(10) ‘yb ŷV g§»`mË‘H$ j‘Vm (8)
1) A§H$J{UVr¶ H$m¡eë¶ - Xem§e AnyUmªH$, ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma Am{U gabrH$aU

g§»`màUmbr - bgm{d, ‘gm{d, KmVm§H$, dJ©‘yi Am{U KZ‘yi
2) Q> o̧$dmar, ^mJrXmar Am{U Jw§VdUyH$, JwUmoÎma Am{U à‘mU, gmIir {Z`‘
3) doi Am{U A§Va, aoëdoJmS>çm, ~moQ> Am{U Obàdmh
4) {dH«$s Am{U IaoXr, gdbV, Z’$m Am{U VmoQ>m, gai ì`mO Am{U MH«$dmT> ì`mO
5) doi Am{U H$m‘, nmB©n>, KS>çmi, H°$b|S>a, d¶mdarb àíZ
6) g§̂ mì`Vm, H«$‘M¶, gamgar
7) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
8) AmboI, Vºo$, S>oQ>m g{’${gEÝgr

(11) {ZU©¶j‘Vm Am{U g‘ñ`m gmoS>dUyH$, g§dmX H$m¡eë`- Am§Vaì¶º$s H$m¡eë` (5)
1) n[apñWVr hmVmiUo
2) àemgH$s` j‘Vm
3) gm‘m{OH$ Ym{‘©H$ g‘ñ`m
4) «̂ï>mMma, gMmoQ>r, Z¡{VH$Vm
5) ì`dñWmnH$s` H$m¡eë ò
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(12) CVmao, ‘amR>r Am{U B§J«Or ^mfm AmH$bZ H$m¡eë`(40)
1) Eo{Vhm{gH$ KQ>Zm
2) gmYZg§nÎmr d n¶m©daUr¶ ~m~r
3) amOH$s¶ joÌ
4) Am{W©H$ d gm‘m{OH$ {dH$mg
5) {dkmZ d V§ÌkmZ joÌ
6) H$bm, g{hË¶ d gm§ñH¥${VH$ joÌ
7) ‘amR>r ^mfm AmH$bZ H$m¡eë`
8) B§J«Or ^mfm AmH$bZ H$m¡eë`

(13) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 (5)
1) H$m¶ÚmMr CËH«$m§Vr, gwYmaUm d BVa ~m~r
2) H$m¶ÚmVrb ‘hÎdmMr H$b‘o
3) H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
4) H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
5) H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(14) ‘hmamîQ́> bmoH$godm h¸$, 2015 (5)
1) H$m¶ÚmMr CËH«$m§Vr, gwYmaUm d BVa ~m~r
2) H$m¶ÚmVrb ‘hÎdmMr H$b‘o
3) H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
4) H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
5) H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(15) ‘m{hVr d g§àofU V§ÌkmZ (10)
1) g§JUH$ V§ÌkmZ - AmYw{ZH$ g‘mOmVrc g§JUH$mMr ŷ{‘H$m, doJdoJù¶m joÌmVrc OrdZmV g§JUH$mMm dmna
2) H$å¶w{ZHo$eZ V§ÌkmZ - S>mQ>m H$å¶w{ZHo$eZ, ZoQ>d{Hª$J Am{U do~ Q>o³Zm°cm°Or
3) gm¶~a JwÝho d Ë¶mg à{V~§Y
4) emgZmMo Am¶Q>r H$m¶©H«$‘ - {‘S>r¶m c°~ E{e¶m, {dÚm dm{hZr, kmZ dm{hZr, gm‘y{hH$ ‘m{hVr H|$Ð BË¶mXr
5) ‘m{hVr V§ÌkmZ CÚmoJ - ‘m{hVr V§ÌkmZ CÚmoJmVrc ‘yc ŷV àíZ d Ë¶mMo ^{dVì¶, ZdrZ CÚmoJ åhUyZ ‘m{hVr

V§ÌkmZmMm {Za{Zamù¶m godm gw{dYm§Mr ‘m{hVr {‘iÊ¶mgmR>r hmoUmam Cn¶moJ, ̂ maVmVrc ‘m{hVr V§ÌkmZ CÚmoJmMr dmT>
d Ë¶mMm XOm©.
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‘hmamḯ> ZmJar godm amOn{ÌV nyd© narjm 2023
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(7) SentenceStructure / 20

(8) Grammar /10

(9) Use of Idioms and Phrases / 5

(10) Comprehension / 5

nona H«$‘m§H$ - 2 : gm‘mÝ¶ AÜ¶¶Z d ~wpÜX‘mnZ MmMUr
1) _hmamï´>mMm ̂ yJmoc /10
2) n¶m©daU /5
3) ^maVr¶ amÁ¶KQ>Zm/10
4) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 /5
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6) g‘J«bú¶r AW©emó /5
7) ^maVr¶ AW©ì¶dñWm/10
8) gm‘mÝ¶ {dkmZ d V§ÌkmZ /10
9)$ ‘m{hVr d g§àofU V§ÌkmZ /5
10) Mmcy KS>m‘moS>r - OmJ{VH$ VgoM ‘hmamï´>mgh ̂ maVmVrc /15
11) gm‘mÝ¶ ~w{Õ‘mnZ d AmH$bZ /10
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{XdmUr Ý¶m¶mYre H${Zð> ñVa d Ý¶m¶X§S>m{YH$mar àW‘ dJ© narjm -2023

Civil judge (Junior Div) & Judicial Magistrate (1st Class)

Preliminary Examination

* Standard : Suitable to the post

* Maximum Marks : 100

* Medium : English

* Duration : Two Hours

* Nature of the paper : Objective type ( multiple choice question)

nyd©narjoMm Aä¶mgH«$‘
1) H$moS> Am°’$ {H«${‘Zc àmo{gOa
2) {gpìhc àmo{gOa H$moS>
3) EpìhS>Ýg A°³Q>
4) Q´>mÝg’$a Am°’$ àm°nQ>u A°³Q>
5) ñno{g{’$H$ [a{c’$ A°³Q>
6) ‘hmamï´> a|Q> H§$Q´>moc A°³Q>
7) {c{‘Q>oeZ A°³Q>
8) H$m°pÝñQ>Q>çweZ Am°’$ B§{S>¶m
9) B§{S>¶Z {nZc H$moS>
10) cm° Am°’$ H$m°ÝQ´>°³Q>, goc Am°’$ JwS²>g A°³Q> A°ÝS> nmQ>©Za{en A°³Q>

* Syllabus for Competitive Examination to the post of recruitment for Civil judge ( junior

Division ) & Judicial Magistrate ( First Class) ( Preliminary) Examination under judi-

cial Service of the Government of Maharashtra .

1) Code of Criminal Procedure

2) Civil Procedure Code

3) Evidence Act

4) Transfer of property Act

5) Specific Relief Act

6) Maharashtra Rent Control Act

7) Limitation Act

8) Constitution of India

9) Indian penal Code

10) Law of Contracts, Sale of Goods Act & Partnership
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‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

Vm{H©$H$ VH©$ Am{U {díbofUmË‘H$ j‘Vm

Vm{H©$H$ VH©$ Am{U {díbofUmË‘H$ j‘Vm {df¶mMo KQ>H$, CnKQ>H$ Am{U ‘hÎdmMo ‘wÔo

1) {Xboë¶m dmŠ`aMZodéZ {ZU©̀ , {ZîH$f© H$mT>Uo
2) {dYmZo Am{U ̀ w{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
3) n[apñWVr Am{U à{VgmX, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
4) {dYmZ Am{U H¥$VrMm ‘mJ©, à{VnmXZ Am{U H$maU, {dYmZmÀ`m gË`VoMr nS>VmiUr
5) ~¡R>H$, H«$‘ d ‘m§S>Ur ì`dñWm, ‘mZm§H$Z MmMUr, VwbZm
6) ZmVog§~§Y
7) ‘erZ BZnwQ> Am{U {MÝho, J{UVr` VH©$
8) ñWmZ {ZpíMVr MmMUr, {Xem{ZX}e
9) {díbofU, {ZU©̀  KoUo, g‘ñ`m gmoS>dUo
10) Hy$Q> ‘m{hVrdarb àíZ
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(1) {Xboë¶m dmŠ`aMZodéZ {ZU©̀ , {ZîH$f© H$mT>Uo, {dYmZo d {ZîH$f©

1) ¶mo½¶ {ZîH$f© {ZdS>m …
{dYmZ …
Am¡a§Jm~mX Vo MoÞB© àdmg hdmB© ‘mJm©Zo ObX hmoVmo.
{ZîH$f© …
a) Am¡a§Jm~mX Am{U MoÞB© hr {R>H$mUo hdmB© ‘mJm©Zo OmoS>bobr Amho.
b) Am¡a§Jm~mX Vo MoÞB©gmR>r Xþgam H$moUVmhr XiU-diUmMm ‘mJ© CnbãY Zmhr.
n¶m©¶r CÎmao …
1) ’$º$ (a) hm {ZîH$f© ¶mo½¶ Amho. 2) ’$º$ (b) hm {ZîH$f© ¶mo½¶ Amho.
3) XmoÝhr (a) Am{U (b) {ZîH$f© ¶mo½¶ Amho. 4) XmoÝhr (a) Am{U (b) {ZîH$f© ¶mo½¶ Zmhr.

1) Choose proper conclusion :

Statement :

It is faster to travel by air from Aurangabad to Chennai.

Conclusion :

a) Aurangabad and Chennai are connected by air services.

b) There is no other means of transportation between Aurangabad to Chennai.

Answer Options:

1) Only conclusion (a) is implicit. 2) Only conclusion (b) is implicit.

3) Both (a) and (b) are implicit. 4) Neither (a) or (b) are implicit.

2) nwT>rb VrZ {dYmZo dmMyZ H$mT>bobm gdm©V emoY {ZîH$f© {Xboë¶m n¶m©¶m§‘YyZ {ZdmS>m.
A) gd© IoimSy> ì¶º$s H$ï>miy AgVmV.
~) H$mhr IoimSy> ì¶º$s à{V~§{YV nXmW© ImVmV.
H$) Á¶m ì¶º$s ~o{eñV AgVmV Ë¶m ~hþV H$ê$Z à{V~§{YV nXmW© ImVmV.
n¶m©¶r CÎmao …
1) ~o{eñV ì¶º$s IoimSy> ZgVmV.
2) gd© IoimSy> ~o{eñV AgVmV.
3) H$mhr bmoH$ à{V~§{YV nXmW© ImVmV Vo IoimSy> AgVmV.
4) à{V~§{YV nXmW© ImUmè¶m gd© ì¶º$s ~o{eñV AgVmV.

2) Read the following three statements and judge the most probable conclusion from the given

options.

a) All athletes are hard working individuals.

b) Some athletes consume prohibited substances.

c) Individuals who are undisciplined consume excessive amounts of prohibited foods.

Answer Options :

1) Unruly people are not sportsmen.

2) All players are unruly.

3) Some people who consume banned substances are athletes.

4) All persons who eat forbidden food are undisciplined.
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3) nwT>o 5 {dYmZo Am{U Z§Va 3 {dYmZo {d{eï> H«$‘mZo EH$Ì H$ê$Z n¶m©¶ Owidbo AmhoV. Ë¶mVyZ Vm{H©$H$Ñï²>¶m ¶WmW©
¶w{º$dmX {ZX}{eV H$aUmam n¶m©¶ {ZdS>m. ¶w{º$dmX ¶WmW© R>aÊ¶mgmR>r OwiUrVrb 3 ao {dYmZ ho Ë¶mAmYrÀ¶m 2
{dYmZm§da AmYm[aV {ZîH$f© {dYmZ Agm¶bm hdo.
a) H$mhr dmhZo n¶m©daUmgmR>r hm{ZH$maH$ ZmhrV.
b) dmhZm§Mr dmhVyH$ H$m~©Z S>m`Am°ŠgmB©S> d AÝ¶ h[aVJ¥h dm¶y§Mm CËgJ© H$aVo.
c) H$m~©Z S>m`Am°ŠgmB©S> d h[aVJ¥h dm¶y n¶m©daUmgmR>r hm{ZH$maH$ AmhoV.
d) H$mhr dmhZm§Mr dmhVyH$ H$m~©Z S>m`Am°ŠgmB©S> d h[aVJ¥h dm¶y§Mm CËgJ© H$aV Zmhr,
e) dmhZm§Zr dmhVyH$ n¶m©daUmgmR>r hm{ZH$maH$ Amho.
n¶m©¶r CÎmao :
1) (b) (e), (c) 2) (c), (b), (e) 3) (c), (a), (d) 4) (b), (d), (a)

3) Given below are 5 statements followed by options composed of 3 statements put together in a

specific order. Choose the option that indicates logically valid argument. To be valid the 3rd

statement of the composition should be the conclusion based on preceding 2 statements.

a) Some vehicles are not hazardous to the environment.

b) Vehicular traffic leads to emission of carbon dioxide and other greenhouse gases.

c) Carbon dioxide and other greenhouse gases are hazardous to the environment.

d) Some vehicular traffic does not emit Carbon dioxide and other greenhouse gases.

e) Vehicular traffic is hazardous to the environment.

Answer Options :

1) (b) (e), (c) 2) (c), (b), (e) 3) (c), (a), (d) 4) (b), (d), (a)

4) d¡Y {ZîH$f© {ZdS>m.
gË¶ {dYmZo : H$mhr a§mJm àmUr AmhoV. H$mhr àmUr Hw$ñVrJra AmhoV. gd© Hw$ñVrJra H${dVm AmhoV.
{ZîH$f© :
a) H$mhr Hw$ñVrJra àmUr AmhoV. b) H$mhr H${dVm am§Jm AmhoV.
c) gd© am§Jm H${dVm AmhoV d) H$mhr H${dVm àmUr Amho.
n¶m©¶r CÎmao :
1) ’$º$ (a) d (b) 2) ’$º$ (a) d (d) 3) ’$º$ (a) d (c) 4) ’$º$ (b) d (c)

4) Select valid conclusions.

True statements : Some queues are animals. Some animals are wrestlers. All the wrestlers are

poems.

Conclusions :

a) Some wrestlers are animals. b) Some poems are queues.

c) All the queues are poems. d) Some poems are animals.

Answer options :

1) Only (a) and (b) 2) Only (a) and (d) 3) Only (a) and (c) 4) Only (b) and (c)
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5) d¡Y {ZîH$f© {ZdS>m …
gË¶ {dYmZo …
H$mhr nV§J nm¶è¶m AmhoV. H$mhr nm¶è¶m Vmao AmhoV. gd© Vmao Q>mMÊ¶m AmhoV.
{ZîH$f© …
a) H$mhr Q>mMÊ¶m nm¶è¶m AmhoV. b) H$mhr Vmao nV§J AmhoV.
c) EH$hr Vmam nV§J Zmhr. d) H$mhr nm¶è¶m nV§J AmhoV.
n¶m©¶r CÎmao …
1) ’$º$ (a) d (d) 2) ’$º$ (b) d (d)

3) ’$º$ (b) d (c) 4) ’$º$ (a), (d) d (b) qH$dm (a), (d) d (c)

5) Select valid conclusions.

True statements :

Some kites are steps. Some steps are stars. All the stars are pins.

Conclusions :

a) Some pins are steps. b) Some stars are kites.

c) No stat is kite. d) Some steps are kites.

Answer options :

1) Only (a) and (d) 2) Only (b) and (d)

3) Only (b) and (c) 4) Only (a), (d) and (b) or (a), (d) and (c)

6) nwT>o ghm {dYmZo Am{U Ë¶mZ§Va Ë¶mVë¶m VrZ {dYmZm§Mo EH$ÌrH$aU {Xbo Amho. VH©$g§JV EH$ÌrH$aU {ZdS>m.
{dYmZo …
A) gd© M|Sy> ~mhþë¶m AmhoV. ~) gd© Xm§S>’$ù¶m ~mhþë¶m AmhoV.
H$) gd© Xm§S>’$im M|Sy> AmhoV. S>) H$mhr Xm§S>’$ù¶m ~mhþë¶m AmhoV.
B) H$mhr ~mhþë¶m M|Sy> AmhoV. ’$) EH$hr M|Sy> ~mhþbr Zmhr.
n¶m©¶r CÎmao …
1) H$, S> Am{U B 2) H$, B Am{U ’$ 3) A, H$ Am{U S> 4) ~, B Am{U ’$

6) Given below are six statements and then four sets of combinations of three given

statements. Select the combination that is logically related.

Statements :

a) All balls are dolls. b) All bats are dolls.

c) All bats are balls. d) Some bats are dolls.

e) Some dolls are bails. f) No ball is doll.

Answer Options :

1) c,d and e 2) c, e and f 3) a, c and d 4) b, e and f

7) Imbrb àíZmV XmoZ {dYmZo d XmoZ AZw‘mZo {Xbr AmhoV.
{dYmZo … a) gd© H$mdio {M‘Ê¶m AgVmV.

b) H$mhr {M‘Ê¶m H$m|~S>çm AgVmV.
AZw‘mZo … a) gd© H$mdio H$m|~S>çm AgVmV.

b) H$mhr H$mdio H$m|~S>çm AgVmV.
H$moUVo AZw‘mZ/AZw‘mZo gË¶ Amho/V ?
1) ’$º$ AZw‘mZ (a) gË¶ 2) ’$º$ AZw‘mZ (b) gË¶
3) AZw‘mZo (a) d (b) XmoÝhr gË¶ 4) AZw‘mZo (a) d (b) XmoÝhr AgË¶.
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7) In following question two statements and two conclusions are given.
Statements : a) All crows are sparrows.

b) Some sparrows are hens.
Conclusions : a) All crows are hens.

b) Some crows are hens.
Which conclusion/conclusions is/are true ?
1) Only conclusion (a) true 2) Only conclusion (b) true
3) Conclusion (a) and (b) both true 4) Conclusion (a) and (b) both not true

8) {Xbobr {dYmZo d Ë¶mZ§VaMr AZw‘mZo Aä¶mgm. {Xboë¶m {dYmZm§da AmYm[aV ¶mo½¶ AZw‘mZmMr {ZdS> H$am …
a) gd© J{UVr Cƒ nmVirMr VH©${dMma H$aÊ¶mMr j‘Vm àX{e©V H$aVmV.
b) nma§n[aH$ emim àUmbrMr {ZînÎmr Zgbobo, ñdmÜ¶m¶u {dÚmWu, ~hþYm Iyn gO©Zerb AgVmV.
c) ’$º$ H$mhr J{UVr Iyn gO©Zerb AgVmV.
n¶m©¶r CÎmao …
1) Cƒ nmVirMr VH©${dMma j‘Vm Agboë¶m ì¶º$s J{UVr hmoÊ¶mMr e³¶Vm AgVo.
2) ñdmÜ¶m¶r {dÚmWu Cƒ nmVirMr VH©${dMma j‘Vm àX{e©V H$aV ZmhrV.
3) ñdÜ¶m¶r {dÚmWu ¹${MVM J{UVr hmoVmV.
4) darbn¡H$s EH$hr Zmhr

8) Study the statements given below and select the correct conclusion based on these, that follow :
a) All mathematicians exhibit an ability to do high level logical thinking.
b) Self-learning students, who are not the product of traditional school system, are usually found

to be highly creative.
c) Only some of the mathematicians are highly creative.
Answer Options :

1) Persons with high level logical thinking ability are likely to become mathematicians.
2) Self-learning students don’t exhibit high level logical thinking ability.
3) Self-learning students seldom become mathematicians.
4) None of the above

9) nwT>o àË¶oH$s VrZ {dYmZo g‘m{dï> Agbobo Mma ¶w{º$dmX {Xbo AmhoV. Á¶m g§MmV 3 ao {dYmZ ho 1 ë¶m XmoZ {dYmZm§À¶m
AmYmao H$mT>bobm {ZîH$f© Amho Ë¶mMr {ZdS> H$am.
g§M …
A) EH$hr ggm hgV Zmhr. H$mhr Oo hgVmV Vo dmK AmhoV. H$mhr dmK ggo ZmhrV.
~) gd© H$moëho H$mio AmhoV. H$mhr H$moëho ZmMV ZmhrV. H$mhr ZV©H$ H$mio ZmhrV.
H$) A enW KoÊ¶mMr hm¡g ^mJdVmV. enW KoUmè¶m§Zm Y‘H$mdbo OmVo. Oo H$mhrOU Y‘H$mdbo OmVmV Vo A ZmhrV.
S>) gd© E ho S AmhoV. gd© E ho B AmhoV. H$mhr B ho S AmhoV.
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ 2) ’$º$ A 3) ’$º$ A Am{U S> 4) ’$º$ S>

9) Given below are four arguments consisting of sets of three sentences each. Select thE set in
which the 3™ statement is the logical conclusion based on 15t two statements.
Sets :

a) Norabbits laugh. Some who laugh are tigers. Some tigers are not rabbits.
b) All foxes are black. Some foxes do not dance. Some dancers are not black.
c) A’s indulge in swearing. Those who swear are threatened. Some who are Threatened are not A’s.
d) All E’s are S. All E’s are B’s. Some B’s are S.
Answer options :

1) Only a and b 2) Only a 3) Only a and d 4) Only d
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10) d¡Y {ZîH$f© {ZdS>m.
gË¶ {dYmZo … gd© H$‘io H$moAmbm AmhoV.

gd© H$moAmbm ~moQ>r AmhoV.
H$mhr q^Vr ~moQ>r AmhoV.

{ZîH$f© … A) H$mhr ~moQ>r H$‘io AmhoV.
~) H$mhr q^Vr H$moAmbm AmhoV.
H$) gd© H$moAmbm H$‘io AmhoV.

n¶m©¶r CÎmao …
1) ’$º$ A d H$ 2) ’$º$ A 3) ’$º$ ~ d H$ 4) ’$º$ ~

10) Select the valid conclusions.
True statements : All lotuses are koalas.

All koalas are boats.
Some walls are boats.

Conclusions : a) Some boats are lotuses.
b) Some walls are koalas.
c) All koalas are lotuses.

Answer Options:

1) Only a and c 2) Only a 3) Only b and c 4) Only b

11) ~amM ‘hmJ Agbm Var, ‘mo~mB©b hr M¡ZrMr dñVy Zmhr. H$maU EImXr ì¶º$s ‘mo~mB©bÀ¶m ‘mÜ¶‘mVyZ Iyn Jmoï>r {eHy$
eH$Vo.
darb {dYmZmdê$Z Imbrbn¡H$s H$moUVm {ZîH$f© H$mT>Vm ¶oD$ eH$Vmo ?
n¶m©¶r CÎmao …
1) gd© ‘hmJ dñVy M¡ZrÀ¶m g‘Oë¶m OmVmV.
2) {eH$Ê¶mgmR>r Amdí¶H$ AgUmè¶m gd© dñVy M¡ZrÀ¶m ZgVmV.
3) {eH$Ê¶mgmR>r ‘mo~mB©b Amdí¶H$ Amho.
4) ‘mo~mB©b hr M¡ZrMr dñVy Zmhr

11) Though the mobile is much expensive, it is not a luxurious thing because one can learn many
things through the medium of mobile.
From the above statement, which conclusion one can draw from the following :
Answer Options :

1) All expensive things are supposed to be luxurious.
2) All necessary things for learning are not luxurious.
3) Mobile is necessary for learning.
4) Mobile is not a luxurious thing.

12) d¡Y {ZîH$f© {ZdS>m.
gË¶ {dYmZo …
H$mhr nopÝgbr ~§XþH$m AmhoV.
H$mhr ~§XþH$m noZo AmhoV.
H$mhr noZo ‘maoH$ar AmhoV.
{ZîH$f© …
a) H$mhr nopÝgbr noZo AmhoV. b) H$mhr ~§XþH$m ‘maoH$ar AmhoV.
c) H$mhr ‘maoH$ar noZo AmhoV. d) H$mhr ‘maoH$ar ~§XþH$m AmhoV.
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (b) 4) ’$º$ (c)
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12) Select the valid conclusion/s.

True statements :

Some pencils are guns.

Some guns are pens.

Some pens are killers.

Conclusions :

a) Some pencils are pens. b) Some guns are killers,

c) Some killers are pens. d) Some killers are guns.

Answer Options :

1) Only (a) and (b) 2) Only (b) and (c) 3) Only (b) 4) Only (c)

13) Jm¡ad hm d¶mZo gm¡adnojm ‘moR>m Amho, na§Vw gm¡a^nojm bhmZ Amho. gm¡ad hm d¶mZo AU©d EdT>mM Amho na§Vw Vmo àUdnojm
‘moR>m Amho.
Va Imbr {Xboë¶m {dYmZm§n¡H$s H$moUVo {dYmZ/{dYmZo AMyZ Amho/AmhoV?
{dYmZo …
A) AU©d hm gm¡adnojm bhmZ Amho. ~) AU©d hm gm¡a^nojm ‘moR>m Amho.
H$) AU©d hm àUdnojm ‘moR>m Amho. S>) AU©d hm Jm¡adnojm ‘moR>m Amho.
n¶m©¶r CÎmao …
1) ’$º$ A Am{U S> 2) ’$º$ ~ Am{U H$ 3) ’$º$ A 4) ’$º$ H$

13) Gaurav is older than Saurav but younger than Saurabh. Saurav is as old as Arnav but older than

Pranav.

Then which of the statement/s given below is/are correct?

Statements :

a) Arnav is younger than Saurav. b) Arnav is older than Saurabh.

c) Arnav is older than Pranav. d) Arnav is older than Gaurav.

Answer Options :

1) Only a and d 2) Only b and c 3) Only a 4) Only c

14) {dYmZo …
gd© Hw$bwno {H$ëë¶m AmhoV.
gd© {H$ëë¶m XadmOo AmhoV.
H$mhr XadmOo {IS>³¶m AmhoV.
H$mhr {IS>³¶m ’$e© AmhoV.
{ZîH$f© …
I) H$mhr {H$ëë¶m ¶m {IS>³¶m AmhoV.
II) H$mhr ’$e© ho XadmOo ZmhrV.
III) H$moUVohr Hw$byn ho {IS>³¶m ZmhrV.
n¶m©¶r CÎmao …
1) H$moUVmhr {ZîH$f© ~amo~a Zmhr. 2) ’$º$ {ZîH$f© I ~amo~a Amho.
3) {ZîH$f© I d II ~amo~a AmhoV. 4) gd© {ZîH$f© ~amo~a AmhoV.
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14) Statements :

All locks are keys.

All keys are doors

Some doors are windows.

Some windows are floors.

Conclusions :

I) Some keys are windows.

II) Some floors are not doors.

III) Any locks are not windows.

Answer Options :

1) None of the conclusions are correct 2) Only conclusion I is correct

3) Conclusions I and II are correct 4) All conclusions are correct

15) nwT>rb VÏ¶m§Mo narjU H$am …
a) AZy ~mZmonojm dOZXma Amho. b) qg{Y¶m {XZmnojm C§M Amho.
c) ~mZmo {XZmBVH$sM C§M nU {VÀ¶mnojm dOZXma Amho. d) {XZm AZynojm C§M Amho.
darb VÏ¶m§da AmYm[aV AMyH$ {ZîH$f© AmoiIm.
1) gdm©V qg{Y¶m dOZXma Amho Am{U AZy ~wQ>H$s Amho.
2) AZy {ZpíMVnUo gdm©V dOZXma Am{U ~wQ>H$s Amho.
3) qg{Y¶m gdm©V dOZXma Amho na§Vw gdm©V C§M H$moU ¶mg§~§YmZo {ZîH$f© H$mT>Uo e³¶ Zmhr.
4) gdm©V dOZXma H$moU ¶m{df¶r {ZîH$f© H$mT>Uo Ae³¶ Amho na§Vw AZy {ZpíMVnUo gdm©V ~wQ>H$s Amho.

15) Examine the following facts

a) Anu is heavier than Bano.

b) Cynthia is taller than Dina.

c) Bano is of same height as Dina but heavier than her.

d) Dina is taller than Anu.

Select the correct conclusion based on above facts.

1) Cynthia is the heaviest and Anu is shortest of all.

2) Anu is definitely heaviest and shortest among all.

3) Cynthia is heaviest but it is impossible to conclude who is tallest of all.

4) It is impossible to draw conclusion about who is heaviest but Anu is definitely shortest among

all.

16) {Xbobr {dYmZo d Ë¶mnwT>Mr AZw‘mZo Aä¶mgm. {Xboë¶m {dYmZm§da AmYm[aV C{MV AZw‘mZmMr {ZdS> H$am.
a) ‘¡XmZmda IoiUmè¶m gd© hm°H$s IoimSy>§Mr {Zio {MÝh Agbobo Q>r-eQ>© KmVbo AmhoV.
b) ‘¡XmZmda Agbobo gd© IoimSy> hm°H$s IoiV ZmhrV.
c) H$mhr hm°H$s IoimSy> {Zir Q>monr XoIrb KmbVmV.
d) 16 dfm©Imbrb hm°H$s IoimSy> Zoh‘r Q>monr KmbVmV.
n¶m©¶r CÎmao …
1) Á¶m§À¶m Q>r-eQ>©da {Zio {MÝh Amho Aem gd© ì¶º$s hm°H$s IoimSy> AmhoV.
2) {Zir Q>monr KmVboë¶m gd© ì¶º$s hm°H$s IoimSy> AmhoV.
3) Q>monr KmVbobo gd© hm°H$s IoimSy> 16 dfm©Imbrb AmhoV.
4) darbn¡H$s EH$hr Zmhr.
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16) Study the statements given below and conclusions that follow these. Select the appropriate

conclusion that is based on given statements.

a) All hockey players playing on the ground wear T-shirts with blue emblem.

b) All players who are on the ground don't play hockey.

c) Some hockey players also wear blue caps.

d) Hockey players who are below 16 years always wear a cap.

Answer Options :

1) All persons having blue emblem on their T-shirts are hockey players.

2) All persons wearing blue caps are hockey players.

3) All hockey players wearing a cap are below 16 years.

4) None of the above

17) Imcrc àíZmV nmM {dYmZo {Xcr AmhoV. VrZ {dYmZo {d{eï> H«$‘mZo g‘m{dï> H$éZ AZoH$ n¶m©¶ {Xcoco AmhoV. Á¶m
n¶m©¶mV {Vgao {dYmZ ho AJmoXaÀ¶m XmoZ {dYmZm§dê$Z AZw‘mZ Xe©{dUmao Amho, Agm gà‘mU n¶m©¶ {ZdS>m.
{dYmZo :

A) A{‘V ‘wcJm Amho. ~) H$mhr ‘wco {H«$Ho$Q> IoiV ZmhrV.
H$) H$moUVrhr ‘wcJr {H«$Ho$Q> IoiV Zmhr. S>) A{‘V {H«$Ho$Q> IoiVmo.
B) Oo gd© {H«$Ho$Q> IoiVmV Vr ‘wco AmhoV.
n¶m©¶r CÎmao :

1) S> H$ A 2) H$ B ~  3) A ~ S> 4) B S> A
17) The following question consists of five statements followed by several options consisting of

three statements put together in a specific order. Choose the option which indicates a valid

argument i.e. the third statement is a conclusion drawn from the preceding two statements.

Statements :

a) Amit is a boy. b) Some boys do not play cricket.

c) No girl plays cricket. d) Amit plays cricket.

e) All those who play cricket are boys.

Answer Options :

1) d c a 2) c e b 3) a b d 4) e d a
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(2) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$

1) {dYmZo Am{U ̀ w{º$dmX
¶w{º$dmXmcm AmYma ŷV J¥hrVH$
¶w{º$dmXmVrb Xmof /¶w{º$dmX gdm©V OmñV Xþ~im H$aUmao {dYmZ

2)  {dYmZo Am{U J¥{hVHo$

1) {dYmZo Am{U ẁ{º$dmX
1) nwT>rb n[aÀN>oX dmnabobr AZw‘mZ à{H«$¶m Aä¶mgm Am{U ¶mXrVrb gdm©V OdiyZ Ë¶mM àH$maMr AZw‘mZ à{H«$¶m

dmnabobm ¶w{º$dmX {ZdS>m.
Ë¶mdoioÀ¶m Am{W©H$ n[apñWVr‘wio emgZmbm EH$Va MbZmbm naXoer ~mOmamV WoQ> nmR>~i XoUo qH$dm ì¶mOXamV dmT>
H$aUo ^mJ hmoVo. VWmnr amOH$s¶ AmË‘KmV Q>miÊ¶mgmR>r Ë¶mZo ì¶mOXa dmT>dbo ZmhrV. Ë¶m‘wio emgZmZo I{M©H$ Amho
ho ‘mhrV AgyZhr én¶mbm nmR>~i XoÊ¶mMm {ZU©¶ KoVbm.
n¶m©¶r CÎmao …
1) Oa amOmZo S>m°³Q>am§À¶m g„m ‘mZbm AgVm Am{U Vmo Kar amhrbm AgVm Va EìhmZm Vmo nyU©V¶m ~am Pmbm AgVm.

VWm{n Ë¶mZo doi H$mT>bm Zmhr Am{U Vmo AOyZhr ~am Pmbobm Zmhr.
2) Amamo½¶ H|$ÐmV nm°b Am{U OJZ ho XmoZ S>m°³Q>a AmhoV. nm°b ì¶{º$JV Mm¡H$er H$aV é½Um§Mo ñdmJV H$aVmo, na§Vw

OJZbm ’$º$ Amamo½¶ g‘ñ¶m§V A{YH$ ag AgVmo. åhUyZ ‘bm OJZbm ôQ>Ê¶mMr BÀN>m Amho.
3) Vwbm EH$Va dmdS>o Pmbo Agmdo qH$dm {OdmUy g§gJ© Pmbm Agmdm Ago ¶m bjUm§dê$Z {XgV Amho. Oa Vmo {dfmUy

Agob Va Ë¶mda Cn¶wº$ CnMma CnbãY Zmhr åhUyZ Vy Ë¶mda Vo dmdS>o Amho Ago Yê$Z CnMma Mmby H$ê$
eH$Vmog.

4) H$mb©bm doXZmem‘H$ JmoirMr Ja hmoVr Am{U Amåhr EH$Va n°amgoQ>o‘m°b qH$dm A°pñnarZ R>odVmo. nU Ë¶mbm
n°amgoQ>o‘m°bMo dmdS>o Agë¶m‘wio Ë¶mbm A°pñnarZ ¿¶mdo bmJbo.

1) Study the kind of reasoning used in the passage below and select from the list the argument that

uses most closely identical reasoning. Economic situation at that time forced the government

either to support the currency directly in foreign markets or to increase interest rates. However,

to avoid political suicide it did not raise interest rates. Government therefore, though it turned

out to be costly, decided to support the rupee.

Answer Options :

1) Raja would have recovered completely by now if he had followed the doctor’s advice and

stayed at home. However, he did not take time off and is not wellet. .

2) There are two doctors at the health centre, Paul and Jagan. Paul greets patients with personal

inquiry, but Jagan is more interested in health problems only. So I hope to see Jagan.

3) These symptoms indicate that you either have an allergy or you are infected by virus. If it is a

virus, no useful treatment is available for it so you may as well treat it as an allergy. ;

4) Carl needed a pain-killer and we stock either paracetamol or aspirin. But given that he is

allergic to paracetamol, he had to take the aspirin.
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2) nwT>o {Xboë¶m ¶w{º$dmXmnmR>À¶m VÎdmMo gdm©V CÎm‘ {ddaU {Xboë¶m n¶m©¶mVyZ {ZdS>m.
Oar H$mhr dmhZ ‘mbH$ ’$º$ 200 {H$‘r Am{U H$mhr 2000 {H$‘r añVm dmnaVmV Var gd©OU gmaImM añVmH$a
^aVmV. ho Ý¶mæ¶ Zmhr. ‘hgyb {‘idÊ¶mgmR>r añVmH$a aÔ H$ê$Z B§YZmdarb H$a dmT>dÊ¶mMr JaO Amho. ¶m
H$aàUmbr‘wio OmñV à‘mUmV añVm dmnaUmao ImÌrZo OmñV n¡go ̂ aVrb. hr Ý¶m¶ àUmbr Amho Am{U Vr A{YH$ ‘hgyb
{‘idm¶bm ‘XV hmoB©b.
1) XÿaXe©Z dm{hÝ¶m nmhUmè¶m bmoH$m§Zm Ë¶m dm{hÝ¶m§Zm Ë¶m§Mr dJ©Ur ^am¶bm bmdbr nm{hOo åhUOo ’$º$ Ë¶m dm{hÝ¶m

nmhUmè¶m§ZmM n¡go ‘moOmdo bmJVrb.
2) ’$º$ n¡go XoUo e³¶ hmoV Zgob VaM ‘wbtZm {dZm‘yë¶ {ejU {‘im¶bm hdo.
3) {dlm§VrJ¥h ‘mbH$m§Zr KaJwVr J«mhH$m§nojm OmñV nmUrnÅ>r ‘moObr nm{hOo H$maU àUmbr dmnê$Z Vo Z’$m {‘idVmV.
4) d¡ÚH$s¶ CnMmam§gmR>r nJmar bmoH$m§Zr amoO§Xmar H$aUmè¶m§nojm OmXm ewëH$ ‘moOm¶bm hdo.

2) Select from options given, the best illistration of principles underlying argument given below.
All motorist pay same road tax though some of them cover only 200 km and some cover
2000 km. This is not fair. It is necessary to do away with the road tax and tax on fuel should
be increased to get revenue. This taxing system will ensure that those who use roads more
will be paying more. This system is fair system and will help to earn more revenue.
1) People who watch television channels should be made to pay those channels by subscription

so only people watching those channels only have to pay
2) Girls should receive free education only if they cannot afford to pay for it.
3) Water charges should be higher for restaurant owners than for domestic customers as they

are earning profit by using the system

4) Salaried persons should pay more for medical treatment than those who are daily wagers

3) n¶m©daU g§dY©ZmgmR>r Odm¶y‘mZ ~XbmMo n[aUm‘ H$‘r H$aÊ¶mV gd©gmYmaU bmoH$m§Zm ñdmañ¶ AgVo. na§Vw dm¶y‘mZ
~Xbmbm à{VgmX XoD$Z n¶m©daUmMr H$miOr KoÊ¶mEodOr ‘mZd àOmVr {Q>H$dyZ R>odÊ¶mbm àmYmÝ¶ {Xbo nm{hOo. n¥Ïdr
J«hmÀ¶m Xhm hOma dfm©À¶m B{VhmgmZwgma Vmn‘mZmMo gmnoj ñW¡¶© Xþ{‘©i hmoVo. {ZgJ© gmVË¶mZo ‘moR>çm Vmn‘mZ ~Xbm§Zr
OwidyZ KoV hmoVm. na§Vw hdm‘mZ {dídgmh© Am{U AQ>H$i ~m§YÊ¶mOmoJo AgVmZmÀ¶m H$mbI§S>mXaå¶mZ ‘mZd g§ñH¥$Vr
CËH«$m§V hmoV hmoË¶m. {ZgJ© gVV ~XbV amhVmo nU ‘mZd g§ñH¥$Vtda hdm‘mZ ~XbmMm KmVH$ n[aUm‘ hmoB©b.
{Xboë¶mn¡H$s darb ¶wº$sdmXmÀ¶m ‘w»¶ {ZîH$fm©Mr C{MV A{^ì¶º$s H$aUmam EH$ n¶m©¶ {ZdS>m.
1) bmoH$ n¶m©daU g§dY©ZmgmR>r hdm‘mZ ~Xb YmoaUm§Zm à{VgmX XoVmV.
2) {ZgJm©nojm ‘mZd àOmVrbm VJdÊ¶mgmR>r hdm‘mZ ~XbmMo ì¶dñWmnZ H$aUo A{YH$ ‘hÎdmMo Amho.
3) AmVm n¶ªV ‘mZd g§ñH¥$Vr ‘moR>çm hdm‘mZ ~Xbmbm gm‘moè¶m Joboë¶m ZmhrV.
4) {ZgJ© OwidyZ KoÊ¶mMm ‘mJ© emoYob na§Vw hdm‘mZ ~Xbm§Mm ‘mZdm§da ’$ma ÌmgXm¶H$ n[aUm‘ hmoB©b.

3) Generally people are interested in conserving environment by reducing the effects of climate.

But instead taking care of environment by responding to climate change priority should be

given to preserving human species. As per the ten thousand years history of the planet earth

there was rarely relative stability of temperature. Nature has been adapting to large temperature

variations continually. But the human civilisations that have evolved during time span have

developed during a period, when weather was reliable and predictable. The nature will keep

on changing but climate change will impact human civilisations severely.

Select the one sption that appropriately expresses the main conclusion of the above argument.

1) People respond to climate change policies in order to conserve environment.

2) Acting to manage climate change is more important for the survival of human species than

for nature.

3) Human civilisation have not been exposed to large variations in temperature till now

4) Nature will find a way to adapt, but humans will get severely impacted by climate change
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4) nwT>rb ¶w{º$dmX Aä¶mgm Am{U Z§Va {Xboë¶m n¶m©¶m§VyZ Ë¶mÀ¶m gdm©V OdiyZ g‘m§Va AZw‘mZ à{H«$¶m Agobm ¶w{º$dmX
{ZdS>m.
EH$m eoVH$ar Hw$Qw>§~mbm MUm qH$dm gmo¶m~rZ bmdÊ¶mMo n¶m©¶ AmhoV. Joë¶m dfu gmo¶m~rZÀ¶m VwbZoV MÊ¶mbm Mm§Jbm
~mOma^md {‘imbm hmoVm. na§Vw A{YH$ CËnmXZmÀ¶m ImÌrgmR>r MÊ¶mbm JwUdÎmmnyU© g|{Ð¶ IV Am{U n¶m©daUñZohr
H$sQ>H${Z¶§ÌU ì¶dñWoMr JaO AgVo. ¶m A{YH$À¶m H$miOrgmR>r bmJUmar a¸$‘ C^maUo e³¶ Zgë¶mZo, H$‘r ’$m¶Xm
{‘iÊ¶mMr e³¶Vm AgyZhr Hw$Qw>§~mZo gmo¶m~rZMr bmJdS> Ho$br.
1) joÌ{dXm Jmoim H$aÊ¶mÀ¶m g’$arda OmÊ¶mgmR>r AÜ¶¶ZmWvZm nwaogm n¡gm C^mamdm bmJVmo. Ë¶m§Zm nwaogm {ZYr C^m

H$aUo Ae³¶ hmoV Agë¶m‘wio g’$arbm OmUo e³¶ ZgVo.
2) Oa Vwåhr {dH«o$Vo Agmb Va ~T>Vr {‘iÊ¶mgmR>r {dH«$sMo bú¶ JmR>Ê¶mMr JaO AgVo. Oa ‘mJÀ¶m {V‘mhrVrb bú¶

JmR>Ê¶mV Vwåhr ¶eñdr PmbmV, Va Vwåhr ~T>VrMr Amem ~miJy eH$Vm.
3) n¶©Q>H$m§Zm ~±Ho$‘m’©$V qH$dm Vo OoWo CVabo AmhoV Ë¶m hm°Q>ob‘m’©$V H$‘r XamZo MbZ {d{Z‘¶ H$aVm ¶oVmo. ~±H$

emoYÊ¶mgmR>r nwaogm doi Ë¶m§À¶mnmer Zgë¶mZo Ë¶m§Zm hm°Q>obMm Cn¶moJ H$amdm bmJbm.
4) amḯ>r¶H¥$V ~±Ho$H$Sy>Z qH$dm ghH$mar ~±Ho$H$Sy>Z H$O© {‘idUo e³¶ AgVo. ghH$mar ~±Ho$bm Cƒ J«mhH$ godm XOm© {Xë¶m‘wio

ì¶º$sZo H$Om©gmR>r ghH$mar ~±Ho$H$S>o AO© H$aÊ¶mMo R>adbo H$maU {Vbm VoWyZ ghO H$O© {‘iÊ¶mMr ImÌr Amho.
4) Study the following argument and then choose from the options given, the argument that most

closely parallels the reasoning of it.

The farmer’s family had an option of planting gram or soyabeans. Last year gram received a better

market price as compared to soyabeans. But in order to ensure high yields, quality organic

fertilisers and eco-friendly pest controlling inputs are required for gram. Since they could not

get credit required for this additional care, in spite of the crop being likely to earn less profit, the

family planted soyabeans.

1) In order to go on excursion for collecting field data, the learners need to raise enough money.

It is impossible for them to raise the sufficient funds, therefore they are unlikely to go on

excursion.

2) For securing promotion, one needs to meet sales targets if one is working as the salesperson.

If one is successful in meeting the last quarter’s target, then one can hope to get a promotion.

3) It is possible for tourists to exchange currency through bank or for poorer exchange rate, they

can use the hotel where they stay. There was not sufficient time for finding a bank so they had

to use the hotel for exchange.

4) It is possible to get the loan from a nationalised bank or a co-operative bank. Since a co-

operative bank has higher customer service rating, a person decides to apply for loan in a co-

operative bank as she is sure of getting the loan easily.

5) Iyn ‘moR>çm g§»¶oZo àmUr àX{e©V H$aÊ¶mEodOr AZoH$ AmYw{ZH$ àmUrg§J«hmb¶o Ymo³¶mV Agboë¶m ‘moO³¶m àmÊ¶m§Zm
àX{e©V H$ê$Z g§dY©ZmÀ¶m Amdí¶H$VoMo ñnï>rH$aU H$aÊ¶mbm ng§Vr XoD$ bmJbr AmhoV. Ymo³¶mVrb àmÊ¶m§À¶m
gwajoÀ¶m JaOo~m~V OmJ¥V H$aÊ¶mgmR>r bmoH$m§Zm àmUrg§J«hmb¶m§Zm ôQ> Úm¶bm àmoËgm{hV H$aUE hm EH$M ‘mJ© Amho.
bmoH$m§Zm {d{dY àmUr nmhÊ¶mV A{YH$ ag AgVmo, ‘J Ë¶m§Zm YmoH$m Agmo d Zgmo. na§Vw àmUrg§J«hmb¶o ’$m¶Xoera
~ZdÊ¶mgmR>r bmoH$m§Zm àmUr nmhm¶bm AmH${f©V H$aUo Amdí¶H$ Amho.
darb ¶w{º$dmX gdm©V CÎm‘ g‘W©Z H$aV Agboë¶m AZw‘mZmMr {ZdS> {Xboë¶m n¶m©¶m§VyZ H$am.
1) ’$m¶Xoera àmUrg§J«hmb¶o {d{dY àmUr àOmVr ~miJÊ¶mbm àmYmÝ¶ XoVmV.
2) Or àmUrg§J«hmb¶o g§dY©Z CnH«$‘m§Zm Am{U Ymo³¶mVrb àmÊ¶m§À¶m gwajobm d OmonmgZobm àmYmÝ¶ XoVmV Vr

’$m¶Xoera ZgVmV.
3) gd©gmYmaU bmoH$m§Zm àmUrg§J«hmb¶m§‘m’©$V hmoUmè¶m g§dY©Z CnH«$‘mV Am{U Ymo³¶mVrb àmÊ¶m§Mr gwajm d OmonmgZm

¶mV Iyn ‘¶m©{XV ag AgVmo.
4) ’$m¶Xoera Agë¶mIoarO àmUrg§J«hmb¶m§Zm g§dY©Z CnH«$‘m§gmR>r IM© H$aVm ¶oUma Zmhr.
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5) Many modern zoos gave up the idea of exhibiting a large number of animals, instead they prefer
to show few examples of endangered species for illustrating the need of conservation. But for
motivating large number of people, to visit a zoo is the only way to make people aware of the
need ‘of protecting endangered species. People are more concerned with watching interesting
animals and least concerned with whether they are endangered or not. But in order to make zoos
profitable it is necessary to attract people to watch them.
Select one of the following conclusions that is best supported by the above argument.
1) Profitable zoos give priority to have varieties of interesting animal species.
2) The zoos, those giving priority to conservation programme and protection and rearing of

endangered species, are unable to make profits.
3) People at large have very limited interest in conservation programme and protection and rearing

of endangered species through zoos.

4) Zoos cannot afford conservation programme unless it is profitable.

6) ñdV…bm amÁ¶ñVar¶ Jm¶Z ñnYm© qOH$m¶Mr Amho Am{U Ë¶mgmR>r {Vbm Jm¶Z {eH$mdo bmJob d gamd H$amdm bmJob Ago
Xrnm {VÀ¶m ‘¡{ÌUrbm gm§JV hmoVr. {VZo ñnYm© qOH$Ê¶mMm {ZíM¶ Ho$bm Amho. Agohr Vr {Vbm åhUmbr. åhUOoM Vr
AmÎmmnmgyZ {Z¶{‘VnUo Jm¶Z {eH$m¶bm d OmoaXma gamd H$am¶bm bmJob.
darb ¶w{º$dmXmV dmnaboë¶m AZw‘mZ à{H«$¶oÀ¶m gdm©V OmñV gmÑí¶ Agbobm EH$ ¶w{º$dmX {ZdS>m.
1) Oa embybm {dZmoXr H$Wm {bhm¶À¶m AgVrb Va {Vbm Aem H$Wm {b{hÊ¶mMo H$m¡eë¶ {dH${gV H$amdo bmJob. Aem

H$Wm H$emàH$mao {bhm¶À¶m ¶mMm AZŵ d KoÊ¶mgmR>r Vr VÁkm§Zr KoVboë¶m H$m¶©emioV gh^mJr Pmbr Am{U AmVm
Vr bdH$aM {VMr n{hbr H$Wm {bhrb.

2) ‘Yybm ñdV…À¶m emoY{Z~§Ymbm A{YH$ doi Úm¶Mm hmoVm, H$maU Vgo Pmbo Va Vmo JwUdÎmmnyU© hmoB©b ho Ë¶mbm ‘mhrV
hmoVo. Ë¶mbm Amdí¶H$ AgUmam doi {‘iUma Zmhr Ago Ë¶mÀ¶m AÜ¶m{nHo$Zo Ë¶mbm gm§{JVbo åhUyZ Ë¶mMm {Z~§Y
Cƒ JwUdÎmoMm AgUma Zmhr.

3) Oa gÜ¶m Vwåhmbm ̂ anya nJma {‘idm¶Mm Agob Va Vwåhr {d{dY Xoem§V H$m‘ H$aÊ¶mMm ̂ anya AZŵ d {‘idÊ¶mMr
JaO Amho. S>°Zrbm Iyn ‘moR>m nJma {‘idm¶Mm Amho åhUyZ gmh{OH$M Vmo H$mhr dfmªgmR>r hm Xoe gmoS>ob.

4) Oa XmoZ amÁ¶m§À¶m ZoË¶m§Zm MM}gmR>r ~mobmdUo A{YH$mè¶m§Zm e³¶ Pmbo Va {d{dY àH$maÀ¶m àXÿfUm§da VmoS>Jm
aMbm OmUo e³¶ Amho. XmoÝhr amÁ¶m§Zm àXÿfUmbm à{V~§Y ìhm¶bm hdm Amho åhUyZ Vo bdH$aM amÁ¶m§Vrb g§~§{YV
ì¶º$s¨Zm ~mobmdyZ MMm© Am¶mo{OV H$aUma AmhoV.

6) Deepa was telling her friend that if she wants to win the State level vocal music competition, then
she will need to learn to sing and practice every day. She told her that she is resolved to win this
competition. Thus, she means that she will be learning to sing and practicing hard regularly from
now.
Select the one that most resembles the reasoning used in the above argument.
1) If Shalu wants to write humorous stories then she would have to develop skills of writing such

stories. She has participated in workshops conducted by experts to experience how to write
such stories and now she will soon be writing her first story.

2) ‘Madhu wanted to spend more time on his research essay, as he knows that only then would it
be of high quality. His teacher told him that he would not get the time he needed, so the essay
would not be of high quality.

3) If one wants to earn high remuneration nowadays, he/she needs to acquire lot of experience of
working in various countries. Since Dany wanted to earn very high remuneration, naturally he
is going to leave this country for some years.

4) If authorities can bring together leaders of two states for discussion, there is a possibility for
designing a solution for minimising pollutions of different kinds. Preventing pollution is
something both the states want, so they are going to organise a discussion with the concerned
persons of the State soon.
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7) nwT>rb ¶w{º$dmX Aä¶mgm Am{U Ë¶mVrb dmnaboë¶m VH$m©er gmaIonUmV gdmªV OdiMm Agbobm n¶m©¶ {ZdS>m.
gd© PmS>o nmZo YmaU H$aVmV.
gmoZ‘mohmoa ho PmS> Amho.
åhUyZ gmoZ‘mohmoa nmZo YmaU H$aVmV.
1) gd© PmS>o nmZo YmaU H$aVmV. Vmo d¥j PmS> Zmhr. åhUyZ Vmo d¥j nmZo YmaU H$aV Zmhr.
2) gd© gmoZ‘mohmoa nmZo YmaU H$aVmV. Vo PmS> nmZo YmaU H$aVo. åhUyZ Vo PmS> gmoZ‘mohmoa Amho.
3) gd© nmZo PmS>m§da dmT>VmV. Vmo d¥j nmZo YmaU H$aVmo. åhUyZ Vmo d¥j PmS> Amho.
4) gd© PmS>o nmZo YmaU H$aVmV. Vmo d¥j nmZo YmaU H$aVmo. åhUyZ Vmo d¥j PmS> Zmhr.

7) Study the following argument and then select one of the given options that most closely parallels

the reasoning used in it.

All trees bear leaves.

A peltophorum is a tree.

Therefore, peltophorums bear leaves.

1) All trees bear leaves. That plant is not a tree. Therefore, that plant does not bear leaves.

2) Ail peltophorums bear leaves. That tree bears leaves. Therefore, that tree is a peltophorum.

3) All leaves grow on trees. That plant bears leaves. Therefore, that plant is a tree.

4) All trees bear leaves. That plant bears leaves. Therefore, that plant is not a tree.

8) nwT>o 5 {dYmZo Am{U Z§Va 3 {dYmZo {d{eï> H«$‘mZo EH$Ì H$ê$Z n¶m©¶ Owidbo AmhoV. Ë¶mVyZ Vm{H©$H$ÑîQ>çm ¶WmW©
¶w{º$dmX {ZX}{eV H$aUmam n¶m©¶ {ZdS>m. ¶w{º$dmX ¶WmW© R>aÊ¶mgmR>r OwiUrVrb 3 ao {dYmZ ho Ë¶m AmYrÀ¶m 2
{dYmZm§da AmYm[aV {ZîH$f© {dYmZ Agm¶bm hdo.
a) AmYw{ZH$ CÚmoJ g§emoYZ ào[aV AgVmV. b) 'B§àmo' hm AmYw{ZH$ CÚmoJ Amho.
c) 'B§àmo' hm g§emoYZ ào[aV Amho. d) 'B§àmo' H$Xm{MV g§emoYZ ào[aV Agob.
e) g§emoYZ ào[aV CÚmoJ AmYw{ZH$ Amho.
n¶m©¶r CÎmao …
1) (b), (e), (c) 2) (b), (c), (e) 3) (c), (a), (d) 4) (b), (d), (a)

8) Given below are 5 statements followed by options composed of 3 statements put together in a

specific order. Choose the option that indicates logically valid argument. To be valid the 3’d

statement of the composition should be the conclusion based on preceding 2 statements.

a) Modern industry is research driven. b) ’Impro’ is a modern industry.

c) ’Impro’ is research driven. d) ’Impro’ may be research driven.

e) Research driven industry is modern.

Answer options :

1) (b), (e), (c) 2) (b), (c), (e) 3) (c),(a) (d) 4) (b), (d), (a)
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9) nwT>rb ¶w{º$dmX H$miOrnyd©H$ dmMm. g§emoYH$ M‘yÀ¶m gXñ¶m§Mm H$m°’$s H$nm§Mr g§»¶m H$‘r H$aÊ¶mMm {ZU©¶ hm öX¶
{dH$mam§Mm YmoH$m H$‘r H$aÊ¶mer g§~§{YV Zmhr ho Xe©{dUmam gË¶ Agë¶mg C{MV AgUmam n¶m©¶ {ZdS>m.
H$m°’$snmZmÀ`m n[aUm‘m§Mm Aä¶mg H$aUmè¶m g§emoYH$m§À¶m EH$m g‘yhmbm, Á¶m ì¶º$s gamgar Mma H$nm§nojm OmñV
H$m°’$s {nVmV Ë¶m§Zm 2.5 nQ>rZo öX¶ {dH$mam§Mm YmoH$m AgVmo Ago AmT>ibo Amho. Ë¶m§Zr ì¶º$sMo d¶ d Yy‘«nmZmÀ`m
gd¶rMm A§V^m©d H$ê$Z g§~§{YV gamgar {ZXm}f Ho$br Amho. ¶m emoYmÀ¶m AmYmao M‘yVrb gXñ¶m§Zr ñdV…Mo {Xdg^amMo
H$m°’$snmZ XmoZ H$nm§n¶ªV ‘¶m©{XV Ho$ë¶mMo Om{ha Ho$bo Amho hr ¶mVrb XIb KoÊ¶mOmoJr ‘hÎdmMr ~m~ Amho.
1) VmU hm öX¶ {dH$mam§Zm H$maUr ŷV AgUmam à‘wI KQ>H$ Amho ho ImÌrera àñWm{nV Pmbo Amho na§Vw ¶m M‘yZo

H$m°’$snmZmVrc ~Xb hm àË¶jnUo VmUmÀ¶m ~Xbmda n[aUm‘ H$aVmo H$m¶ ¶mg§~§YmZo ‘m{hVr Jmoim Ho$br Amho ho ¶m
¶w{º$dmXmVyZ ñnï> hmoV Zmhr.

2) ‘moR>çm à‘mUmV Yy‘«nmZ H$aUmè¶m§À¶m VwbZoV Yy‘«nmZ Z H$aUmè¶m ì¶º$s EH$ V¥Vr`m§e nQ> H$m°’$s {nVmV ho AÝ¶
g§emoYZmVyZ nwT>o Amho Amho.

3) ‘moR>çm à‘mUmV H$m°’$s {nUo aº$mVrb H$moboñQ>oam°bMr nmVir dmT>Ê¶mg H$maUr ŷV hmoVo ho AÝ¶ g§emoYZm§VyZ nwT>o Ambo
Amho Am{U ho öX¶{dH$mamÀ¶m dmT>Ë¶m Ymo³¶mÀ¶m AJXr OdiMo {ZX}eZ Amho.

4) Xa {Xder VrZ qH$dm A{YH$ H$n H$m°’$s {nUmè¶m ì¶º$s¨Zm Agbobm öX¶{dH$mam§Mm YmoH$m Xa {XderÀ¶m àË¶oH$ OmXm
H$m°’$sH$nmÀ¶m à‘mUmV dmT>Vmo Ago Ë¶m§Zm ñdV… Ho$boë¶m g§emoYZmV AmT>ibo Amho.

9) Read the following argument carefully and select the most appropriate option that if true, indicates

that their decision is not aimed at decreasing team member's risk of heart disease.

A team of researchers studying effect of drinking coffee have found that persons drinking more

than four cups of coffee have a risk of heart disease 2.5 times than the average after correcting if

for age and smoking habits. It is important to note that the members of this team declared that

they have started limiting their own daily coffee intake to two cups as a result of above finding.

1) It is well established fact that the stress is major causal factor related to heart disease but it is

not clear wether this team has collect information about variations in coffee consumption are

directly related to the variations in stress levels.

2) Subsequent studies have shown that nonsmokers consume coffee at about one-third the rates

of heavy smokers.

3) Subsequent studies have shown that heavy coffee consumption causes an elevation in blood-

cholesterol level, an immediate indicator of increase risk of heart disease.

4) Their own study found that for persons drinking three or more cups of coffee daily, the additional

risk of heart disease increase with each extra daily cup.

10) Jmibobr OmJm ^ê$Z g‘mZmWu AWm©Mr XmoZ dm³¶ {‘i{dÊ¶mgmR>r {Xboë¶m n¶m©¶m§VyZ C{MV eãXOmoS>r {ZdS>m.
{‘ÌËdmZo d bmoH$emhr nÕVrZo g§~moYbo OmÊ¶mMr gd¶ Agë¶m‘wio AZoH$ AÜ¶mnH$ Zì¶m {d^mJ à‘wImÀ¶m gwédmVrÀ¶m
^mî¶mÀ¶m .......... e¡br‘wio A{bá am{hbo.
1) AmemdmXr Am{U AZwHy$b 2) {IÞ Am{U bm{OadmUm
3) CÔm‘ Am{U bm{OadmUm 4) A{YH$ma¶wº$ Am{U CÔm‘

10) Select the appropriate pair of words from given options for filling the space and make two

sentences with equivalent meanings.

Many senior faculty members who were accustomed to being addressed in a more collegial and

egalitarian manner were alienated by the ............. tone of the new department chair's introductory

remarks.

1) Sanguine and Propitious 2) Saturnine and Ignorminious

3) Peremptory and Ignominious 4) Imperious and Peremptory
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11) nwT>o {Xboë¶m ¶w{º$dmXmVrb {dMma à{H«$¶m Aä¶mgm Am{U {VÀ¶mer gdm©V OdiMr {dMma à{H«$¶m AgUmam n¶m©¶ {ZdS>m.
Oa dñVynmgyZ CîUVm qH$dm àH$me CËg{O©V hmoV Agob Va {VMr D$Om© KQ>Vo. åhUOoM Oa dñVyMr D$Om© pñWa Agob
Va {VZo CîUVm qH$dm àH$me CËg{O©V Ho$bobm Zmhr.
1) Oa g‘mOmbm ^mfUmMo dm EH${ÌV ~¡R>H$s KoÊ¶mMo ñdmV§Í¶ Agob, Va bmoH$emhr emgZmMr {Z[‘©Vr An[ahm¶©

AgVo. Oa Vwåhr hþHy$‘emhrÀ¶m A§‘bmImbr Agmb Va Vwåhr ¶m XmoÝhr H$mirÀ¶m ñdmV§Í¶m§Zm ‘wH$Vm.
2) EH$Va MmhVo Iyn {Zð>md§V AgVrb qH$dm Vo AmR>dS>çm‘mJyZ AmR>dS>o hmoUmar g§KmMr hma ‘Zmda KoV ZgVrb.

H$moUmhr MmhË¶m§Zm ñdV…À¶m g§KmMo ‘ma ImUo nmhÊ¶mg AmdS>Umao ZgVo åhUyZ Vo IynM {Zð>md§V Agbo nm{hOoV.
3) nmUr Am{U gy¶©àH$memÀ¶m gmhmæ¶mZo ho PmS> nmogbo OmV amhrb H$maU PmS>mÀ¶m VJÊ¶mgmR>r nmUr Am{U

gy¶©àH$memMr Amdí¶H$Vm AgVo.
4) 21 dfm©darb Omo H$moUr {dÚmnrR>mMr nXdr YmaU H$aV Agob Vmo {ZdS>rbm nmÌ Agob. A{‘Zm 19 dfm©Mr AgyZ

AOyZhr nXdrnyd© Aä¶mg H$aV Agë¶mZo Vr nmÌ R>ê$ eH$V Zmhr.
11) Study the reasoning used in the argument given below and select the option that most closely

follows the same reasoning.

If heat or light is emitted by a body, then its energy decreases. It follows that, if a body's energy

remains constant, it has emitted neither heat nor light.

1) When either freedom of speech or freedom of assembly it present in society, democratic

government inevitably results. If you live under a dictatorship, you must therefore lack both of

these key liberties.

2) Either the fans are very loyal or they don't mind the team losing week after week. No fans like

to watch their team being beaten, so they must be very loyal.

3) With water and sunlight this plant will thrive, since both water and sunlight are necessary for a

plant's survival.

4) Anybody over 21 who holds a university degree or equivalent is eligible for selection. Since

Amina is 19 and still an undergraduate she cannot be eligible.

¶w{º$dmXmVrb Xmof /¶w{º$dmX gdm©V OmñV Xþ~im H$aUmao {dYmZ
1) lr‘§V ‘wS>XÿgJ«ñV ‘wbm§À¶m g§»¶oV {Xdg|{Xdg dmT> hmoV Amho. Ë¶m§Zr ñdV…gmR>r {Z‘m©U Ho$boë¶m hdm~§X, KaH$m|S>çm

OJmMm hm n[aUm‘ Amho. ËdMoH$Sy>Z gy¶©àH$membm {Xë¶m OmUmè¶m à{VgmXmÀ¶m n[aUm‘r V¶ma hmoUmè¶m "S>' OrdZgÎdmÀ`m
A^mdr ‘wS>Xÿg hmoVmo. CÝhmV IoiUmar ‘wbo AmVm Bbo³Q´>m°{ZH$ ‘mÜ¶‘o nwadV Agboë¶m Am^mgr OJmV ~wS>mbobr
AgVmV. CÝhmù¶mVrb XrK© g§Ü¶mH$mir Kam~mhoa KmbdÊ¶mEodOr Bbo³Q´>m°{ZH$ nS>Xm Pimiy Z¶o åhUyZ KamV D$Z
¶oÊ¶mbm nS>Xo bmdyZ AQ>H$md Ho$bm OmVmo. ‘hm‘marÀ¶m H$mimV Bbo³Q´>m°{ZH$ gmYZo ‘wbm§À¶m {ejUmgmR>r Amdí¶H$
Pmbr. Ë¶m‘wiohr hdoera gmd©O{ZH$ OmJm ~§XM hmoË¶m. AmVm Ë¶m Iwë¶m Pmë¶m Varhr ehar d {Z‘ehar ^mJmVrb
‘wbm§Zm nS>bobr Bbo³Q´>m°{ZH$ gmYZm§Mr ŵai H$‘r Pmbobr Zmhr.
nwT>rb {dYmZm§VyZ gË¶ Agë¶mg darb ¶w{º$dmX gdm©V OmñV Xþ~im H$aUmao {dYmZ {ZdS>m.
1) Á¶m H$mimV B§YZ åhUyZ gagH$Q> H$moiemMm, bmH$S>mMm KamoKar hmoUmè¶m dmnam‘wio ‘wS>XÿgJ«ñVm§Mo à‘mU Iyn

OmñV hmoVo H$maU Q>moH$mÀ¶m hdm àXÿfUmMm ehadmgr¶m§da n[aUm‘ hmoV hmoVm.
2) gy¶© àH$memÀ¶m VwbZoV C{MV AmhmamMm earamV {Z‘m©U hmoUmè¶m "S>r' OrdZgÎdmÀ¶m à‘mUmda bjUr¶ n[aUm‘

hmoVmo.
3) df©̂ amVrb ‘wS>XÿgJ«ñVm§Mr g§»¶m H$mhr eoH$S>çm§nwaVrM ‘¶m©{XV AgVo.
4) ehar d amï´>r¶ CÚmZm§gmR>r Ama{jV joÌm§V ‘moR>çm à‘mUmV dmT> Pmbr Amho.
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1) The number of rich children with rheumatism is increasing day by day. This is the result of the

airtight, confined world they have created for themselves. Eczema is caused by a lack of vitamin

D, which is produced as a result of the skin's response to sunlight. Children playing in the sun are

now immersed in the virtual world provided by electronic media. Instead of spending long summer

evenings outdoors, curtains are used to arrest the heat coming into the home to prevent electronic

screens from scorching. During the pandemic, electronic devices became essential for children's

education. Due to this, ventilated public places remained closed. Even though they are now open,

the fascination of electronic devices among children in urban and semi-urban areas has not

diminished.

From the following statements, choose the statement that most weakens the above argument if

true.

1) During the period when household consumption of coal, wood as fuel was very high due to

extreme air pollution affecting city dwellers.

2) Compared to sunlight, proper diet has a significant effect on the amount of vitamin D produced

in the body.

3) The number of lepers in a year is limited to a few hundred.

4) There has been a huge increase in the area reserved for urban and national parks.

2) nwT>rb ¶w{º$dmX H$miOrnyd©H$ dmMm Am{U {Xboë¶m n¶m©¶m§VyZ ¶w{º$dmXmVrb ÌwQ>r {ZX{e©V H$aUmao gdm©V CÎm‘ {dYmZ
{ZdS>m.
H$ë¶mUH$mar bm^ Amdb§~ZmMr g§ñH¥$Vr Am{U AZwËnmXH$ H$m¶©~b {Z‘m©U H$aVmV Ago AZoH$ bmoH$m§Zm dmQ>Vo. AZoH$
bmoH$ OJÊ¶mgmR>r CËnÞ {‘idÊ¶mMr IQ>nQ> Z H$aVm Ho$di H$ë¶mUH$mar b^mda dfm©Zwdf} Adb§~yZ amhVmV. H$mhr
dfmªnydu emgZmZo bm^mWvÀ¶m nmÌVogmR>r H$R>moa {Z¶‘ Ho$bo Am{U Ë¶m‘wio bm^mWvMr g§»¶m 15% KQ>br. bm^mWvMr
g§»¶m ¶mhÿZ H$‘r H$aÊ¶mgmR>r emgZmZo nmÌVm {Z¶‘ A{YH$ H$S>H$ H$am¶bm hdoV.
darb ¶w{º$dmXmVrb ÌwQ>r XmIdyZ XoUmam C{MV n¶m©¶ {ZdS>m.
1) hm ¶w{º$dmX bm^mWvZm AZwËnmXH$ H$m¶©~bmg‘mZ ‘mZVmo.
2) ñdV…À¶m MwH$m§‘wio bm^mWu ì¶º$s ¶m n[apñWVrV AmhoV Agm ¶mMm J{ ©̂VmW© Amho.
3) {dnarV n[apñWVrbm Vm|S> XoUmè¶m bm^mWv~Ôb g‘mZŵ yVr XmIdV Zmhr.
4) bm^ AZmdí¶H$ AmhoV Agm g‘O Vmo XoVmo.

2) Read the following argument and select the best statement that points out the flaw in the argument

from given options.

Many people think that welfare benefits create a culture of dependency and an unproductive

workforce. Many people solely depend on welfare benefits without making any efforts to earn

their living. Few years. back the government introduced tough eligibility rules for getting welfare

benefits and the number of recipients has now fallen by 15%. The government should therefore

tighten eligibility rules to further reduce the number of welfare beneficiaries.

Select the statement that points out the flaw in the argument from the given options.

1) It equates beneficiaries with unproductive workforce.

2) It implies that beneficiaries are responsible for their situation.

3) It fails to empathise with beneficiaries facing adversities.

4) It gives the impression that the benefits are unnecessary.
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3) nhmQ>o bdH$a CR>Umè¶m bmoH$m§nojm Ceramn¶ªV OmJUmè¶m bmoH$m§À¶m ‘|XÿÀ¶m aMZmVrb {^ÞËdmMm n{hbm ^m¡{VH$ nwamdm
g§emoYH$m§Zr emoYbobm Amho. gmYmaUnUo 10 Q> o̧$ ì¶º$s "nhmQ>o CR>Umao' qH$dm "M§S>mob' åhUyZ nmÌ R>aVmV Am{U
AmUIr 20 Q> o̧$ "amV qnJio' AgVmV. Cabobo BVa gd© Amnë¶mgmaIo ¶m§À¶m Xaå¶mZ H$moR>oVar AgVmV. "M§S>mobm'nojm
"amV qnJù¶m' ¶m CXmgrZVoMm YmoH$m A{YH$ H$m AgVmo ¶mMo ñnï>rH$aU H$Xm{MV Ë¶m§À¶m ‘|XÿaMZoVrb ’$aH$ XoD$
eHo$b. "amV qnJù¶m' À¶m ‘|XÿMo CXmgrZVoer {ZJ{S>V joÌmVrb g’o$X Ðì¶mMr (MoVm g§Ho$Vm§À¶m dhZmMr JVr dmT>dUmar
Ma~r¶wº$ amoYr CVr) JwUdÎmm H$‘r AgVo ho ‘|XÿÀ¶m nS>VmiUrZo XmIdyZ {Xbo Amho. ‘mZ{gH$ Amamo½¶mÀ¶m g‘ñ¶m
Q>miÊ¶mgmR>B© "amV qnJù¶m§'Zr Ë¶m§À¶m PmonoMo V§Ì OwidyZ KoÊ¶mMm àH$ën Ho$bm nm{hOo.
darb ¶w{º$dmXmVrb Xmof gdm©V CÎm‘àH$mao A{^ì¶º$ H$aUmam n¶m©¶ {ZdS>m.
1) PmonoMo V§Ì g’o$X Ðì¶mÀ¶m JwUdÎmoV ~Xb KS>dyZ AmUob Ago Vmo J¥hrV YaVmo.
2) CXmgrZVm hr bmoH$mV AmT>iUmar IynM gd©gm‘mÝ¶ ~m~ Amho ho VÏ¶ Vmo Xþb©{jV H$aVmo.
3) "M§S>mob' Am{U "amV qnJio' àH$mam§À¶m Xaå¶mZ Agboë¶m§À¶m ‘|XÿMm g§X ©̂ g‘m{dï> H$aÊ¶mV Vmo An¶er R>abm

Amho.
4) "amV qnJio' ñdV…À¶m PmonoÀ¶m V§Ìm§V ~Xb H$aVrb Aer BÀN>m Ë¶m§V A§V{Z©{hV Amho.

3) Researchers have discovered the first physical evidence of structural brain differences that

distinguish early risers from people who like to stay up late: Around 10 per cent of people qualify

as ‘morning people’ or ‘larks’, and a further 20 per cent are ‘night owls’ — with the rest of us

falling somewhere in between. The brain differences might help to explain why ‘night owls’ seem

to be at greater risk of depression than ‘larks’. Brain scans have shown ‘night owls’ have a lower

quality of white matter (tissue largely comprised of fatty insulating material that speeds up the

transmission of nerve signals) in areas of the brain associated with depression. ‘Night owls’ should

try to adjust their sleep patterns if they wish to avoid mental health problems.

Select from the following options that best expresses the flaw in the above argument.

1) It assumes that changing one’s sleep pattern will cause a change in the quality of white matter.

2) It ignores the fact that depression is very common in the population.

3) It fails to refer to the brains of those who fall between ‘lark’ and ‘night owl’ types.

4) It implies that ‘night owls’ would wish to change their sleep patterns.

4) Mb^mf (‘mo~mB©b) dmnaVmZm JmS>r MmbdUmè¶m bmoH$m§‘wio {Z‘m©U hmoUmè¶m Ymo³¶m~m~V Iyn H$miOr dmQ>Vo. JmS>r
MmbdÊ¶mXaå¶mZ MbmI (ñ‘mQ>©) ’$moZ dmnaUo {ZpíMVnUo Ymo³¶mMo Agbo Var g§emoYZmZwgma, Iyn dma§dma ’$moZMm
dmna H$aUo Agwa{jV Amho. Aä¶mgmÀ¶m emoYmZwgma Á¶m ì¶º$s VwbZoZo A{YH$ dma§dma dmnaVmV Ë¶m§À¶mH$Sy>Z ~m¡{ÕH$
MwH$m A{YH$ à‘mUmV KS>Ê¶mMr e³¶Vm AgVo. Vo {Xboë¶m doim {dgaVmV, AnKmVmZo Ë¶m§À¶m ^modVmbÀ¶m dñVy§da
YS>H$VmV. Mb^mf Iyn dma§dma dmnaUmè¶m bmoH$m§Mm AdYmZ {dñVma bhmZ AgVmo Am{U ~m¡{ÕH$ MwH$m Ë¶mÀ¶mer
g§~§{YV AgVmV Ago AmT>ibo Amho. ñdV…À¶m ~m¡{ÕH$ An¶emMr OmoIr‘ H$‘r H$aÊ¶mgmR>r bmoH$m§Zr Mb^mf ’$moZMo
ì¶gZ {Z¶§ÌUmV R>odbo nm{hOo ho ¶m emoYmVyZ ñnï> Pmbo Amho.
darb ¶w{º$dmXmVrb ÌwQ>r ¶mo½¶ àH$mao {ZX}{eV H$aUmao {dYmZ {ZdS>m.
1) H$Xm{MV Mb^mf dmnamÀ¶m gd¶rÀ¶m Amhmar OmÊ¶mnydunmgyZM ‘moR>çm à‘mUmV Ë¶mMm dmna H$aUmè¶m§Zm AdYmZ

{dñVma bhmZ hmoVm AgUo e³¶ Amho.
2) ~m¡{ÕH$ An¶e KQ>dÊ¶mgmR>r Mb^mf dmnamÀ¶m ì¶gZmMo {Z¶§ÌU hm nyU©nUo {ZXm}f S>mdnoM Agob Ago Zmhr.
3) Ë¶m§Mr eº$s d doi dmMdV AgVmZmM X¡Z§{XZ H$m‘o nma nmS>Ê¶mgmR>r bmoH$m§Zm ‘mo~mB©b ghmæ`H$maH$ R>aVmo.
4) gd© àH$maÀ¶m Mb^mf ¶§Ìm§V AZoH$ Cn¶moOZo AgVmV d Vr {d{dY H$m‘m§gmR>r dmnaVm ¶oVmV.
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4) Threats posed by people who operate motor vehicles while using mobile phones is causing much

concern. Though it is definitely very dangerous using smartphone while driving, according to

research, generally very frequent use of the phones is unsafe. Findings of a study indicate that

those individuals who use mobile phones comparatively more frequently are more likely to show

cognitive failures. They forget appointments, bump accidently into things in their surroundings.

People who use mobile phones very frequently are found to have short attention span and cognitive

failures are found to be associated with it. This finding makes it clear that in order to reduce their

risk of cognitive failures, people should try to control their addiction towards using mobile phones.

Select the statement that very aptly points out flaws in the above argument.

1) High level mobile phone users may have had short attention spans before they did get addicted

to their mobile using habits.

2) Controlling addiction of mobile usage may not be a foolproof strategy for decreasing cognitive

failures.

3) Mobiles are helping people to complete daily tasks comfortably while saving their energy and

time.

4) All types of mobiles have different applications that can be used for different purposes."

5) H$m¶‘ ~§XþH$ ~miJUmè¶m ì¶º$s¨Zm {Z…eó ì¶º$s¨À¶m VwbZoV Jmoir KmVbr OmÊ¶mMr e³¶Vm OmñV AgVo Agm à‘wI
emoY {’$bmS>opë’$¶mVrb Jmoir~mam§À¶m Aä¶mgmVyZ bmJbm Amho. noZpÝgëìhm{Z¶m {dÚmnrR>mÀ¶m g§emoYH$m§Zr AS>rM
dfmªÀ¶m H$mbmdYrVrb 677 Jmoir~mam§Mm Aä¶mg Ho$bm. Ë¶m§Zr JwÝømV gh^mJr Pmboë¶m ì¶º$s¨Mo d¶ Am{U Am{W©H$
ñVahr {dMmamV KoVbm. ¶m Aä¶mgmÀ¶m {ZîH$fm©Zwgma geó ZmJ[aH$m§Zm 4-5 nQ> A{YH$ à‘mUmV Jmoù¶m KmVë¶m
OmÊ¶mMr e³¶Vm AgVo Am{U 4-2 A{YH$ à‘mUmV Jmoù¶m§Zm ~ir nS>Ê¶mMr e³¶Vm AgVo. åhUyZ {’$bmS>opë’$¶mV
{Z…eó AgUo gwa{jV AgVo.
nwT>rb {Xboë¶mVyZ, gË¶ Agë¶mg, darb ¶w{º$dmX gdm©V OmñV Xþ~im H$aUmam n¶m©¶ {ZdS>m.
1) Jmoù¶m KmVë¶m OmÊ¶mÀ¶m Ymo³¶mMr ImÌr Agboë¶m ì¶º$s eó ~miJÊ¶mMr e³¶Vm OmñV AgVo.
2) eó ~miJUmè¶m ì¶º$s¨H$Sy>Z AmH«$‘H$VoMr g§̂ mì¶Vm Agboë¶m n[apñWVrbm A{VaoH$s à{VgmX {Xbm OmÊ¶mMr

e³¶Vm OmñV AgVo.
3) A‘o[aHo$À¶m g§{dYmZmÀ¶m ......... Zwgma ì¶º$sÀ¶m eó ~miJÊ¶mÀ¶m A{YH$mambm g§ajU {Xbo OmVo.
4) Jmoù¶m§Zm gm‘moao Joboë¶m H$mhtZr ñdV…H$S>o eóo bndbobr hmoVr.

5) Persons who always carry guns are more likely to be shot than unarmed persons is the major

finding of the study of the shooting in Philadelphia. University of Pennsylvania researchers studied

677 shootings that happened during the period of two and half years. They considered the age and

socioeconomic status of persons involved in the crime. As per conclusion of this study, armed

citizens had 4°5 times more chances to get shot and 4-2 times more chances to get killed.

Therefore, in Philadelphia it is safer not to carry any weapon.

Select the one from given options, if true, that most weakens above argument.

1) Persons are more likely to carry a weapon who are sure about the risk of getting shot.

2) Persons carrying arms are likely to react excessively in a potentially violent situation.

3) Persons’ right to carry guns is protected by t the Second Amendment of the US Constitution.

4) Some of those shot had a concealed weapon with them.
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6) d¡km{ZH$ AmH$bZ {dH${gV H$aV AgVmZm AmnU ÌwQ>t‘wio Zoh‘rM AS>MUrV gmnS>Vmo. àË¶oH$ {nT>rbm AmH$bZmda
¶oUmar ÌwQ>r ‘¶m©Xm ’$ma Va WmoS>r H$‘r H$aÊ¶mMr Amem ~miJVm ¶oVo Am{U ÌwQ>r ‘¶m©Xm bmJy nS>Ê¶mer g§~§{YV gm‘J«r
g§MmV ̂ a Q>mH$Vm ¶oVo. ÌwQ>r ‘¶m©Xm AQ>i AgyZ Vr Amnë¶m kmZmÀ¶m {dídgZr¶VoMo Ñí¶‘mZ ñd-‘yë¶{ZYm©aU AgVo.
¶m‘wio Amnë¶mbm Zoh‘rM d¡km{ZH$ VÏ¶m§~m~V A{ZpíMVVm ñdrH$mamdr bmJVo. gmd©O{ZH$ ‘V gd}jUmV Vwåhr AZoH$Xm
ÌwQ>r ‘¶m©Xm nmhVm (Ogo "VrZ Q> o̧$ YZ d F$U BVH$s A{ZpíMVVm) Á¶mV ‘hmg^m§À¶m Zm|XrVrb àË¶oH$ ^mfU
XÿaXe©Zdarb àË¶oH$ Om{hamV, àË¶oH$ àdMZ ¶m
darb ¶w{º$dmXmVyZ OZVobm Cn¶wº$ Agm {ZîH$f© R>aUmao gdm©V ¶mo½¶ {dYmZ Imbrb n¶m©¶mVyZ {ZdS>m.
1) Oa ‘m{hVr amOH$s¶ Am{U Ym{‘©H$ ZoË¶m§gma»¶m à~i A{YH$mè¶m§H$Sy>Z ¶oV Agob Va bmoH$ Vr {M{H$ËgH$

‘yë¶‘mnZm{edm¶ ñdrH$maVmV.
2) XÿaXe©Z Om{hamVr OZVobm g§~§{YV ÌwQ>r ‘¶m©XoMm n[aM¶ H$ê$Z Z XoVm ‘m{hVr nwadVmV.
3) ñdV…H$Sy>Z ‘m{hVr nwadbr OmV AgVm A{YH$mar òmoVm§Zr Ë¶mg§~§{YV ÌwQ>r ‘¶m©XoMm bmoH$m§Zm n[aM¶ H$ê$Z {Xbm

nm{hOo.
4) H$moUË¶mhr A{YH$mar òmoVmH$Sy>Z Ho$ë¶m OmUmè¶m H$moUË¶mhr ¶w{º$dmXm~amo~a OZVoZo g§~§{YV ÌwQ>r ‘¶m©Xm gm§JÊ¶mMr

‘mJUr Ho$br nm{hOo.
6) While developing scientific understanding we are always mired in error. The most each generation

can hope for is to reduce the error bars a little, and to add to the body of data to which error bars

apply. The error bar is pervasive, visible self- assessment of the reliability of our knowledge. This

makes us always to accept uncertainty about scientific facts. You often see error bars in public

opinion polls (‘an uncertainty of plus and minus three percent’, say). Imagine a society in which

every speech in Congressional Record, every television commercial, every sermon had an

accompanying error bar or its equivalent.

Select from the following that best expresses the conclusion useful to public from the argument

above.

1) People accept information without critical evaluation if it comes from dominant ’ authorities

like political and religious leaders.

2) Television commercials deliver information to public without acquainting them with related

error bar.

3) Authorities should take care to acquaint people about the error bar related to the information

being delivered by them.

4) Public should demand for error bar related to any argument though it is coming from any

authority.

¶w{º$dmXmcm AmYma ŷV J¥hrVH$
1) Á¶m doir VmH$XrÀ¶m amOH$s¶ ZoV¥ÎdmMm CX¶ hmoÊ¶mMr e³¶Vm ZgVo Voìhm H$mhr XoeAm§V bîH$amH$Sy>Z H«$m§Vr KS>dyZ

gÎmm Vmã¶mV KoVbr OmÊ¶mMr e³¶Vm AgVo. S>mì¶m {dMmam§Mo {dÚmWu JQ> qH$dm l{‘H$m§À¶m g§KQ>Zm ¶m {déÕ H$m§Vr
KS>dy nmhVmV. na§Vw bîH$amMr gÎmm VmH$XrMr Agë¶m‘wio ñdV…Mo H$m¶Xo dmnê$Z Vgo KSy> {Xbo OmV Zmhr. bîH$ar
emgZ Am{U amOH$maUmnmgyZ gÎmoMr ‘mKma ¶mMm g§~§Y g‘mOmÀ¶m amOH$s¶ {dH$mgmÀ¶m nmVirer AgVmo.
amOH$s¶ {dH$mgmÀ¶m g§X^m©V darb ¶w{º$dmXmMo J¥hrVH$ {ZdS>m …
1) bîH$a amOH$s¶ nmoH$ir ^ê$Z H$mT>Vo.
2) {dH$mgmgmR>r bîH$ar emgZ Amho.
3) {dH$mgmgmR>r amOH$s¶ ZoV¥Îd hm n[aUm‘H$maH$ n¶m©¶ Zmhr
4) darbn¡H$s EH$hr Zmhr
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1) There is likelihood of military coup to take over power in some countries in case there is

no emergence of strong political leadership. Leftist students groups or unions of labour;s may

try to raise revolutions but military power being very strong will not allow this to happen using

their rules. Military ruling and withdrawal of power from politics are closely related to societies'

level of political development. With respect to political development, select the assumptions

of above argument.

1)  Military fills in political vacuum

2) Military ruling is necessary is for development

3) Political leadership is not effective option for development

4) None of the above

2) MM}Xaå¶mZ EH$ dº$m åhUmbm, ''ganQ>Umè¶m àmÊ¶m§À¶m {eH$marMm emoY KoUo, ñdV…À¶m A§S>çm§Mr H$miOr KoUo Am{U
AÝ¶ OrdZà{H«$¶m§V Jw§VUo ¶mgma»¶m H$mhr dV©ZmÀ¶m gmÜ¶m MoVH$-à{VgmX ñnï>rH$aUmÀ¶m AmYmao ¶m àmÊ¶m§H$S>o
OQ>rb AZw‘mZ j‘Vm Amho hm H$mhr g§emoYH$m§Mm Xmdm ~w{Õà‘mU Zmhr. AWm©VM Ë¶m§À¶m ̂ modVmbmV Ho$boë¶m ‘hÎdmÀ¶m
~Xbm§Zm Vm|S> XoÊ¶mgmR>r ñdV…À¶m dV©ZmV ~Xb H$aÊ¶mMr j‘Vm ganQ>Umè¶m àmÊ¶m§V Zmhr Ago g§~§{YV à¶moJmXaå¶mZMo
{ZarjU Amho Am{U ¶m‘wio ganQ>Umè¶m àmÊ¶m§H$S>o OQ>rb AZw‘mZo H$mT>Ê¶mMr j‘Vm Zmhr Ago AZw‘mZ H$moUmbmhr
H$mT>Vm ¶oVo.''
nwT>rbn¡H$s H$moUVo {dYmZ ¶m d³Ë¶mÀ¶m AZw‘mZmgmR>r Amdí¶H$ J¥hrVH$ Amho?
1) à¶moJemioVrb dV©ZmÀ¶m VwbZoV ganQ>Umè¶m àmÊ¶m§Mo Z¡g{J©H$ n¶m©daUmVrb dV©Z A{YH$ Jw§VmJw§VrMo dmQ>Vo.
2) Oa ganQ>Umè¶m àmÊ¶m§V Jw§VmJw§VrÀ¶m AZw‘mZ à{H«$¶m H$aÊ¶mMr j‘Vm Agob, Va H$mhr doim Vo ñdV…À¶m Z¡g{J©H$

A{YdmgmVrb ~Xbm§Zwgma ñdV…À¶m dV©ZmV ~Xb H$aÊ¶mgmR>r gj‘ AgVrb.
3) Jw§VmJw§VrMr AZw‘mZ à{H«$¶m Am{U MoVH$m§Zm {Xbobo à{VgmX ¶m XmoÝhr ~m~r EH$mM dV©ZmgmR>r ¶moJXmZ XoV ZmhrV.
4) ganQ>Umè¶m àmÊ¶m§À¶m gd© dV©ZmMo ñnï>rH$aU gmÜ¶m MoVH$-à{VgmX dV©ZmÀ¶m AmYmao H$aVm ¶oVrb.

2) During the discussion one speaker said, “As claimed by some researchers, it is not reasonable to

attribute complex reasoning ability to reptiles on the basis of simple stimulus-response

explanations of some reptiles’ behaviours like searching prey, caring for their eggs and engaging

in various other life processes. But since, as observed during experiments, reptiles are not capable

of making changes in their behaviour when they are made to face major changes in their

surroundings, this leads one to conclude that reptiles are not capable of complex reasoning.”

Which one of the following is an assumption required by the speaker’s conclusion ?

1) In comparison with their behaviour in laboratory. experiments, reptiles’ behaviour appears to

be more complex in their natural environment.

2) If reptiles were capable of complex reasoning, then they would exhibit capability of altering

their behaviour as per the changes in their natural habitat.

3) Complex reasoning and responses to stimuli cannot both contribute to the same behaviour.

4) All reptiles’ behaviour can be explained on the basis of simple stimulus-responses
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3) àJV Xoem§V Amamo½¶ godm§gmR>r nwadë¶m OmUmè¶m Am{W©H$ nmVirMm Ë¶m§À¶m bmoH$g§»¶oÀ¶m Amamo½¶mda ’$maM WmoS>m
n[aUm‘ hmoVmo Ago gm§p»¶H$s {díbofU XmIdyZ XoVo. Oar H$mhr Xoe XaS>moB© ghmnQ> OmXm IM© H$aVmV Am{U H$mhr ’$º$
¶mÀ¶m {Zå‘o IM© H$aVmV Var Ë¶m§À¶m bmoH$g§»¶oMo Am¶w‘m©Z Odinmg gmaIoM Amho. ¶m‘wio bmoH$m§Mo Amamo½¶ XaS>moB©
IM© Ho$boë¶m n¡em§À¶m nwadR>çmda Adb§~yZ AgVo Ago åhUUo {ZaW©H$ Amho.
¶m ¶wº$sdmXmg§X^m©Vrb AmYma ŷV J¥hrVH$ {ZdS>m.
1) bmoH$m§Mo Amamo½¶ gwYmaÊ¶mgmR>r XoemZo XaS>moB© AW©nwadR>m dmT>dm¶bm hdm.
2) bmoH$m§Mo Amamo½¶ Ë¶m§À¶m Am¶w‘m©ZmVyZ {ZX}{eV Ho$bo OmVo.
3) XaS>moB© AW©nwadR>çmMo à‘mU hm XoemVrb bmoH$m§À¶m Amamo½¶mMm C{MV {ZX}eH$ Zmhr.
4) bmoH$m§Mo Am¶w‘m©Z dmT>dÊ¶mgmR>r n[aUm‘H$maH$ Amamo½¶ godm àUmbr {dH${gV H$aUo hr XoemÀ¶m àemgZmMr

O~m~Xmar Amho.
3) Statistical analysis shows that in the advanced countries the level of financing towards health

services is making little impact on the health of their populations. Though some countries

spend six times as much per head on the health facilities and countries spending only half

as much, life expectancies of their populations are almost same. Thus it is meaningless to

say that the health of population depends in the level of finances spent per head.

Select the underlying assumption with respect to above argument.

1) For improving health of its population country should increase per head finance.

2) The health of populations is indicated by life expectancy of population.

3) Proportion of finances spent per head is not an appropriate indicator of health of population

of any country.

4) It is responsibility of the government to develop efficient health care system for increasing

life expectancy of its population.

4) AmYw{ZH$ g‘mOmVrc AZoH$ cmoH$ {IÞVoZo ÌñV AgVmV. ‘|XÿÀ¶m amgm¶{ZH$ g§VwcZmV ’o$a’$ma H$aUmè¶m H$mhr
Am¡fYm§‘m’©$V Ë¶mV CVma H$aVm ¶oVmo. VWm{n ghmZŵ yVr AgUmar Hw$ec ‘mZdr gmo~Vr g‘ñ¶og§~§Yr ì¶º$sMr ‘mZ{gH$
Mm¡H$Q> A{YH$ gH$mamË‘H$ H$aÊ¶mÀ¶m hoVyZo ~mocVmo åhUyZ ì¶º$s ‘mZgmonMma KoD$ eH$Vo. åhUyZ Á¶m {IÞ‘ZñH$ ì¶º$s¨Zm
‘|XÿÀ¶m amgm¶{ZH$ pñWVrV ’o$a’$ma H$aÊ¶mMr H$ënZm AmdS>V Zmhr Ë¶m§Zr ‘mZgmonMma {ZdS>m¶cm haH$V Zmhr.
nwT>rc {dYmZm§VyZ darc ¶w{º$dmXmcm AmYma ŷV J¥hrVH$ {ZdS>m.
1) ‘mZgmonMma ‘|XÿVrc amgm¶{ZH$ pñWVrV ’o$a’$ma H$aV Zmhr.
2) {IÞ‘ZñH$VogmR>r Am¡fYm§nojm ‘mZgmonMma A{YH$ à^mdr CnMma Amho.
3) ‘mZgmonMma Am¡fYm§À¶m CnMmam§gmo~V EH${ÌV H$aVm ¶oV Zmhr.
4) ‘mZdmÀ¶m ApñVËdm~amo~a {IÞ‘ZñH$Vm hr Zoh‘rM Ë¶mÀ¶mgmo~V Amho.

4) Many people suffer from depression in modern society. This can be alleviated through certain

drugs that alter the chemical balance of the brain. However, the individual can undergo

psychotherapy that involves talking through problems with a sympathetic and skilled fellow human

being with a view to putting the subject in a more positive frame of mind. Depressed individuals

who do not like the idea of their brain chemistry being altered should therefore choose

psychotherapy.

Select an underlying assumption of the above argument from following statements.

1) Psychotherapy does not alter the brain chemistry.

2) Psychotherapy is more effective than drugs in treating depression.

3) Psychotherapy cannot be combined with drug treatments.

4) Depression is always there with human beings when he came to existence.
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5) {d{dY narjm§Mo {ZH$mb ‘wbrMo H$m¶©‘mZ ‘wbm§nojm gag Agë¶mMo Xe©dVmV. ‘wbm§À¶m AH$m¶©j‘Vo~m~V AZoH$ bmoH$
nmbH$m§Zm Xmof XoVmV. CËH«$m§VrH$mar Ord{dkmZmZwgma B{Vhmgnyd© H$mimV ‘wbm§À¶m g§JmonZmV nwT>mH$ma KoÊ¶mMr JaO
nS>ë¶m‘wio {ó¶m§Mr ^mnH$ Am{U ^mdmË‘H$ H$m¡eë¶o nwéfmnojm CËH«$m§V Pmbr. ¶mCbQ> nyd©o{Vhm{gH$ H$mimV nwéfm§Zr
AÞmgmR>r Q>moù¶m§V amhÿZ {eH$ma H$aUo Ano{jV hmoVo Am{U ¶m n[apñWVrZo Ë¶m§Zm ghOnUo qhgH$ hmoUmao ~Zdbo Amho
Am{U àmUr dV©ZmMr {ZarjUo H$aÊ¶mV, YyV© Mmbr IoiÊ¶mV Am{U {Z¶moOZ H$aÊ¶mV Vo Hw$eb Pmbo AmhoV. ¶m ‘‘©Ñï>rV
MoVmd¡km{ZH$m§Zr nwéfm§Vrb Q>oñQ>moQ>oam°Z ho g§àoaH$ ^mfm H$m¡eë¶m§À¶m {dH$mgmda {dnarV n[aUm‘ H$aVo Aer ^a KmVbr.
Aem arVrZo ‘wbr d ‘wbJo ¶m§À¶m embo¶ H$m¶©‘mZmVrb ’$aH$mMo ñnï>rH$aU An¶er nmbH$m§Zm Xmofr R>adyZ H$aVm ¶oV
Zmhr ho CKS> Amho.
nwT>rb n¶m©¶mn¡H$s darb ¶w{º$dmXmVrb Xmof XmIdÊ¶mg gdm}Îm‘ R>aob Ago {dYmZ {ZdS>m.
1) Anojm Ñï>rAmS> H$ê$Z b¢{JH$ ôX {dMmamV Z KoVm H$moUmhr gd©gmYmaU ì¶º$sbm d¡km{ZH$ ñnï>rH$aUo bmJy nS>VmV

Ago Vmo J¥hrV YaVmo.
2) ‘wbm§Zm Ë¶m§À¶m H$m¶©‘mZmV gwYmaUm H$aÊ¶mgmR>r ‘XV XoÊ¶mMm à¶ËZ nmbH$ H$aV ZmhrV Ago Vmo J¥hrV YmoaVmo.
3) nyd}{Vhm{gH$ H$mbrZ nwéfr H$m¡eë¶m§Zm e¡j{UH$ H$m¶©‘mZmV H$moUVrhr ŷ{‘H$m Zmhr Ago Vmo J¥hrV YaVmo.
4) b¢{JH$Vo‘wio H$m¶©‘mZmV nS>Umam ’$aH$ hm Ho$di Ordd¡km{ZH$ ’$aH$m‘wio nS>bm Amho Ago Vmo J¥hrV YaVmo.

5) Result of various examinations show that girls outperform boys. Many people blame parents for

underperformance of boys. As per evolutionary biology females are evolved to have better verbal

and emotional skills than males due to the need in prehistoric times for women to take lead in

bringing up children. In constast during prehistoric times males were expected to hunt in packs

for food an this had made them more prone to violence and smilled at observing animal behaviour,

calculating and planning. Neurologists have added to this insight that male hormone testosterone

has an adverse impact on development of language skills. Thus it is clear that difference between

educational performance between girls and boys cannot be explained in terms of failing parents.

Select one of the following options that serves as best statement of flaw in the above argument.

1) It is assumed that the scientific explanations apply to the any average person irrespective of

gender difference ignoring expectations.

2) It is assumes that parents are not trying to help boys to improve their performance.

3) It is assumed that prehistoric male skills have no role in the educational performance.

4) It is assumed that differences in performance between genders are due solely to biological

differences.

2) {dYmZo Am{U J¥{hVHo$
1) Imbr I Am{U II H«$‘m§H$mÀ`m XmoZ J¥{hVH$m§Z§Va EH$ {dYmZ {Xbo Amho. Vwåhmbm {dYmZ Am{U J¥{hVH$m§Mm {dMma H$amdm

bmJob Am{U {dYmZmV H$moUVo J¥{hVH$ A§V ŷ©V Amho ho R>admdo bmJob?
{dYmZ : ‘wbmbm 6 dfmªMo Pmë`mda emioV KmbUo Bï> Amho.
J¥hrVHo$ :
I) ‘wbm§Zm ghm dfmªMo Pmë`m{edm` emim àdoe XoV ZmhrV.
II) `m d`mVrb ‘yb doJdoJù`m Hw$Qw>§~mVrb ‘wbm§À`m JQ>mer gm‘rb hmoÊ`mg V`ma Amho.
n`m©̀  CÎmao :
1) ’$º$ J¥{hVH$ I {Z{hV Amho 2) ’$º$ J¥{hVH$ II {Z{hV Amho
3) EH$Va I qH$dm II A§V{Z©{hV Amho 4) I Am{U II XmoÝhr {Z{hV AmhoV
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1) Below is given a statement follwed by two assumption numbered I and II. You have to consider the

statement and assumptions and decide which of the assumption is implicit in the statement?

Statement :

It is desirable to put child in school when it is 6 years old.

Assumptions :

I) The schools do not admit children unless they are six years old.

II) Child at this age is ready to get socialised with a group of children who are from different

families.

Answer Options :

1) Only assumption I is implicit 2) Only assumption II is implicit

3) Either I or II is implicit 4) Both I and II are implicit

2) {Xboë¶m {dYmZmer {ZJS>rV H$moUVo J¥hrVH$ ~amo~a Amho?
{dYmZ … '{gJmaoQ> AmoT>Uo ho Amamo½¶mgmR>r hm{ZH$maH$ Amho' Aer ‘m{hVr {gJmaoQ> nm{H$Q>mda N>mnbobr AgVo. H$maU,
J¥hrVH$ …
i) {gJmaoQ> nm{H$Q>mda {b{hbobr ‘m{hVr bmoH$ dmMVmV.
ii) ~è¶mM ì¶º$s {gJmaoQ> nm{H$Q>mdarb {Xboë¶m Bemè¶mMm Jm§̂ r¶m©Zo {dMma H$aVmV.
n¶m©¶r CÎmao …
1) ’$º$ J¥hrVH$ (i) ~amo~a 2) ’$º$ J¥hrVH$ (ii) ~amo~a
3) J¥hrVH$ (i) Am{U (ii) XmoÝhr ~amo~a 4) J¥hrVH$ (i) Am{U (ii) XmoÝhr ~amo~a ZmhrV

2) Find out which assumption is correct from the given statement.

Statement : ‘Cigarette smoking is injurious to Health’, this information is given on the cigaret

packet, because,

Assumption :

i) People read the information given. on the cigarette packet.

ii) Many people take seriously the warning given on cigarette packet.

Answer Options :

1) Only (i) assumption is correct

2) Only (ii) assumption is correct

3) Both (i) and (ii) assumptions are correct

4) Both (i) and (ii) assumptions are not correct

3) nwT>o EH$ ‘w»¶ {dYmZ {Xbo AgyZ Ë¶mZ§Va (a), (b), (c) Am{U (d) Aer Zm‘{ZX}eZo Agbobr {dYmZo {Xbr AmhoV. 1
ë¶m {dYmZmV 2 ao {dYmZ A§V{Z©hrV AgUmar Am{U XmoÝhr {dYmZo EH${ÌVnUo ‘w»¶ {dYmZmer VH©$g§JV AgVrb Aer
H«$‘dma OmoS>r {ZdS>m.
Oa Vw‘À¶mH$S>o {V{H$Q> Agob VaM Vwåhr ZmQ>H$ nmhÿ eH$Vm.
a) Vwåhr ZmQ>H$ nm{hbo. b) Vw‘À¶mH$S>o {V{H$Q> hmoVo.
c) Vwåhr ZmQ>H$ nm{hbo Zmhr. d) Vw‘À¶mH$S>o {V{H$Q> ZìhVo.
n¶m©¶r CÎmao …
1) (c) Am{U (a) 2) (a) Am{U (b) 3) (d) Am{U (a) 4) (b) Am{U (c)
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3) Given below is the main statement that is followed by statements labelled (a), (b), (c) and (d).

Select the ordered pair of statements where the 1st statement implies 2nd and the two statements

together are logically consistent with the main statement.

You can watch a drama only if you have a ticket.

a) You watched a drama. b) You had a ticket.

c) You did not watch a drama. d) You did not have a ticket.

Answer Options :

1) (c) and (a) 2) (a) and (b) 3) (d) and (a) 4) (b) and (c)
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(3) n[apñWVr Am{U à{VgmX, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo

1) n[apñWVr Am{U à{VgmX
2) n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo

1) n[apñWVr Am{U à{VgmX
1) A, B, C d D ¶m Mma g§e{¶Vm§Mr Mm¡H$er Pmbr. Oa ¶m n¡H$s EH$ ì¶º$s ImoQ>o ~mobV Agob Va Ë¶m§Mo à{VgmX Aä¶mgyZ

¶mo½¶ n¶m©¶ {ZdS>m.
a) B Zo ’$gdë¶m{edm¶ C ’$gdV Zmhr. b) A qH$dm B Zo ’$gdbo.
c) B Zo ’$gdbo Zmhr, ‘r ’$gdbo. d) B Zo ’$gdbo.
n¶m©¶r CÎmao …
1) C ImoQ>o ~mobbr, B Zo ’$gdbo. 2) B ImoQ>o ~mobbr, B Zo ’$gdbo.
3) A ImoQ>o ~mobbr, C Zo ’$gdbo. 4) D ImoQ>o ~mobbr, C Zo ’$gdbo.

1) Four suspects A, B, C and D were interrogated. Study their responses and select the correct

option if only one person is lying.

a) C won't cheat unless B cheated. b) Either A or B cheated.

c) B didn’t cheat, I cheated. d) Bcheated. .

Answer Options :

1) C lied, B cheated. 2) B lied, B cheated.

3) A lied, C cheated. 4) D lied, C cheated.

2) H$moUrVar EH$sZo PmS> nmS>bo Amho Am{U Mm¡H$er H$aVmZm Vwåhmbm nwT>rb à{VgmX {‘imbo AmhoV. Oa ’$º$ EH$M à{VgmX
gË¶ Agob, Va H$moUr PmS> nmS>bo Agbo nm{hOo?
à{VgmX …
Vmam … ‘r ho Ho$bo Amho Ago gm§JVmZm X¶m ImoQ>o ~mobbr.
JwUr … ‘r ho Ho$bo Zmhr.
Am¶em … ho X¶mZo Ho$bo.
X¶m … ho VmamZo Ho$bo.
n¶m©¶r CÎmao …
1) Am¶em 2) X¶m 3) JwUr 4) Vmam

2) Someone has felled a tree and while inquiring you got the following responses. If only one of the

responses is true, then who must have felled the tree ?

Response :

Tera : Daya lied when she said that I did it.

Guni : Idid not do it.

Aisha : Daya did it.

Daya : Tara did it.

Answer Options :

1) Aisha 2) Daya 3) Guni 4) Tara



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … Vm{H©$H$ VH©$ Am{U {díbofUmË‘H$ j‘Vm  / 49

For Private Circulation Only

3) gmoMm-H$amo ~oQ>mdaMo a{hdmgr H$moUË¶mhr àíZmMo CÎma XmoZ dm³¶m§V XoVmV. Ë¶mn¡H$s EH$ dm³¶ Zoh‘rM Iao AgVo d
Xþgao dm³¶ Zoh‘r ImoQ>o AgVo. ~oQ>mda ^Q>H$Umè¶m ZrZmbm, EH$ dH$sb, EH$ AÜ¶mnH$ Am{U EH$ {Zd¥Îm Ago VrZ
a{hdmgr ôQ>bo. H$moU H$moU Amho ¶m g§~§YmZo ZrZmZo àíZ {dMmabo Voìhm Ë¶m§Mo à{VgmX nwT>rbà‘mUo hmoVo.
S>moby … ‘r {ejH$ Zmhr. H$moby {ejH$ Zmhr.
‘mby … S>moby dH$sb Zmhr. H$moby {ejH$ Amho.
H$moby … S>moby {Zd¥Îm Zmhr. ‘r {ejH$ Zmhr
n¶m©¶m§VyZ gË¶ {dYmZ {ZdS>m.
1) H$moby {ejH$ Amho 2) S>moby {Zd¥Îm Amho
3) ‘mby dH$sb Amho 4) darb VrZn¡H$s EH$hr Zmhr

3) On an island Socha-karo the inhabitants always answer any question with two sentences - one

of which is always true and other is always false. Nina while moving around, meets three inhabitants,

a lawyer, a teacher and a pensioner. When Nona questioned about who is who they answered

as follows :

Dolu : I am not a teacher. Kolu is not a teacher

Malu : Dolu is not a lawyer. Kolu is a teacher

Kolu : Dolu, is not a pensioner. Iam not a teacher

Select the true statement from options.

1) Kolu is the teacher 2) Dolu is the pensioner

3) Malu is the lawyer 4) None of the above three

4) Q>obm-Sw>bm ~oQ>mdaMo a{hdmgr H$moUË¶mhr àíZmMo CÎma XmoZ dm³¶m§V XoVmV. Ë¶mn¡H$s EH$ dm³¶ Zoh‘rM Iao AgVo d Xþgao
dm³¶ Zoh‘rM ImoQ>o AgVo. ~oQ>mda n¶©Q>Z H$aUmè¶m {XZybm, Jmoby, {Zby d noby ho a{hdmgr ôQ>bo. Vo ~oQ>mdaÀ¶m EH$m
Mm¡H$mnmer PmS>m§À¶m ‘mbH$s{df¶rMm V§Q>m {‘Q>dm¶bm O‘bo hmoVo. Ë¶m§À¶mn¡H$s EH$mZo Xmì¶mMo à‘mUnÌ g§~§{YVm§Zm bmM
XoD$Z {‘idbo hmoVo. Ë¶m§Zr {XZybm Ë¶m§Mr g‘ñ¶m EoH$mdr Aer {dZ§Vr Ho$br. ""¶m PmS>m§Mm ‘mbH$ H$moU Amho'' Ago {XZyZo
Ë¶m§Zm {dMmabo. Ë¶m§Mo à{VgmX nwT>rbà‘mUo AmhoV …
Jmoby … ‘r ¶m PmS>m§Mm ‘mbH$ Amho. nobyZo EH$m ì¶º$sbm bmM {Xbr.
{Zby … ‘r bmM {Xbr. ‘r ¶m PmS>m§Mm ‘mbH$ Amho.
noby … ‘r ¶m PmS>m§Mm ‘mbH$ Amho. ‘r bmM {Xbr Zmhr.
¶mdê$Z bmM XoUmar ì¶º$s {ZdS>m.
1) Jmoby 2) {Zby 3) noby 4) {VKm§n¡H$s EH$hr Zmhr

4) On an island Tela-Dula, the inhabitants always answer any question with two sentences — one of

which is always true and other is always false. Dinu, while touring this island, meets three

inhabitants, Golu, Nilu and Pelu. They were there.at one of the crossings to resolve a dispute over

ownership of plants. One of them bribed to get certification of this claim. They requested Dinu to

listen to their problem. "Who is the owner of these trees 7" Dinu asked and they answered as

follows :

Golu : I own the plants. Pelu did bribe the concerned person.

Nilu: I did bribe the concerned person. I own the plants. ©

Pelu : I own the plants. I did not bribe.

Select the person who bribed.

1) Golu 2) Nilu 3) Pelu 4) None of the three
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5) Xrn …
‘bm AmíM¶© dmQ>Vo H$s AmnU Amnbm doi d eº$s dmMdÊ¶mgmR>r ì¶mnmar CÈ>mUo dmnaVmo Am{U CÈ>mUo dmVmdaUmV BVH$m
H$m~©Z S>m¶Am°³gmB©S> {‘giVmV H$s OodT>m H$mhr g§nyU© Xoe EH$m dfm©V {‘giVmV. AmnU dmnaV Agbobr CÈ>mUo
‘¶m©{XV H$am¶bm hdrV.
{Z‘m …
‘bm ‘mhrV Amho ...... Ooìhm AmnU EH$ Am§VaI§S>r¶ CÈ>mU H$aVmo Voìhm JmS>rZo Ho$boë¶m df©̂ amÀ¶m àdmgmnojm OmñV
àXÿfUmbm H$maUr ŷV hmoVmo.
XrnÀ¶m ̂ mî¶mdarb {Z‘mMm à{VgmX hm …
1) Ë¶mbm H$m~©Z S>m`Am°ŠgmB©S> àXÿfU g‘ñ¶oMo Jm§̂ r¶© IamoIaM dm Zmhr ¶m~m~V àíZ CnpñWV H$aVmo.
2) AmnU dmnaV Agboë¶m CÈ>mUm§da AmnU ‘¶m©Xm KmbÊ¶mÀ¶m Ë¶mÀ¶m ‘wÚmMr nwï>r H$aVmo.
3) H$m~©Z S>m`Am°ŠgmB©S> àXÿfU g‘ñ¶m H$‘r H$aÊ¶mMm n¶m©¶r ‘mJ© gwMdVmo.
4) dmVmdaUmVrb H$m~©Z S>m`Am°ŠgmB©S>À`m nmVirV dmT> hmoÊ¶mV CÈ>mUm§Mm dmQ>m ‘moR>m Amho ¶m XrnÀ¶m ‘wÚmMo àdMZ

H$aVmo.
5) Deep:

I wonder that we are using commercial flights to save time and energy and these flights contribute

carbon dioxide to the atmosphere than do the whole of some nations in one year. We need to

restrict the number of flights we use.

Nima :

I know ..... when we take one intercontinental flight we cause more pollution than if we would

travel by car for one year.

Nima’s response to Deep’s comment serves to :

1) question whether he really understands the severity of the problem of carbon dioxide pollution.

2) add more weight to her contention that we need to restrict the number of flights we use.

3) suggest the alternative way for reducing the problem of carbon dioxide pollution.

4) reinforce Deep’s contention that flights are a major contribution towards increase of carbon

dioxide level in the atmosphere.

6) {XVr … H$mhr j‘Vm àmá H$ê$Z, ñdV…Mo ~mOma‘yë¶ dmT>dyZ ñdV…Mr Am{W©H$ àJVr gmYUmè¶m AZoH$ ì¶º$s Amnë¶mbm
{XgVmV. ¶mMm AW© Agm H$s {df‘VoMr ‘wio ì¶º$sMo gj‘ AgUo/ZgUo, ~w{Õ‘mZ AgUo/ZgUo, ¶m H$ï>miy AgUo/
ZgUo ¶mV éVbo Amho. H$moUrhr OÝ‘V… Xm[aÚ«r Agbm Var, ~wÕrMm, H$m¡eë¶m§Mm dmna H$ê$Z, n[al‘mZo ¶mda ‘V H$ê$
eH$Vmo. ho e³¶ hmoÊ¶mgmR>r XoemV bmoH$emhr amÁ¶ì¶dñWm AgÊ¶mMr Amdí¶H$Vm Amho.
hobr … Vy åhUVog Ë¶mV H$mhr A§er VÏ¶ Amho. ‘m{hVr V§ÌkmZ, g§JUH$ ¶mda AmYm[aV CÚmoJm§V VéU {nT>rZo bmImo
én¶m§À¶m ZmoH$è¶m nQ>H$mdë¶m AmhoV. Ë¶m‘wio Ë¶m§Zr {ZåZ Am{W©H$ ñVam§VyZ Cƒ Am{W©H$ ñVamV ñdV…bm àñWm{nV
Ho$bo Amho. nU ‘¥Xþgm{hË¶ V§Ìk d g’$mB© H$m‘Jma ¶m§À¶m ‘mo~Xë¶mV {H$Vr V’$mdV Agmdr ¶m~m~VMo H$mhr ñnï>rH$aU
emoYÊ¶mÀ¶m à¶ËZmV g‘mO Amho Ag§ H$mhr ‘bm {XgV Zmhr.
{XVrÀ¶m ñdV…À¶m {ZarjUmg§~§YmVrb ^mî¶mda hobrZo {Xboë¶m à{VgmXmMo C{MV dU©Z H$aUmam n¶m©¶ {ZdS>m.
1) Ag§~Õ Amho.
2) ‘¥Xþgm{hË¶ V§Ìk d g’$mB© H$m‘Jma ¶m§À¶m ‘mo~Xë¶mV ’$aH$ Agm¶bm ZH$mo ho gwMdVmo.
3) Am{W©H$ {df‘Vm H$‘r H$aÊ¶mMm n¶m©¶ gwMdVmo.
4) {XVrZo Xþb©{jV Ho$bobm n¡by g‘moa AmUbm Amho.
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6) Ditee : We can see that many persons progress economically by acquiring some capacities and

by augmenting his or her market value. This means that inequality is rooted in whether persons

are capable or not, intellectually efficient/diligent or not. Even if anyone is born with poverty, by

using his or her intellect, skills diligently he or she can overcome it. It is necessary to have

democratic governance in the country for making this possible.

Heli : There is some truth in whatever you say. Young generation acquired jobs with salaries of

lakhs of rupees in information technology and computer based industries. With this they did

promote themselves from lower to higher economic strata. But I don't see that society is trying

to get explanation as to what should be the discrepancy between remuneration of software

technologist and cleaning worker.

Choose the appropriate option that describes appropriately Heli’s response to Ditee’s observation

and comment.

1) It is irrelevant.

2) It suggests that there should be no difference between remuneration of software technologist

and cleaning worker,

3) It suggests alternative course of action for reducing economic inequality,

4) Brings forward an aspect neglected by Ditee.

2) n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
1) àmo{Q>ÝgMm CÎm‘ òmoV Agë¶m‘wio ‘mem§Zm dmT>Vr ‘mJUr Amho. ¶m‘wio AmO OJmVrb Odinmg 70% gmJar gmR>çmV

J¡admOdr ‘mgo‘mar Ho$br OmVo Va H$mhr {R>H$mUr Vo nyU©nUo g§ndbo Jobo AmhoV. ‘mZdr dmnamgmR>r ‘Ëñ¶CËnmXZ
H$aÊ¶mgmR>r ObeoVrMo à‘mU gmVË¶mZo ì¶mnH$ hmoV Amho. nU ¶mV ‘Ëñ¶eoVrer g§~§{YV nmUr àXÿfU Am{U bmJyZ
Agboë¶m Z¡g{J©H$ ‘mem§À¶m g‘yhmV AmOmam§Mm àmXþ̂ m©d ngadUmè¶m n¶m©daU OmoI‘rMohr ì¶dñWmnZ H$aUo JaOoMo
R>aVo. ¶mgmR>r ObeoVr joÌmZo ‘Ëñ¶ àOmVr, {deofV: H¥$nmgma»¶m ̂ jH$ ‘mem§À¶m n[aUm‘H$maH$ Am{U n¶m©daU ñZohr
nÕVr {dH${gV Ho$br nm{hOo. gmJar dÝ¶nH$S>rMo ‘mgo Im¶bm KmbyZ nmogboë¶m Hy$nmgmaIo ‘mgo ImÊ¶mMo YZdmZ
bmoH$m§Zm doS> AgVo Am{U ¶mMm gmJamda VmU ¶oVmo.
nwT>o {Xboë¶m {dYmZm§VyZ darb n[aÀN>oXmMm gdm©V C{MV {ZîH$f© {ZdS>m.
1) n¶m©daU g‘ñ¶m Q>miÊ¶mgmR>r XrK©H$mimgmR>r bmoH$m§Zm nyU© eH$mhmar Amhma g¶rMm H$ê$Z ¿¶m¶bm àmoËgm{hV Ho$bo

nm{hOo.
2) Omon¶©V AÝ¶ ‘mem§Zm OmonmgUmar n¶m©daUñZohr ¶§ÌUm aMbr OmV Zmhr Vmon¶ªV ̂ jH$ ‘mem§À¶m ObeoVrda à{V~§Y

KmVbm nm{hOo.
3) gmJam§da ¶oUmam VmU Q>miÊ¶mgmR>r bmoH$m§Zm Vù¶m§V d ZÚm§V amhUmao JmoS>çm nmÊ¶mVrb ‘mgo Im¶bm àmoËgmhZ {Xbo

nm{hOo.
4) ’$º$ H$mhr àOmVtÀ¶m ‘mem§Mr eoVr n[apñW{VH$sÀ¶m O¡d{ddYVobm ~mYH$ R>aV Amho.

1) There is an increased demand for fish as it is a good source of protein. Due to this about 70% of

the world’s marine fish stocks are now overfished or already fished at full capacity. Aquaculture

is continuously expanded for farming fish for human consumption. But it is necessary to manage

environmental risks associated with fish farming, such as water pollution and transmission of

disease to adjacent wild fish population. For this aquaculture sector needs to device effective and

environment friendly methods of rearing fish species, particularly predator fish like tuna. Wealthy

people are crazy about eating fish like tuna that are fed using marine wild-caught fish and this puts

pressure on oceans.
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Select from following statements the most appropriate conclusion of above paragraph.

1) People should be encouraged to adopt total vegan diet in long-term for avoiding environmental

problems.

2) Aquaculture of predator fishes should be banned for the time being, till other environment

friendly devise is designed for rearing them.

3) People should be encouraged to consume freshwater fish varieties that are living in lakes and

rivers to avoid pressure on the oceans.

4) The farming of only certain kind of varieties is damaging the biodiversity of ecosystems.

2) ‘Z {Zdm§V Agob Va Á¶m {R>H$mUm§Zm nwZ }̂Q> Úm¶bm ‘r ghO V¶ma AgVmo, Aer OmñV {R>H$mUo ZmhrV H$s Á¶m {R>H$mUr
‘r nydu H$Yrhr Jobmo ZìhVmo. Ë¶mMo H$maU åhUOo Ë¶m {R>H$mUm§er ‘mPm ’$ma nydunmgyZ n[aM¶ Amho. Ë¶m§À¶mer
(Agboë¶m) ‘mÂ¶m XmQ> g»¶mMo ñdê$n BVHo$ ào‘i Amho H$s ‘r ñdV…bm Vo (g»¶) ~XbUma Zmhr ¶mMr ImÌr XoÊ¶mV
{deof éMr KoVmo. am°{~ÝgZ H«y$gmoÀ¶m ~oQ>mda ‘r H$Yrhr Jobmo ZìhVmo nU ‘r dma§dma VoWo naVV AgVmo. OoWo {Ob ãboP
aS>V hmoVm d Ë¶m Mmoam§À¶m JwhoV ‘r H$Yrhr Jobmo ZìhVmo, Ë¶mV ‘r dma§dma naVVmo Am{U Ë¶mVrb gmnù¶mMm XadmOm
CMbm¶bm nyduà‘mUoM OS> Amho Ago ‘bm AmT>iVo. S>m°Z {¹$PmoZo Á¶m Aä¶mg ImobrV C ô amhÿZ H$mën{ZH$ amjgmMm
dY H$aon¶ªV em¡¶m©daMr Ë¶mMr nwñVHo$ dmMbr, Ë¶m ImobrV ‘r H$Yrhr Jobmo ZìhVmo na§Vw ‘bm ‘mhrV Pmë¶mIoarO Vwåhr
VoWrb EH$hr nwñVH$ hbdy eH$Uma Zmhr.
Ho$di n{hbo {dYmZo dmMyZ Wm§~ë¶mg n[aÀN>oXmÀ¶m Ame¶mMo gdm©V C{MV dU©Z H$aUmam eãX {ZdS>m.
1) {dZmoXr 2) {damoYm^mgmË‘H$ 3) A{dœgZr¶ 4) AgË¶

2) There are not many places that I find it more agreeable to revisit when in an idle mood, than some

places to which I have never been. For my acquaintance with those spots is of such long standing,

and has ripened into an intimacy of so affectionate a nature, that I take a particular interest in

assuring myself that are unchanged. I never was in Robinson Crusoe’s Island, yet I frequently

return there. I was never in the robbers’ cave, where Gil Blas lived, but I often go back there and

find the trap-door just as heavy to raise as it used to be. I was never in Don Quixote’s study, where

he read his books of chivalry until he rose and hacked at imaginary giants, yet you couldn’t move

a book in it without my knowledge.

Reading is stopped after only first statement of the paragraph then select most appropriate word

that describes its content.

1) Humorous 2) Paradoxical 3) Unbelievable 4) False

3) ‘moVrq~Xÿ‘wio ¶oUmè¶m Am§YionUmÀ¶m AmOmambm S>moù¶m§Vrb YwaH$Q>nUmnmgyZ gwédmV hmoVo d Ë¶m‘wio nwT>o Ñï>rhrZVm
¶oÊ¶mMr e³¶Vm AgVo. 2020 n¶ªV gmYmaUnUo 12 XebjmhÿZ A{YH$ bmoH$m§Zm hm AmOma JmR>ob. ¶mÀ¶m n[aUm‘r
{dH$gZerb Xoem§V eó{H«$¶m H$aUmè¶m S>m°³Q>am§Mm VwQ>dS>m {Z‘m©U hmoD$Z bmoH$m§Zm Amamo½¶godm {‘iÊ¶mda ‘¶m©Xm
¶oVrb. CnMma à{ejU nÕVrZo eó{H«$¶m H$aUmam Mm§Jbm S>m°³Q>a KS>m¶bm {H$Ë¶oH$ df} bmJVmV. ¶m JVrZo Amdí¶H$
S>m°³Q>a V¶ma H$ê$Z Ë¶m§Zm {dH$gZerb Xoem§V nmR>dUo hr Ae³¶àm¶ Jmoï> Amho.
'hoën‘rgr' hr Zm-Z’$m VÎdmda H$m‘ H$aUmar g§KQ>Zm ‘moVrq~Xÿ A§YËdmer bT>m Úm¶bm ~m§Yrb Agbobr g§KQ>Zm
Amho. ¶m g§KQ>Zobm 30,000 bmoH$m§Zm hr XþImnV H$mTy>Z Q>mH$Ê¶mMo à{ejU ‘mZdr S>moù¶mMr à{VH¥$Vr V¶ma H$aUmè¶m
d {Od§V eó{H«$¶oMm AZŵ d XoUmè¶m à{V^mgr-dmñVd A{^ê$nUH$mÀ¶m (simulator) ‘XVrZo Úm¶Mo Amho. hm
A{^ê$nUH$ hr ‘hÎdmMr àJVr Amho H$maU Ë¶m‘wio VrZ ‘{hÝ¶m§nojm H$‘r H$mbmdYrV ‘moR>m eó{H«$¶m H$aUmam S>m°³Q>a
KS>dVm ¶oVmo.
darb ‘m{hVrÀ¶m AmYmao H$mT>Vm ¶oUmao AZw‘mZ {ZdS>m.
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1) AmVm ‘moVrq~Xÿ eó{H«$¶ogmR>r à{e{jV S>m°³Q>am§Mr JaO Zmhr H$maU Vr XþImnV H$mTy>Z Q>mH$Ê¶mgmR>r à{V^mgr
dmñVd A{^ê$nUH$ (simulator) CnbãY AmhoV.

2) AmVm ‘mZdr S>moù¶mMr à{VH¥$Vr V¶ma H$ê$Z {Od§V eó{H«$¶oMm AZŵ d XoUmè¶m à{V^mgr dmñVd A{^ê$nUH$mÀ¶m
‘XVrZo ‘moVrq~Xÿ XþImnV H$mTy>Z Q>mH$Ê¶mMo à{ejU H$moUmhr ì¶º$sbm XoUo e³¶ Amho.

3) AmVm à{V^mgr dmñVd A{^ê$nUH$ VrZ ‘{hÝ¶m§nojm H$‘r H$mbmdYrV d¡ÚH$s¶ à{ejU KoUmè¶m§Zm ‘moVrq~Xÿ XþImnV
H$mTy>Z Q>mH$Ê¶mgmR>r CÎm‘ eó{H«$¶m H$aUmam S>m°³Q>a åhUyZ à{e{jV H$ê$ eH$Vmo.

4) AmVm ‘moVrq~Xÿ A§YËdmMm àíZ à{V^mgr dmñVd A{^ê$nUH$mÀ¶m ‘XVrZo Zï> H$aUo e³¶ Amho.
3) Cataract blindness is the disease which begins with clouding of the eyes and can lead to loss of

vision, will probably afflict 12 million more people by 2020, as a result of shortage of skilled

doctors limits access to care in developing nations. In the clinical way of training, it takes years

to create a good surgeon. It is impossible to train all the doctors needed and then put them in

developing countries at this rate. A non-profit organization ‘HelpMeSee’, committed to fighting

cataract blindness, wants to train 30,000 people for a procedure to remove the impairment using

a virtual reality simulator that replicates the human eye and feel the live surgery. The simulator is

a major development because it can make a great surgeon in less than three months.

Select the most appropriate statement which can be inferred from the above information.

1) Now there is no need of trained surgeons for doing cataract surgery as virtual reality simulators

for removing impairment are available.

2) Now it is possible to train any person to remove cataract impairment using a virtual-reality

simulator that replicates the human eye and feel the live surgery.

3) Now virtual reality simulator can make a person a great surgeon in less than three months for

removing cataract impairment.

4) Now problem of cataract blindness can be eradicated using virtually reality simulators.

4) Mb^mf (‘mo~mB©b) ñV§̂ m§À¶m Odi amhUmao bmoH$ ¶m ñV§̂ m§VyZ hmoUmar àmaUo ñdV…À¶m Amamo½¶mMr hmZr nmohmoMdVrb
¶m {dd§MZoV AgVmV. Mb^mf ¶§Ìo ñdV…M H$aV Agbobm àmaU CËgJ©, Ymo³¶mÀ¶m nmVirMm AgVmo Am{U EH$m
AhdmbmZo ‘wbm§Zm JaO ZgVmZm Ë¶mdê$Z ~mobÊ¶mnmgyZ namd¥Îm Ho$bo nm{hOo Aer {e’$mag Ho$br Amho. ñV§̂ mVyZ
hmoUmam àmaUm§Mm CËgJ© Mb^mf ¶§Ìm§À¶m VwbZoV H$‘r AgVmo. ¶m ~m~VrV ¶§ÌmdaÀ¶m ~mobÊ¶mMo H$mhr goH§$X ho ¶m
g§X^m©V 24 Vmgm§À¶m ñV§̂  g§nH$m©BVHo$ AgVmV. ¶m XmoÝhr òmoVm§H$Sy>Z hmoUmar hr àmaUo Am§Vaamï´>r¶ ‘mJ©Xe©H$
VÎdm§Zwgma Ymo³¶mÀ¶m ‘mZboë¶m nmVirÀ¶m Imbr AgVmV nU hr ‘mJ©Xe©H$ VÎdo OmoI‘rMr nmVir AMyH$VoZo à{Vq~{~V
H$aVmV H$m¶ ¶mMr ImÌr AmVmn¶ªV Var H$moUrhr {Xbobr Zmhr.
darb n[aÀN>oXmdê$Z H$mT>Vm ¶oB©b Ago gdm©V C{MV AZw‘mZ R>aob Ago {dYmZ {ZdS>m.
1) Mb^mf ¶§Ìo dmnaUmao bmoH$ ñdV…À¶m Amamo½¶mbm OmoI‘rV Q>mH$VmV.
2) Oa Mb^mf ¶§Ìm§Mm ì¶mnH$ Cn¶moJ Amamo½¶mbm hm{ZH$maH$ Zgob Va ñV§̂ mVyZ hmoUmao àmaU YmoH$mXm¶H$ AgUo

e³¶ Zmhr.
3) Am§Vaamï´>r¶ ‘mJ©Xe©H$ VÎdo H$‘r nmVirÀ¶m àmaUm§nmgyZ Amamo½¶mbm AgUmè¶m Ymo³¶mbm H$‘r boIVmV.
4) Mb^mf ñV§̂ mÀ¶m Odi am{hë¶m‘wio Amamo½¶mbm Agbobm YmoH$m Mb^mf ¶§ÌmÀ¶m dmnamnmgyZ Agboë¶m Ymo³¶mÀ¶m

VwbZoV H$‘r Amho.
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4) Many people who live near to mobile phone masts are worried that radiation from these masts
will damage their health. Mobile phones themselves have also been suspected of emitting
dangerous levels of radiation, and a report recommended that children should be discouraged
from making non-essential calls, Emission of radiation from the masts is much lower than that
from a mobile phone. A few seconds making a phone call is comparable to 24 hours of exposure
from a mast. Radiation from both these sources is below the international guidelines as to what is
a dangerous level, but no one can yet be certain if these guidelines accurately reflect the level of
risk, Select the statement that can be drawn as a most appropriate conclusion from the above
passage.
1) People who use mobile phones are putting their health at risk.
2) If extensive use of mobile phones is not harmful to health, radiation from a mast is unlikely to

be a risk.
3) The international guidelines underestimate the risk to health from low levels of radiation.
4) The health risk from living near a phone mast is lower than that from using a mobile phone.

5) J«oQ> gamodamÀ¶m {H$Zmè¶mdarb D$Om© {Z{‘©Vr Am{U nmUr H$maImÝ¶m§Zm nmUr nwadUmè¶m dm{hÝ¶m {d{eï> àH$maÀ¶m ‘¥XþH$m¶
àmÊ¶m§‘wio Vw§~ë¶m AmhoV. ¶m‘wio H$m¶©àUmbrV AS>MUr ¶oV AmhoV. na§Vw Ooìhm amgm¶{ZH$ H$maImÝ¶m§À¶m CËgJm©À¶m
àdmhmV ¶m qenë¶m§Zr ^aboë¶m {neì¶m Va§JV R>odë¶m Voìhm ’$º$ nmÊ¶mÀ¶m JwUdÎmoV bjUr¶ gwYmaUm Pmbr EdT>oM
Zmhr Va {edm¶ Ë¶m Ë¶m§À¶m AmgnmgÀ¶m ’$º$ nmÊ¶mVyZ JmiyZ KoVbobo eodmi hmdaQ>nUo ’$ñV H$aVmZm Ë¶m
CËgJm©Vrb YmoH$mXm¶H$ Q>mH$mD$ nXmW©hr H$mTy>Z KoVmV Ago AmT>ibo Amho.
Oa gË¶ Agob Va nwT>o {Xboë¶m H$moUË¶m {ZîH$fmªMo, darb n[aÀN>oXmVrb ‘m{hVrÀ¶m AmYmao gdm©V ̂ ¸$‘ g‘W©Z H$aVm
¶oB©b ?
1) Oa ho ‘¥XþH$m¶ àmUr ZXrÀ¶m nmÊ¶mÀ¶m joÌmV ngê$Z Ë¶m§Zr AZoH$ XeHo$ H¥${Ì‘ ‘moË¶m§À¶m CÚmoJmMm AmYma

Agboë¶m ‘yi qenë¶m§Mo CƒmQ>Z Ho$bo Va Vmo CÚmoJ H$mogiob.
2) Oa Ë¶m§Zm CnbãY Agbobo eodmi ho ‘¥XþH$m¶ àmUr ImD$Z g§ndy eH$bo ZmhrV Va H$maImÝ¶m§À¶m nmUrnwadR>m

dm{hÝ¶m Ë¶m‘wio Vw§~Vrb.
3) Oa ¶m ‘¥XþH$m¶ àmÊ¶m§H$Sy>Z CËgJm©Vrb Q>mH$mD$ nXmWmªMo YmoH$m Zgboë¶m nXmWmªV ê$nm§Va Pmbo Zmhr Va Vmo ñdV…M

YmoH$mXm¶H$ àXÿfH$ hmoVrb.
4) ho ‘¥XþH$m¶ àmUr ‘mbdmhÿ OhmOm§VyZ ¶oWo AmUbo Jobo AmhoV Am{U ¶m nm[apñW{VH$sV Ë¶m§Mr g§»¶m Z¡g{J©H$arË¶m

{Z¶§{ÌV hmoV Zgë¶mZo CÎm‘ àH$mao nmogbo OmV AmhoV.
5) The intake pipes of nuclear plants and water plants along Great lakes are clogged by a certain

variety of mussels that proved to be causing nuisance to the working systems. But it is found that
the bags of these calms when suspended in the effluent streams of chemical plants, not only
improves equality of water significantly but also remove some hazardous wastes from effluents
just by feeding voraciously on the algae that they filter from water that passes by it.
Which one of the inferences given below, if true, is most strongly supported on the basis of
information given in the above paragraph ?
1) If these mussels spread to areas of the river and displace native calms that support cultured

pearl industry for decades, that industry will collapse.
2) If the mussels failed to consume the quantity of algae available to them, then the intake pipe of

the nuclear plants and water plants will get clogged by it.
3) If the wastes from the effluents are not transformed into nonhazardous chemicals by these

mussels themselves will become hazardous pollutants.
4) These mussels are brought in this area through freighters and are thriving here since their

population is not controlled naturally in the ecosystem.
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6) nwT>rb n[aÀN>oX H$miOrnyd©H$ dmMyZ ¶w{º$dmXmÀ¶m H|$ÐmMo gdm©V CÎm‘ dU©Z H$aUmao {dYmZ {ZdS>m.
‘mUyg M{bV ¶m ‘mUyg{da{hV àm¡Úmo{JH$s¶ àJV gmJar nmÊ¶mVrb dmhZm§‘wio gm‘w{ÐH$s VÁkm§Zm gmJa VimMo {ZarjU
H$aUo e³¶ Pmbo Amho. ImobmV ~wS>r KoUmè¶m nmU~wS>çm gmJa VimMo àË¶j {ZarjU H$aVmV Am{U ¶mVrb H$mhr
nmU~wS>çm AZoH$ ‘¡b ImobmV ~wS>r KoD$ eH$VmV Am{U 15 hOma ’y$Q> Imobrda àdmg H$aVmV. nmÊ¶mMo Vmn‘mZ, àdmh
Am{U hdm‘mZ ¶mg§~§YrÀ¶m {dXogh {‘imbobr ‘m{hVr O[‘Zrdarb à¶moJemioV naV àjo{nV H$aUmao {dÚwVg§Xoe ¶§ÌUm
g‚m VaVo e§Hy$ XÿañWarË¶m {Z¶§{ÌV H$aVm ¶oVmV. {deofV… D$Om© d AÞ ¶m§À¶mer g§~§{YV ‘mZdOmVrÀ¶m H$mhr J§̂ ra
g‘ñ¶m ¶m nmÊ¶mImbrb dmhZo H$aV Agboë¶m {ZarjUm§À¶m ‘XVrZo gmoS>dUo H$Xm{MV e³¶ hmoB©b.
1) nmÊ¶mImbrb àm¡Úmo{JH$ àJV dmhZo 15 hOma ’y$Q> Imobda àdmg H$ê$ eH$VmV.
2) gVV dmT>Umè¶m bmoH$g§»¶o‘wio AmnU D$Om© d AÞ Q>§MmB©À¶m J§̂ ra g‘ñ¶obm Vm|S> XoV AmhmoV.
3) nmÊ¶mImbrb àJV dmhZo g‘wÐVimg§~§YmZo {dXm Jmoim H$aVmV Am{U {VMm dmna D$Om© d AÞ XþîH$mimer g§~§{YV

g‘ñ¶m gmoS>{dÊ¶mgmR>r H$aVm ¶oB©b.
4) nmÊ¶mImbrb àJV dmhZm§Mo H$m¶©

6) Read carefully following passage and select the statement that best describes focus of argument.

Using technologically advanced manned and unmanned undersea vehicles it is possible for

oceanographers to observe sea floors. Direct observations of the ocean floor are made by deep-

diving submarines and some of these submarines can dive to depths of more than several miles

and cruise at depths of 15 thousand feet. Radio equipped buoys can be operated by remote control

in order to transmit information back to land based laboratory including data about water

temperature, current and weather. Some of mankind's serious problems especially those concerning

energy and food may be solved with the observations made by possible with these underwater

vehicles.

1) Technologically advanced undersea vehicles can cruise at depths of 15 thousand feet.

2) We are facing serious scarcity of energy and food with respect to ever growing population.

3) Advanced underwater vehicles collect information about sea floor which can be used for solving

problems related to energy and food shortage.

4) Functions of advanced undersea vehicles.



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … Vm{H©$H$ VH©$ Am{U {díbofUmË‘H$ j‘Vm  / 56

For Private Circulation Only

(4) {dYmZ Am{U H¥$VrMm ‘mJ©, à{VnmXZ Am{U H$maU, {dYmZmÀ`m
gË`VoMr nS>VmiUr

1) {dYmZ Am{U H¥$VrMm ‘mJ©
2) à{VnmXZ Am{U H$maU
3) {dYmZmÀ`m gË`VoMr nS>VmiUr

1) {dYmZ Am{U H¥$VrMm ‘mJ©
1) npíM‘ ¶wamo{n¶Z g‘mOmVrb d§e ôXm{damoYmVrb Midi AmVm Omoa nH$S>V Amho ¶mbm AmVm ì¶mnH$ ‘mÝ¶Vm {‘imbr

Amho. ì¶mnH$ ñWbm§VamÀ¶m n[aUm‘r {d{dYVobm Am{U ~hþgm§ñH¥${VH$Vobm ‘wº$Ûma XoUmao g‘mO Aëng§»¶ g‘yhm§Zm
^moJmdm bmJUmam ôX^md H$‘r ìhm¶bm hmV^ma bmdV AmhoV. XþX£dmZo d§e ôX AOyZhr ApñVËdmV Amho. dm§{eH$ ̂ oX^md
Ag§Vmof {Z‘m©U H$aVmo Am{U g‘mOdómÀ¶m ZmOwH$ Aem {dUrMr ‘moS>VmoS> H$aVmo d ¶m‘wio XoemMm bdMrH$nUm ApñWa
hmoÊ¶mMr e³¶Vm AgVo.
AYmoao{IV Ho$boë¶m XmoZ {dYmZm§Vrb nañna g§~§YmMo gdm©V C{MV dU©Z H$aUmao {dYmZ {ZdS>m.
1) XmoZ {dYmZm§V H$moUVmhr nañnag§~§Y Zmhr
2) 2 è¶m {dYmZmVrb n[aUm‘ Q>miÊ¶mgmR>r 1 ë¶m {dYmZmVrb H¥$Vr Ho$br OmV Amho.
3) 2 è¶m {dYmZmVrb H¥$Vr H$ê$Z 1 ë¶m {dYmZmVrb n[aUm‘ Q>mibm OmV Amho.
4) XmoÝhr {dYmZo g‘mOmV ApñVËdmV Agboë¶m d§e ôXmMo d Ë¶mÀ¶m n[aUm‘mMo dU©Z H$aVmV.

1) It is now widely acknowledged that the movement against racism in Western European societies

is gaining momentum. Openness to diversity and multicultural societies resulting from mass

immigration have contributed to reduce discrimination suffered by minority groups, unfortunately

racial discrimination Temains prevalent. Racial discrimination can create anarchy and damage

that delicate fabric of society which can undermine a nation's resilience.

Select the statement that describes relationship between underlined statements most appropriately.

1) There is no relation between both the statements.

2) 1st statement is an action that is taken for avoiding effect described in 2nd statement.

3) 2nd statement is an action that is taken for avoiding effect described in 1st statement.

4) Both the statements are describing racial discrimination prevalent in societies and its effect.

2) à{VnmXZ Am{U H$maU
1) Imcrc àíZmV I Am{U II øm XmoZ KQ>Zm {Xcoë¶m AmhoV. XmoÝhr KQ>Zm H$miOrnyd©H$ dmMyZ Ë¶m§À¶mVrc g§~§Ym§Mo ñdê$n

R>adm. I d II ‘Ü¶o {Xcocr ‘m{hVr gË¶ Amho Ago J¥hrV Yê$Z AMyH$ CÎma {ZpíMV H$am.
KQ>Zm :
I) lr har AmJrV ‘maco Joco II) H§$nZr ‘Ü¶o AmJ cmJcr.
n¶m©¶r CÎmao :
1) I hm n[aUm‘ Amho Am{U II ho Ë¶mMo à‘wI H$maU Amho. 2) II hm n[aUm‘ Amho Am{U I ho Ë¶mMo à‘wI H$maU Amho.
3) II hm n[aUm‘ Amho na§Vw I ho Ë¶mMo à‘wI H$maU Zmhr. 4) darcn¡H$s EH$hr ~amo~a Zmhr
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1) In the following question, events I and II are given. You have to read both carefully and decide

their nature of relationship. You have to assume that the given information in I and II are true and

decide the correct answer.

Events :

I) Mr. Hari was killed in a fire.

II) A fire broke out in the company.

Answer Options :

1) I is the effect and II is its principal cause.

2) II is the effect and I is its principal cause.

3) II is the effect, but I is not its principal cause

4) None of the above is correct.

2) IoimSy>§gmR>r ~§Xr KmbÊ¶mV Amboë¶m nXmWmªÀ¶m ¶mXrV nmbH$mV gmnS>Umao E³S>m¶ñQ>oam°Z ho g§OrdH$ g‘m{dï> H$aÊ¶mgmR>r
{e’$mag ~{b©Z BpÝñQ>Q>çyQ> Am°’$ ’$m‘©grÀ¶m d¡km{ZH$m§Zr Ho$br Amho. Ë¶m§À¶m, 'IoimSy>§À¶m àXe©ZmV dmT> hmoB©b' ¶m
^m{H$VmÀ¶m MmMUrgmR>r Ë¶m§Zr Aä¶mg Ho$bm. 'Á¶m gh^mJtZm E³S>m¶ñQ>oam°ZMr ‘mÌm {Xbr Ë¶m§À¶m ñZm¶y§Mo dñVw‘mZ
bjUr¶ Cƒ à‘mUmV dmT>ë¶mMo', Ago Ë¶m§Zm ¶m Aä¶mgmV AmT>ibo.
ñdV…À¶m bmS>³¶m Am°{bìhgmR>r Xþï> bmoH$m§Zm ~S>dÊ¶mnydu nmon¶o nmbH$Mm hdm~§X S>~m ’$moSy>Z CKS>V hmoVm Voìhm Ë¶mMo
dmJUo Z¸$sM gai ZìhVo. Am{U AmVm ho ì¶§JMm[aÍ¶ H$Xm{MV ñdV…Mo A{V‘mZdr gm‘Ï¶© ''CÎmoOH$mMm'' dmna H$ê$Z
{‘idrV hmoVo Ago AmVm O‘©ZrMo d¡km{ZH$ åhUVmV.
darb ‘m{hVrÀ¶m AmYmao IoimSy>§gmR>r E³S>m¶ñQ>oam°ZÀ¶m dmna H$aÊ¶mda ~§Xr AmUÊ¶mMr {e’$mag H$aÊ¶mMo gdm©V
C{MV H$maU {ZdS>m.
1) ì¶º$sÀ¶m ñZm¶y§À¶m dñVw‘mZmV hmoUmar Cƒ à‘mUmVrb dmT> {Vbm A{V‘mZdmMo gm‘Ï¶© {‘idyZ XoVo d Vo Ë¶mbm d

{Vbm CËH¥$ï> àXe©Z (performance) H$aÊ¶mg ‘XV H$aVo.
2) ñZm¶y§À¶m dñVw‘mZmV dmT> H$aV Agë¶mZo E³S>m¶ñQ>oam°Z, CÎmoOH$mMo H$m¶© H$aVo Am{U Aem H$moUË¶mhr ñdê$nmÀ¶m

VmH$X dmT>dUmè¶m H$moUË¶mhr CÎmoOH$mÀ¶m dmnamgmR>r IoimSy>§gmR>r ~§Xr Amho.
3) ñZm¶y§À¶m VmH$XrV Cƒ à‘mUmV hmoUmar dmT> IoimSy>§À¶m Amamo½¶mda {dnarV n[aUmV H$aVo.
4) nmbH$mV E³S>m¶ñQ>oam°Z Agë¶m‘wio Vmo ImÊ¶mZo ì¶º$sÀ¶m ñZm¶y§À¶m dñVw‘mZmV Cƒ à‘mUmV dmT> hmoVo.

2) Scientists at the Berlin’s Institute of Pharmacy have recommended that Ecdysterone, a hormone

found in spinach, be included in the list of prohibited substances for athletes. Scientists conducted

a study for testing their hypothesis, ‘there would be an increase in performance of athletes.’ They

found, ‘significantly higher increase in muscle mass observed in those participants who were

dosed with Ecdysterone.’

Popeye was definitely into something when be ripped open cans of spinach before beating the

bad guys for his beloved Olive. Now, scientists in Germany say that the cartoon character may

well have been “doping” to get his superhuman strength.

Select the most of appropriate reason for recommending prohibition on the use of Ecdysterone

for athletes.

1) Higher increase in muscle mass gives a person superhuman strength that helps him or her to

give the best performance.

2) Ecdysterone, as it increases muscle mass, serves as a dope and any kind of doping is banned

for athletes.

3) Higher increase in muscle power causes adverse effects on athlete’s health.

4) Spinach eating causes increase in muscle mass of the person due to Ecdysterone present in it.



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … Vm{H©$H$ VH©$ Am{U {díbofUmË‘H$ j‘Vm  / 58

For Private Circulation Only

3) {dYmZmÀ`m gË`VoMr nS>VmiUr
1) gy¶©Xe©Z dgmhVrVrb Kao npíM‘m dgmhVrVrb Kam§À¶m VwbZoV ñdñV AmhoV. gmJaXe©Z dgmhVrVrb Kao npíM‘m

dgmhVrVrb Kam§À¶m VwbZoV ‘hmJ AmhoV. ¶m VrZ dgmhVrV gmJaXe©Z‘Yrb Kao gdm©V ‘hmJ AmhoV. n{hë¶m XmoZ
dm³¶mVrb ‘m{hVr gË¶ Agob Va .....
1) ‘m{hVr~Ôb {ZU©¶ KoVm ¶oUma Zmhr
2) ‘m{hVr {ZpíMVnUo gË¶ Amho
3) ‘m{hVr ImÌrnyd©H$ gË¶ Zmhr
4) XmoÝhr {dYmZm§Vrb ‘m{hVr gwg§JV Zgë¶mZo H$mhrhr gm§JVm ¶oUma Zmhr

1) Houses in Suryadarshan Colony are cheaper as compared to West Colony houses. Houses in
Sagardarshan Colony are expensive compared to West Colony houses. Houses in Sagardarshan
are the most expensive among these three colonies. If the information in the first two sentences
is true...
1) Information cannot be decided
2) The information is definitely true
3) The information is not convincingly true
4) As the information in both the statements is inconsistent, nothing can be said

2) ""{‘VmZo O‘Zmda ‘mV Ho$cr"", hm {ZîH$f© Zoh‘r gË¶ R>adUmar XmoZ VÏ¶o AmoiIm.
VÏ¶o :
a) O‘Zm d {‘Vm ¶m XmoKtZr VmZrda ‘mV Ho$cr, Or gdm©V eodQ>r Amcr.
b) {‘Vm Xþgar Amcr.
c) O‘ZmZo VmZrda ‘mV Ho$cr nU Vr n{hcr Amcr Zmhr.
d) {‘VmZo em‘mda ‘mV Ho$cr.
n¶m©¶r CÎmao :
1) (a), (b) 2)(a), (c) 3) (b), (c) 4)(b), (d)

2) Identify two facts that prove conclusion, "Mita beat Jamna" to be always true.
Facts :

a) Jamna and Mita both beat Tani, who finished last.
b) Mita finished runner-up.
c) Jamna beat Tani but did not stand first.
d) Mita beat Shama.

Answer options :

1) (a), (6) 2) (a), (2 3) (b), (c) 4) (b), (d)

3) H$moÊ¶m EH$m g‘whmÀ¶m gd© ì¶º$s¨Zm H$moUË¶mhr àíZmbm XmoZ dm³¶mV CÎmao Úm¶Mr gd¶ Amho Am{U Ë¶mn¡H$s EH$ dm³¶
Zoh‘rM gË¶ AgVo Am{U Xþgao Zoh‘rM AgË¶ AgVo. EH$m àdmemMr ¶m g‘whmÀ¶m VrZ ì¶º$s¨Mr JmR> nS>br.
Ë¶m§À¶mn¡H$s EH$ ì¶º$s S>m°³Q>a Am{U Xþgar, ì¶º$s dH$sb Amho Am{U {Vgar ì¶º$s eoVH$ar Amho. Ë¶m§À¶m ì¶dgm¶mg§~§YrÀ¶m
àíZmbm Ë¶m§Zr {Xbobr CÎmao Aä¶mgm Am{U nwT>rb n¶m©¶m§VyZ gË¶ {dYmZ {ZdS>m.
X … ‘r eoVH$ar Zmhr. Z eoVH$ar Zmhr.
Y … X dH$sb Zmhr. Z eoVH$ar Amho.
Z … X S>m°³Q>a Zmhr. ‘r eoVH$ar Zmhr.
1) X S>m°³Q>a Amho. 2) Y dH$sb Amho.
3) Z eoVH$ar Amho. 4) darbn¡H$s EH$hr {dYmZ gË¶ Zmhr
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3) All persons of a certain community are in a habit of answering any question in two sentences and

one of these is always true and other one is always false. A visitor came across three persons of

this community : one of them is a doctor, another one is a lawyer and third one is a farmer. Study

the reply of these persons to a question about their professions and select the true statement

from the given options.

X : I am not a farmer. Z is not a farmer.

Y : X is not a lawyer. Z is a farmer.

Z : X is not a doctor. I am not a farmer.

1) Xis a doctor. 2) Yis a lawyer.

3) Zis a farmer. 4) None of the above statements are true

4) ‘m{hVr Aä¶mgm Am{U {VÀ¶m g§X^m©V {ZpíMVnUo gË¶ AgUmao {dYmZ {ZdS>m.
C hr dgmhV F, D Am{U G ¶m dgmhVtÀ¶m X{jUobm ~gbr Amho. C Am{U A ¶m dgmhVr E À¶m nyd}bm dgboë¶m
AmhoV Am{U B hr dgmhV C Am{U A À¶m npíM‘obm dgbobr Amho. A Am{U B ¶m dgmhVr G ¶m dgmhVrÀ¶m X{jUobm
dgboë¶m AmhoV.
1) B hr dgmhV E ¶m dgmhVrÀ¶m nyd}bm dgbobr Amho.
2) G hr dgmhV A ¶m dgmhVrÀ¶m npíM‘obm dgbobr Amho.
3) G hr dgmhV B ¶m dgmhVrÀ¶m CÎmaobm dgbobr Amho.
4) E hr dgmhV D ¶m dgmhVrÀ¶m X{jUobm dgbobr Amho.

4) Study the information and select the definitely true statement with respect to it.

Colony C is located to the south of colonies F, D and G. Colonies C and A are located to the east

of E and colony B is located to the west of colonies C and A. Colonies A and B are located to the

south of C.

1) Colony B is located to the east of colony E.

2) Colony G is located to the west of colony A.

3) Colony G is located to the north of colony B.

4) Colony E is located to the south of colony D.

5) g‘mZ YmaH$Vm Agboë¶m agmÀ¶m EHy$U 21 ~mQ>ë¶m AmhoV; Ë¶mVrb 7 nyU© ^aboë¶m, 7 AÜ¶m© ^aboë¶m Am{U
Caboë¶m 7 [aH$må¶m AmhoV. H$moUVohr ‘mnZ gmYZ ZgVmZm 3 {‘Ìm§V Ë¶m gma»¶m dmQy>Z ¿¶m¶À¶m AmhoV. darb
{dXoÀ¶m AmYmao ¶mo½¶ {dYmZ {ZdS>m.
1) àË¶oH$mbm agmZo nyU© ^aboë¶m XmoZ ~mQ>ë¶m, XmoZ [aH$må¶m ~mQ>ë¶m Am{U XmoZ AÜ¶m© ^aboë¶m ~mQ>ë¶m {‘iVrb.
2) àË¶oH$mbm àË¶oH$ àH$maÀ¶m XmoZ ~mQ>ë¶m {‘iVrb Am{U àË¶oH$s EH$m àH$maMr EH$ ~mQ>br ñdrH$mamdr bmJob.
3) ¶m ~mQ>ë¶m VrZ {‘Ìm§V gma»¶m dmQ>Uo Amdí¶H$ Amho.
4) àË¶oH$mbm agmZo nyU© ^aboë¶m 3 ~mQ>ë¶m, 3 [aH$må¶m ~mQ>ë¶m Am{U 1 agmZo {Zå‘r ^abobr nmQ>br {‘iob.

5) There are 21 juice bottles of identical capacity; out of which 7 bottles are full, 7 are half-full and

the remaining 7 are empty to be divided amongst 3 friends equally without having any measuring

device.

Select the correct statement with respect to the above data.

1) Each one will get two full bottles of juice, two empty bottles and two half-full bottles.

2) Each one will get two bottles of each variety and everyone will have to accept a single bottle of

one variety.

3) It is impossible to distribute bottles equally among three friends.

4) Each one will get 3 full bottles of juice, 3 empty bottles and 1 half-filled bottle.
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6) {Xboë¶m EH$m {d{eï> OmZodmar ‘{hÝ¶mV Zo‘Ho$ 4 gmo‘dma d 4 ewH«$dma AmhoV, Va Ë¶m g§~§YmZo nwT>o {Xbobr H$moUVo/
Vr {dYmZ/Zo {ZpíMVnUo gË¶ AmhoV?
{dYmZo …
A) ¶m ‘{hÝ¶mMm n{hbm {Xdg {ZpíMVnUo ~wYdma Amho.
~) ¶m ‘{hÝ¶mV nmM ~wYdma Am{U Mma e{Zdma AmhoV.
H$) ¶m ‘{hÝ¶mVrb eodQ>À¶m Jwédmar 31 VmarI Amho.
S>) hm ‘{hZm ‘§Jidmar gwê$ hmoVmo.
n¶m©¶r CÎmao …
1) ’$º$ A d H$ 2) S> dJiyZ gd©
3) A dJiyZ gd© 4) {dYmZm§Mr gË¶Vm nS>VmiÊ¶mgmR>r nwaoer {dXm {Xbobr Zmhr.

6) A given January has precisely 4 Mondays and 4 Fridays. Which of the following statements is/are

definitely true with respect to this ?

Statements :

a) The first day of this month is definitely a Wednesday.

b) There are five Wednesdays and four Saturdays in this month.

c) The last Thursday of this month falls on date 31.

d) This month starts on a Tuesday.

Answer Options :

1) Only a and c 2) All except d

3) All except a 4) No sufficient data is provided for the verification of statements
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(5) ~¡R>H$, H«$‘ d ‘m§S>Ur ì`dñWm, ‘mZm§H$Z MmMUr, VwbZm
1) ~¡R>H$ì¶dñWm
2) H«$‘ d ‘m§S>Ur ì`dñWm
3) VwbZm d ‘mZm§H$Z

1) ~¡R>H$ì¶dñWm
1) A, ~, H$, S>, n d ’$ ¶m ghm ì¶º$s nañnam§V g‘mZ A§Va amIyZ dVw©imH$ma ~gë¶m AmhoV. nU Ë¶m ¶mM AZwH«$‘mZo

~gboë¶m AmhoV Ago Zmhr. "A' Am{U "n' ho dVw©i ì¶mgmÀ¶m {déÕ Q>moH$m§da ~gbo AmhoV nU "n', "S>' À¶m eoOmar
Zmhr. "A', "H$' À¶m COì¶m ~mOybm AgyZ "~' À¶m eoOmar Zmhr.
darb ‘m{hVrZwgma gË¶ Zgbobo {dYmZ {ZdS>m.
1) "H$' Am{U "S>' dVw©i ì¶mgmÀ¶m {déÕ Q>moH$m§da ~gbobo ZmhrV.
2) "H$' Am{U "~' {ZpíMVnUo dVw©i ì¶mgmÀ¶m {déÕ Q>moH$m§da AmhoV.
3) "S>' À¶m g§X^m©V ì¶mgmÀ¶m {déÕ Q>moH$mda ¶oÊ¶mgmR>r "~' bm "n' À¶m COì¶m hmVmbm ~gmdo bmJob.
4) "~' Am{U "’$' ¶m§À¶m Zo‘³¶m OmJm R>adÊ¶mgmR>r "~' À¶m ñWmZmÀ¶m g§X^m©V A{YH$ ‘m{hVrMr JaO Amho.

1) Six persons namely A, B, C, D, P and F are sitting in a circle keeping equal distance from each
other. But they are not seated in the same order. A and P sit on opposite ends of the diameter of
the circle but not adjacent to P, D. A is on the right side of C and not next to B.
Choose the statement which is not true according to the above information.
1) C and D do not sit on opposite ends of the circle diameter.
2) C and B are definitely on opposite ends of the circle diameter.
3) B has to sit on the right hand side of P to be at the opposite end of the diameter with respect to D.
4) More information is needed regarding the location of B and F to determine the exact location

of B.

2) H$mhr ì¶º$s ~mH$mda ~gë¶m AmhoV. V hr ì¶º$s An À¶m eoOmar Am{U S hr ì¶º$s G À¶m eoOmar Amho. G hr ì¶º$s
Aj À¶m ~amo~a Zmhr. Aj ~mH$mÀ¶m S>mì¶m Q>moH$mbm Am{U S ~mH$mÀ¶m COì¶m Q>moH$mH$Sy>Z Xþgè¶m ñWmZr Amho. V hr ì¶º$s
An À¶m COdrH$S>o Am{U Aj À¶m COdrH$S>o Amho. V Am{U S gmo~VrZo ~gë¶m AmhoV. Oa G Am{U V ¶m§Zr Ë¶m§À¶m
OmJm§Mr ~Xbm~Xb Ho$br Va ¶m ‘m{hVrÀ¶m g§X^m©V {Xboë¶m {dYmZmn¡H$s gË¶ Zgbobo {dYmZmn¡H$s gË¶ Zgbobo {dYmZ
{ZdS>m.
1) Ë¶m§Mr Vm|S>o H$moUË¶m {Xeobm AmhoV ho ‘mhrV Zgë¶mZoñWmZo {Z{üV H$aVm ¶oUma Zmhr.
2) G ‘Yë¶m ñWmZmda Amho.
3) V Q>moH$mÀ¶m ñWmZmda Amho.
4) An XmoZmn¡H$s EH$ Q>moH$mnmgyZ Xþgè¶m ñWmZr Amho.

2) Some persons are sitting on a bench. V is sitting next to An and S is next to G. G is not sitting with
Aj. Aj is on the left end of the bench and S is in second position from right hand end. V is on the
right side of An and to the right side of Aj. V and S are sitting together. If G and V exchange their
positions select the statement that is not true with respect to the given information.
1) Positions cannot be ascertained as the direction they face is not known.
2) G occupies the middle position.
3) V occupies the end position.
4) An occupies the second position from one of the end.
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3) ZD$ {H«$Ho$Q> MmhVo ñQ>o{S>¶‘‘Ü¶o gm‘Zm nhmV AmhoV. Vo EH$m am§JoV ~gbobo Amho. Vo AmhoV - J, K, L, M, N, O, P,

Q Am{U R, L ho M À¶m COdrH$S>o Amho Am{U N À¶m COdrH$S>o {Vgè¶m ñWmZmda AmhoV. K, am§JoÀ¶m EH$m Q>moH$mbm
Amho. Q hm O Am{U P bm bmJyZ ~gbobm Amho. O hm K À¶m S>mdrH$S>o {Vgè¶m ñWmZmda Amho. J, O À¶m S>mdrH$S>o
AJXr nwT>o Amho. am§JoÀ¶m ‘Ü¶^mJr H$moU ~gbm Amho ?
1) I 2) J 3) O 4) Q

3) K, L, M, N, O, P, Q and R. L is at the right of M and at the third place to the right of N. K is at one

end of the row. Q is seated adjacent to both O and P. O is at third place to the left of K. J is right

next to the left of O. Who is seated at the centre of the row ?

1) I 2) J 3) O 4) Q

4) am‘, í¶m‘, gwaoe, M§Xÿ Am{U H$‘bm ho nmM {‘Ì EH$m am§oJV X{jUoH$S>o Vm|S> H$ê$Z {H«$Ho$Q> nmhV AmhoV; AWm©V Vo ¶m
Zm‘H«$‘mZo ~gbobo AgVrb Ago Zmhr. Ho$di í¶m‘ hm am‘ Am{U H$‘bm ¶m§À¶m ‘Ü¶o, Va gwaoe hm H$‘bmÀ¶m COì¶m
~mOybm bJVM Amho Am{U M§Xÿ am‘À¶m S>mì¶m ~mOybm bmJyZM Amho. ¶m ‘m{hVrÀ¶m AmYmamda Imbrb H$moUVo {dYmZ
{ZpíMVnUo gË¶ Amho ?
1) í¶m‘ hm am‘À¶m S>mì¶m ~mOybm Amho. 2) M§Xÿ H$‘bmÀ¶m S>mì¶m ~mOybm {Vgam Amho.
3) í¶m‘ H$‘bmÀ¶m COì¶m ~mOybm Amho. 4) am‘ gwaoeÀ¶m S>mì¶m ~mOybm Xþgam Amho.

4) Five friends Ram, Shyam, Suresh, Chandu and Kamala are watching cricket in a row facing south;

but not necessarily in the same order. Only Shyam is between Ram > and Kamala, Suresh is to the

immediate right of Kamala and Chandu is to the immediate left of Ram. On the basis of the above

information, which of the following statements is definitely true ?

1) Shyam is to the left of Ram 2) Chandu is third to the left of Kamala

3) Shyam is to the right of Kamala 4) Ram is second to the left of Suresh

5) EH$m dV©wimH$ma Q>o~bm ^modVr ghm ì¶º$s ~gboë¶m AmhoV. AmZ§X, hrZmÀ¶m g‘moa AgyZ Vr AaqdXÀ¶m S>mì¶m ~mOybm
d g§O¶À¶m COì¶m ~mOybm ~gbobr Amho. gw‘Z hr AaqdXÀ¶m COì¶m ~mOyg ~gbobr Amho. ‘ZmoO AaqdXÀ¶m g‘moa
~gbobm Amho. Oa hrZm d ‘ZmoO, AaqdX Am{U g§O¶ ¶m§Zr AmngmV AmgZmMr AXbm~Xb Ho$br, Va ‘ZmoOÀ¶m S>mì¶m
~mOybm eoOmar H$moU ~gbobm Agob?
1) g§O¶ 2) AaqdX 3) hrZm 4) gw‘Z

5) Six persons are sitting around a circular table. Anand is facing Heena, who is sitting to the left of

Arvind and to the right of Sanjay. Suman is to the right of Arvind. Manoj is facing Arvind. If Heena

and Manoj, Arvind and Sanjay mutually exchange their positions, who is now sitting next to the

left of Manoj?

1) Sanjay 2) Arvind 3) Heena 4) Suman

6) A{Zb, g§O¶, gw{Zb, XrnH$, ‘hoe, àem§V Am{U gwaoe hr ‘wbo EH$m am§JoV ~gbr AmhoV. gw{Zb, XrnH$ d A{ZbÀ¶m
‘Ü¶o, ‘hoe hm àem§V d gwaoeÀ¶m ‘Ü¶o Am{U g§O¶ hm XrnH$ d àem§V ¶m§À¶m‘Ü¶o Amho. A{Zb d gwaoe XmoÝhr Q>moH$mbm
Amho, Va XrnH$ H$moR>o ~gbm Amho?
1) gw{Zb d g§O¶ ¶m§À¶m‘Ü¶o 2) A{Zb d g§O¶ ¶m§À¶m‘Ü¶o
3) g§O¶ d ‘hoe ¶m§À¶m‘Ü¶o 4) gw{Zb d àem§V ¶m§À¶m‘Ü¶o

6) Anil, Sanjay, Sunil, Deepak, Mahesh, Prashant and Suresh are seated in a row. Sunil is seated

between Deepak and Anil, Mahesh is seated between Prashan and Suresh and Sanjay is seated

between Deepak and Prashant. Anil and Suresh are seated at both ends of the row, then where is

Deepak seated?

1) In the middle of Sunil and Sanjay 2) In the middle of Anil and Sanjay

3) In the middle of Sanjay and Mahesh 4) In the middle of Sunil and Prashant
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7) {Xbobr ‘m{hVr Aä¶mgm …
A, B, C, D Am{U E ¶m ì¶º$s ~mJoVrb ~mH$m§da CÎmaoH$S>o Vm|S> H$ê$Z ~gboë¶m AmhoV. B hr D À¶m COdrH$S>o 40
‘r. A§Vamda Amho. A hr B À¶m X{jUobm 60 ‘r. A§Vamda Amho, C hr D À¶m npíM‘obm 50 ‘r. A§Vamda Amho Am{U
E hr A À¶m CÎmaobm 70 ‘r. A§Vamda Amho. C Am{U E Xaå¶mZÀ¶m H$‘rV H$‘r A§XmOo A§VamMo ‘rQ>a‘Ü¶o gdm©V C{MV
dU©Z H$aUmam n¶m©¶ {ZdS>m.
1) Vo {ZpíMVnUo 90 ‘r. nojm OmñV AgUmaM.
2) Vo {ZpíMVnUo 91 ‘r. nojm OmñV na§Vw 92 ‘r. nojm H$‘r AgUmaM.
3) Vo {ZpíMVnUo 90 ‘r. nojm OmñV na§Vw 91 ‘r. nojm H$‘r AgUmaM.
4) Vo {ZpíMVnUo 91 ‘r. nojm H$‘r AgUmaM.

7) Persons A, B, C, D and E are sitting on benches in the garden facing north. B is 40 m to the right
of D, A is 60 m to the south of B. C is 50 m to the west of D, and E is 70 m to the north of A. Select
most appropriate option that describes approximate minimum distance between C and E in metres.
1) It must be definitely greater than 90 m.
2) It must be definitely greater than 91 m but less than 92 m.
3) It must be definitely greater than 90 m but is less than 91 m.
4) It must be definitely less than 91 m.

8) Imbrb ‘m{hVr dmMm Am{U àýmMo CÎma Úm.
ghm {‘Ì A, B, C, D, E Am{U F H|$ÐmH$S>o Vm|S> H$ê$Z ~§X dVw©imV ~gbo AmhoV. E ho D À`m S>mdrH$S>o Amho. C, A Am{U
B ‘Ü ò Amho. F, E Am{U A À`m ‘Ü ò Amho. B À`m S>mdrH$S>o H$moU Amho?
1) A 2) C 3) D 4) E

8) Read the following information and answer the question.

Six friends A, B, C, D, E and F are sitting in a closed circle facing the centre. E is to the left of D.

C is between A and B. F is between E and A. Who is to the left of B?

1) A 2) C 3) D 4) E

9) ~mJoVrb ~mH$mda ‘r ~gbo Amho ‘mÂ¶mg‘moa qMM, dS>, Om§̂ yi, qnni, Zmai, {MHy$ d gwê$ hr PmS>o AmhoV hr ¶mXr
H«$‘dma Amho Ago Zmhr.
* ‘mÂ¶m COì¶m hmVmbm Agbobm {MHy$ ZmaimÀ¶m eoOmar COdrH$S>o Amho.
* ZmaimMo PmS> gwê$À¶m PmS>mnmgyZ COdrH$Sy>Z Mm¡Wo Amho.
* dS> Am{U qnni hr XmoÝhr PmS>o Om§̂ imÀ¶m eoOmar AmhoV.
* [n§nimÀ¶m S>mdrH$Sy>Z {Vgao Agbobo PmS> ho AmoirÀ¶m EH$m eodQ>mbm Amho.
¶mdê$Z nwT>rbn¡H$s gË¶ Zgbobo {dYmZ {ZdS>m.
1) qMMoMo PmS> AmoirÀ¶m EH$m eodQ>mbm Amho. 2) ZmaimMo PmS> qnnimÀ¶m S>mdrH$S>o bmJyZ Amho.
3) gwê$ dS>mÀ¶m S>mdrH$S>o bmJyZ Amho. 4) {MHy$ qnnimÀ¶m COdrH$Sy>Z Xþgam Amho.

9) I am sitting on a garden bench and in front of me are tamarind, wad, jambhul, pimpal, coconut,
chiku and so on. The list is not in order.
* The chick on my right hand side is right next to the coconut.
* The coconut tree is the fourth from the right from the first tree.
* Both vad and pimpal trees are next to jambhal.
* The tree third from the left of the bulb is at one end of the row.
Choose the statement from the following which is not true.
1) The tamarind tree is at one end of the line.
2) A coconut tree is adjacent to the left side of the lotus.
3) Adjacent to the left side of Suru Ward.
4) Chiku is second from the right of Pimpal.
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10) A, B, C, D, B Am{U F EH$m AmoirV C ô AmhoV. B hm F Am{U D À¶m ‘Ü¶o C^m Amho. E hm A Am{U C À¶m ‘Ü¶o
C^m Amho. A hm F qH$dm D À¶m bJoM nwT>o Zmhr. C hm D À¶m bJoM nwT>o Zmhr. F hm H$moUË¶m OmoS>rÀ¶m ‘Ü¶o C^m
Amho?
1) B Am{U D 2) B Am{U A 3) B Am{U E 4) B Am{U C

10) Six students A, B, C, D, B and F are standing in row. B is between F and D. E is between A and

C. A does not stand next to either F or D. C does not stand next to D. F is between which of the

following pair of students ?

1) B and D 2) B and A 3) B and E 4) B and C

2) H«$‘ d ‘m§S>Ur ì`dñWm
1) EH$m narjogmR>r nmM {df¶ hmoVo. narjm gmo‘dmar gwê$ Pmbr. B{VhmgmÀ¶m AmYr J{UV, ̂ yJmobmZ§Va {dkmZ Am{U ̂ yJmob

d B{Vhmg ¶m§À¶m‘Ü¶o ‘amR>r {df¶ hmoVm. Va narjoMr gwédmV H$moUË¶m {df¶mZo Pmbr ?
1) ‘amR>r 2) J{UV 3) ŷJmob 4) B{Vhmg

1) For an examination, there were FIVE subjects. Examination starts on Monday. Mathematics paper

was previous to History. Science paper was after Geography was after Geography and Marathi

paper was in between Geography and History. Examination starts from which subject ?

1) Marathi 2) Mathematics 3) Geography 4) History

2) A, B, C, D Am{U E dV©‘mZnÌ dmMVmV. Omo àW‘ dmMVmo Vmo C bm XoVmo. Omo eodQ>Mm dmMVmo Vmo A H$Sy>Z KoVbm hmoVm.
E dmMUmam n{hbm qH$dm eodQ>Mm ZìhVm. B Am{U A ‘Ü ò XmoZ dmMH$ AmhoV. d¥ÎmnÌ eodQ>Mo H$moU dmMVo?
1) A 2) B 3) C 4) D

2) A, B, C, D and E read a newspaper. The one who reads first gives it to C. The one who reads last

had taken from A. E was not the first or last to read. There are two readers between B and A. Who

reads the newspaper last?

1) A 2) B 3) C 4) D

3) nwT>rb {Xboë¶m VrZ a§JmÀ¶m {hadm (G), {Zim (B) d bmb (R) IS>çm§À¶m H«${‘H$ ‘mim AmhoV …
X = G G B R B R R B B R

Y = G B R R B R B B R G

Z = R B B R G G B R B R

Oa n{hbm d eodQ>Mm IS>m eoOmar R>odbo Va ¶mVrb H$moUË¶m XmoZ ‘mim g‘mZ hmoVrb?
1) X Am{U Y 2) Y Am{U Z
3) X Am{U Z 4) H$moUË¶mhr XmoZ ‘mim gma»¶m hmoUma ZmhrV

3) Consider the following order of a string of pebbles of three colours, Green (G), Blue (B) and Red

(R) :

X = GGBRBRRBBR

Y = GBRRBRBBRG

Z = RBBRGGBRBR

Which two of them gives us identical necklaces prepared by just making the first and last pebbles

of the string adjacent ?

1) X and Y 2) Y and Z

3) X and Z 4) No one of them are identical
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4) AemoH$Zo ‘mohZnojm C§M CS>r ‘mabr, na§Vw Ë¶mZo MoVZnojm C§M CS>r ‘mabr Zmhr. ZaoeZo H¥$îUmnojm C§M CS>r ‘mabr, na§Vw
Ë¶mZo ‘mohZ EdT>r CS>r ‘mabr Zmhr, Va C§M CS>rMm CVaVm H«$‘ H$gm Agob ?
1) ‘mohZ, MoVZ, AemoH$, Zaoe, H¥$îUm 2) MoVZ, ‘mohZ, AemoH$, Zaoe, H¥$îUm
3) MoVZ, AemoH$, ‘mohZ, Zaoe, H¥$îUm 4) MoVZ, Zaoe, ‘mohZ, AemoH$, H¥$îUm

4) Ashok jumped higher than Mohan but not higher than Chetan. Naresh jumped higher than krishna
but not as high as that of Mohan. Then what is the correct descending order of players considering
their jump ?
1) Mohan, Chetan, Ashok, Naresh, Krishna 2) Chetan, Mohan, Ashok, Naresh, Krishna
3) Chetan, Ashok, Mohan, Naresh, Krishna 4) Chetan, Naresh, Mohan, Ashok, Krishna

5) A, B, C, D, E Am{U F hr ‘wb§ nañnam§H$S>o Vm|S>o H$ê$Z H$mZXþIrMm Ioi IoiÊ¶mgmR>r dVw©imH$ma ~gbobr AmhoV Am{U
Vr ¶oWo {Xboë¶m H«$‘mZo AgVrbM Ago Zmhr. A ho ‘yb F À¶m g‘moa Am{U C À¶m S>mdrH$S>o ~gbo Amho. E ho ‘yb D
qH$dm B À¶m eoOmar Zmhr. B ho ‘yb A À¶m eoOmar Zmhr. Oa B ho ‘yb ñdV…À¶m S>mdrH$S>rb ‘wbmÀ¶m H$mZmV gdm©V
àW‘ Hw$O~wOUma Agob Va n{hë¶m ’o$arÀ¶m eodQ>r H$mZmV g§Xoe ~mobÊ¶mMr g§Yr Z {‘iUmao ‘yb {ZdS>m.
1) ’$º$ D 2) ’$º$ F 3) EH$Va D qH$dm F 4) ’$º$ E

5) Children A, B, C, D, E and F are sitting in a circle facing each other not necessarily in order given
here and playing game Chinese-Whisper. A is sitting opposite to F and to the left of C. E is not
adjacent to either D or B. B is not adjacent to A. If B is the first child to say the message and
whispers in ear of child on its left then select the child who will not get the chance to whisper
message at end of the first round.
1) Only D 2) Only F 3) Either D or F 4) Only E

6) ‘wbm§À¶m ôQ>dñVy dmhÿZ ZoÊ¶mgmR>r g§V {ZH$mocg Ë¶m§À¶m AmR> aoZ{S>AaZm XmoKm-XmoKm§À¶m Mma AmoitV Ow§nUma AmhoV.
Ë¶m§Zr Ë¶m§Mr ì¶{º$JV Zmdo R>odbr Agbr Var dUm©jamZrhr {ZX}{eV Ho$bo AmhoV. Vo aoZ{S>AaZm Mm§Jbo AmoiIVmV Am{U
Ë¶m§À¶m gd¶r {dMmamV KoD$Z Ë¶m§Zm nwT>rb {Z¶‘ bjmV R>odmdo bmJVmV. A bm Zoh‘rM S>mì¶m ~mOybm Ow§nmdo bmJVo,
nU gdm©V ‘mJÀ¶m AmoirV Ow§nyZ MmbV Zmhr. B d C ¶m§Zm n{hë¶m XmoZn¡H$s EH$m AmoirV Ow§nmdo bmJVo nU EH$mM
AmoirV Ow§nÊ¶mMr JaO Zmhr. D bm Zoh‘rM E À¶m nmR>r (bmJyZ) Ow§nmdo bmJVo. F bm Zoh‘rM G À¶m nwT>o Ow§nmdo bmJVo
nU XmoKo EH$mM ~mOybm H$Yrhr ZH$moV Am{U B qH$dm C À¶m eoOmar ZH$mo. H bm Zoh‘rM A nmgyZ e³¶ VodT>çm Xÿa
Ow§nmdo bmJVo nU Vo EH$m AmoirV Ow§nyZ MmbV Zmhr. {Xboë¶m ¶mXrVyZ gdm©V nmR>Mr/À¶m S>mdrH$Sy>Z-COdrH$S>on¶ªV
gdm©V e³¶ OmoS>r/S>çm {ZdS>m.
A) D - G ~) G - D H$) E - G S>) H - G B©) G - H

n¶m©¶r CÎmao …
1) ’$º$ A d B© 2) H$ IoarO gd© 3) ’$º$ A, ~ d B© 4) darb gd©

6) St. Nicolas is trying to arrange his eight reindeers in four rows of two to carry gifts for children.
Though he named them as persons, he also labelled them with letters. He knows his reindeers
well and considering their habits he needs to cbserve the following rules. A must always be on the
left-hand side but not in the rear row. B and C must be in either of the first two rows, but not
necessarily in the same row. D must always be immediately behind E. F must always be ahead of
G but both should be never on the same side and never next to B or C. H must be as far away from
A as possible and not on the same side. Select the possible rear pair/pairs from the given list from
left to right.
a) D-G b) G-D c) E-G d) H-G e) G-H
Answer Options :

1) Only a and e 2) All except c 3) Only a, b and e 4) All of the above
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7) ~¡R>H$sMr H$m¶©dmhr H$aÊ¶mgmR>r {Zir, Jwbm~r, {hadr, {ndir, nm§T>ar d bmb Aem ghm IwÀ¶m© gwg‘ fQ>H$moZmH$ma
Q>o~bmÀ¶m n¥ð>mÀ¶m ~mOy§nmer R>odë¶m AmhoV. Á¶m H$S>onmer {Zir IwMu R>odbr Amho Vr Jwbm~r IwMu R>odboë¶m H$S>obm
g‘m§Va Amho d Vr {ndir IwMu R>odboë¶m H$S>oÀ¶m COì¶m A§Ë¶q~Xÿer 1200 Mm H$moZ H$aVo. nm§T>ar d bmb ¶m IwÀ¶m©
Á¶m H$S>m§nmer R>odboë¶m AmhoV Ë¶m EH$‘oH$s¨er 1200 Mm H$moZ H$aVmV Am{U bmb d {hadr IwMu R>odboë¶m H$S>m
nañnam§er g‘m§Va AmhoV. ¶m ‘m{hVr g§X^m©V nwT>rbn¡H$s {dg§JV AgUmam JQ> {ZdS>m.
1) nm§T>ar, {ndir, {hadr 2) bmb, {hadr, Jwbm~r
3) Jwbm~r, {Zir, {ndir 4) {hadr, bmb, nm§T>ar

7) Six chairs, blue, pink, green, yellow, white and red are placed along the sides of a table having

regular hexagonal top for a group to conduct a meeting. The side at which blue chair is placed is

parallel to the side where pink chair is placed and makes an angle measuring 120° to the right end

of the side where yellow chair is placed. Sides where white and red chairs are placed make an

angle of 120° with each other and sides with red and green chairs are parallel to each other. Select

the odd one among the following groups with respect to the above information.

1) White, yellow, green 2) Red, green, pink

3) Pink, blue, yellow 4) Green, red, white

8) dmhVyH$ ñWmZH$m§V CnbãY OmoS>Ê¶m Aä¶mgm. EH$‘mJu OmoS>Ê¶m Aem AmhoV - C Vo A, E Vo G, B Vo F, D Vo H,

G Vo C, H Vo F d E Vo C. XmoZ ‘mJu OmoS>Ê¶m Aem AmhoV - A Am{U E, G Am{U B, F Am{U D d E Am{U D ¶m§À¶m
Xaå¶mZ AmohV. ¶m ‘m{hVr g§X^m©Vrb MwH$sMm n¶m©¶ {ZdS>m.
1) C Vo H àdmg H$aÊ¶mgmR>r ì¶º$sbm A, E d D ¶m ñWmZH$m§VyZ OmUo Amdí¶H$ Amho.
2) F Vo A OmÊ¶mgmR>r ’$º$ EH$M ‘mJ© CnbãY Amho d Vmo Amho E Am{U D ‘mJ} OmUo.
3) Oa GC ‘mJ© ~§X Ho$bm Va H$moUrhr A bm ôQ> Z XoVm C Vo H OmD$ eH$Vo.
4) D, E d A qH$dm D, E d G ¶m§Zm ôQ> XoD$Z H$moUmbmhr F Vo C àdmg H$aVm ¶oVmo.

8) Study the connection available with transport stations. One way connections are C to A, E to G, B

to F, D to H, G to C, H to F and E to C. Two way connections are between A and E, G and B, , F and

D, and E and D. Select the option that is false with respect to this information.

1) For travelling from C to H one must pass through A, E and D.

2) There is only one rout available for travelling from F to A and it is to pass through E and D.

3) If rout is GC is closed one can travel from C to H without visiting A.

4) One can travel from F to C by visiting either D, E and A or D, E and G.

9) XmoZ KZ Vw‘À¶mg‘moa 'A' S>mdrH$S>o d 'B' COdrH$S>o ¶oVrb AemàH$mao EH$‘oH$m§À¶m eoOmar R>odbo AmhoV.
a) 'A' ¶m KZmÀ¶m {déÕ ~mOy§À¶m n¥ð>m§Mr EH$ OmoS>r bmb Amho Va Xþgar {déÕ n¥ð>m§Mr OmoS>r {Zir Amho. Caboë¶m§n¡H$s

EH$ n¥ð> {ndio Va Xþgao Om§̂ io Amho.
b) 'B' ¶m KZmMmMr ’$º$ EH$M {déÕ OmoS>r {Zir Amho. Caboë¶m OmoS>çm§n¡H$s EH$m OmoS>rVrb {déÕ n¥ð>mn¡H$s EH$

Vn{H$ar d EH$ {hado Va Xþgè¶m OmoS>rVrb {déÕ n¥ð>mn¡H$s EH$ H$mio Va Xþgao nm§T>ao Amho.
c) Oa 'B' Mo {Zio n¥ð> AmH$memH$S>o Agob d 'A' Mo {ndio n¥ð> Ë¶mda R>odbo Agob Va 'A' Mo H$moUVo n¥ð> Vw‘À¶mg‘moa

¶oB©b ?
n¶m©¶r CÎmao …
1) Om§̂ io 2) {Zio 3) {Zio qH$dm bmb 4) {Zio qH$dm Om§̂ io
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9) Two cubes are placed near to each other in front of you in such a way that 'A' is to your left and 'B'

to your right.

a) One pair of opposite faces of cube 'A' is red and another pair of opposite faces is blue. One of

the remaining faces yellow and other one is violet.

b) Only two opposite faces of cube 'B' are blue. One of the remaining pairs of opposite face are

brown and green and one of the other pair of opposite faces ae black and white.

c) If blue face of 'B' is facing sky and yellow face of 'A' is kept above it, then which coloured

surface of 'A' will be facing you ?

Answer options :

1) Violet 2) Blue

3) Either Blue or Red 4) Either Blue or Violet

10) Am§ã¶mMo PmSy> noê$ d qb~yÀ¶m PmS>mÀ¶m ‘Ü¶o Amho. nnB©Mo PmS> qb~yÀ¶m PmS>mOdi Amho nU Am§ã¶mÀ¶m d noê$À¶m
PmS>mOdi Zmhr. nnB©À¶m COdrH$S>o ZmaimMo PmS> Amho nU noê$À¶m PmS>mÀ¶m S>mdrH$S>o H$moUVoM PmS> Zmhr.
Imbrbn¡H$s H$moUVr {dYmZ/Zo ~amo~a Amho/AmhoV?
i) qb~yMo PmS> nnB© Am{U Am§ã¶mÀ¶m PmS>mÀ¶m‘Ü¶o Amho.
ii) nnB©Mo PmS> Zmai Am{U qb~yÀ¶m PmS>mÀ¶m ‘Ü¶o Amho.
ii) nnB©Mo PmS> ZmaimÀ¶m PmS>mOdi Amho.
n¶m©¶r CÎmao …
1) ’$º$ {dYmZo (i) Am{U (ii) ~amo~a AmhoV. 2) ’$º$ {dYmZo (i) Am{U (iii) ~amo~a AmhoV.
3) ’$º$ {dYmZo (ii) Am{U (iii) ~amo~a AmhoV. 4) {dYmZo (i), (ii) Am{U (iii) ~amo~a AmhoV.

10) Mango tree is in the middle of Gauva and Lemon tree. Papaya tree is near the Lemon tree but not

near the Mango tree and Gauva tree. At the right side of Papaya tree is Coconut tree but at the left

side of Gauva tree no any tree.

Which statement/s of following is/are correct ?

i) Lemon tree is between the Papaya and Mango tree.

ii) Papaya tree is between Coconut and Lemon tree.

iii) Papaya tree is near Coconut tree.

Answer Options :

1) Only (i) and (ii) statements are correct 2) Only (i) and (iii) statements are correct

3) Only (ii) and (iii) statements are correct 4) (i), (ii) and (iii) all statements are correct

11) nwñVH$mÀ¶m (shelf) EH$m IUmV A, ~, H$, S>, B© d ’$ hr ghm nwñVHo$ EH$‘oH$m§Zm bmJyZ C^r R>odbr AmhoV. ¶mn¡H$s
~, H$ Am{U S> ¶m nwñVH$m§Mr doï>Zo {Zù¶m a§JmMr AgyZ Caboë¶m nwñVH$m§Mr doï>Zo {haì¶m a§JmMr AmhoV. ¶mVrb S> d
’$ hr nwñVHo$ Joë¶m XmoZ dfm©V àH$m{eV Pmbobr AgyZ ~mH$sMr nwñVHo$ gmV dfm©nydu àH$m{eV Pmbr AmhoV. n¡H$s A,
H$, d S> hr nwñVHo$ H$Wmg§J«h AgyZ Cabobr nwñVHo$ H${dVm g§J«h AmhoV. ¶mVrb {Zù¶m doï>ZmMo H$moUVo nwñVH$ Zì¶mZo
àH$m{eV Pmbobo AgyZ H$Wmg§J«h Amho ?
1) A 2) ~ 3) B© 4) S>

11) Six books A, B, C, D, E and F are placed next to each other in a pile of books. Out of these books

B, C and D have blue covers and remaining books have green covers. Books D and F have been

published in the last two years and the rest of the books have been published seven years ago. Out

of which books A, C and D are Stories collection and remaining books are poetry collection.

Which of these books of Niela Veshtan is newly published and is a collection of stories?

1) A 2) B 3) E 4) D
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3) VwbZm d ‘mZm§H$Z
1) A, B, C d D ¶m {dÚmÏ¶mªH$S>o EHy$U {‘iyZ Vrg nwñVHo$ AmhoV. ¶mVrb EH$mH$S>o VrZ nwñVHo$ AmhoV. Xþgè¶mH$S>o ghm

AmhoV, {Vgè¶mH$S>o ZD$ Am{U Mm¡Ï¶mH$S>o ~mam nwñVHo$ AmhoV. B H$S>o C nojm H$‘r nwñVHo$ AmhoV Va D H$S>o A nojm
OmñV nwñVHo$ AmhoV. Oa C H$S>o D nojm H$‘r nwñVHo$ AgVrb Va gË¶ AgVrbM Ago/Aer ZgUmao/ar {dYmZ/
Zo {ZdS>m.
{dYmZo …
a) A Am{U B ¶m XmoKm§H$S>o {‘iyZ {H$‘mZ 12 nwñVHo$ AgUmaM.$
b) D Am{U A ¶m XmoKm§H$S>o {‘iyZ {H$‘mZ 15 nwñVHo$ AgUmaM.$
c) C Am{U D ¶m XmoKm§H$S>o {‘iyZ {H$‘mZ 18 nwñVHo$ AgUmaM.$
d) C Am{U B ¶m XmoKm§H$S>o {‘iyZ {H$‘mZ 9 nwñVHo$ AgUmaM.$
n¶m©¶r CÎmao …
1) (a) dJiyZ gd© 2) darb gd© 3) darbn¡H$s EH$hr Zmhr 4) ’$º$ (a)

1) Total number of books that students A, B, C and D have is thirty. One of them has three book,

another one is having six, third one is having nine and fourth one is having twelve books. B is

having fewer books than C and D is having more books than A, If C has fewer books than D, then

select the statement/s that/those is/are not necessarily true.

Statements :

a) A and B together must have at least 12 books.

b) D and A together must have at least 15 books.

c) C and D together must have at least 18 books.

d) C and B together must have at least 9 books.

Answer options :

1) All but (a) 2) All of the above 3) None of the above 4) Only (a)

2) {ZYrMo JwUm§H$ Zohm nojm OmñV Amho. hf©Mo JwUm§H$ amHo$e EdT>o Amho. amhÿcMo JwUm§H$ {eVc nojm H$‘r Amho. ZohmMo JwUm§H$
hf© nojm OmñV Amho. {eVcMo JwUm§H$ amHo$e nojm H$‘r Amho. Va gdm©V H$‘r JwUm§H$ H$moUmMo Amho ?
1) {eVc 2) hf© 3) amhÿc 4) {ZYr

2) Nidhi's coefficient is higher than Neha's. Harsh's coefficient is Rakesh's. Rahul's coefficient is

lower than Shital's. Neha's coefficient is higher than Harsh's. Sheetal's coefficient is lower than

Rakesh's. So who has the lowest coefficient?

1) Sheetal 2) Harsh 3) Rahul 4) Nidhi

3) A{POH$S>o àË¶oH$s {d{^Þ dOZo Agbobo A, B, C, D Am{U E ¶m Zm‘{ZX}eZm§Mo bmoI§S>r Jmoio AmhoV. B Mo dOZ A
À¶m dOZmÀ¶m {Zå‘o Amho. B Mo dOZ C À¶m dOZmÀ¶m gmS>oMma nQ>rZo OmñV Amho. D Mo dOZ C À¶m dOZmÀ¶m XþßnQ>
Amho. E Mo dOZ D À¶m dOZmÀ¶m XþßnQ> Amho. A Mo dOZ E À¶m dOZmnojm OmñV Amho, Á¶mMo dOZ C À¶m dOZmnojm OmñV
Amho. Ë¶m§À¶m dOZmÀ¶m MT>Ë¶m qH$dm CVaË¶m H«$‘mZo ‘m§S>Ur Ho$br Var Á¶mMm H«$‘m§H$ ~XbUma Zmhr Agm Jmoim {ZdS>m.
1) D 2) E 3) B 4) C

3) Aziz has iron lumps labeled A, B, c D and E each having different weight.. B weighs half as much

as A. B weighs four and half as muchas C. D weighs twice as much as C. E weighs twice as much

as D, A weighs more than E which weighs more than C. Select the lunip that will not change its

rank if they are arranged according to descending or ascending order of their weights.

1) D 2) E 3) B 4) C
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4) H$, I, J, d K ¶m Mma ì¶º$s¨À¶m JQ>mV XmoZ {ddm{hV OmoS>nr AmhoV. XmoÝhr {ó¶m ñdV…À¶m Zdè¶mÀ¶m VwbZoV ~wQ>³¶m
AmhoV. "H$' gdm©V C§M AgyZ "J' "I' nojm C§M Amho. "K' hm "I' Mm ^mD$ Amho.
¶m ‘m{hVrÀ¶m g§X^m©V nwT>rbn¡H$s MwH$sMo {dYmZ {ZdS>m.
1) Mmahr ì¶º$s¨Mo nañnam§er H$m¡Qw>§{~H$ g§~§Y AmhoV. 2) "I' ì¶º$s Mm¡KmVrb gdm©V ~wQ>H$s Amho.
3) "J', "K' nojm C§M Amho. 4) "H$', "I', Mm Zdam Amho.

4) There are two married couples in a group of four persons A, B, C, and D. Both women are shorter

to their own husbands. C is the tallest and C is taller than B. D is the brother of B.

Choose the incorrect statement from the following regarding this information.

1) All the four persons have family relations with each other.

2) B person is the most shortest of the four.

3) C is taller than D

4) A is the husband of B
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(6) ZmVog§~§Y
1) EH$m JQ>mV A, B, C, D Am{U E Aem nmM ì¶º$s AmhoV. Ë¶mV B, C Mm ^mD$ Amho. ¶m 5 ì¶º$sV EH$ OmoS>no Amho.

E hm Zdam Amho. A Am{U D ‘¡{ÌUr AmhoV Am{U Ë¶m§Zr b¾ Ho$bobo Zmhr. Va E Mr ~m¶H$mo H$moU ?
1) B 2) C 3) D 4) A

1) In a group there are five persons. A, B, C, D and E. B is the brother of C. In these five people there

is one couple. E is the husband. A and D are female friends and they are unmarried. Who is a wife

of "E’ ?

1) B 2) C 3) D 4) A

2) Oa A+B Mm AW© A hr B Mr AmB© Amho; A-B Mm AW© A hr B Mr ~hrU Amho; A × B Mm AW© A ho B Mo dS>rc
AmhoV. Am{U A ÷ B Mm AW© A hm B Mm ^mD$ Amho Va N hm M Mm ‘m‘m Amho ¶m AWm©Mo {dYmZ {ZdS>m.
1) N ÷ P - L + E - M 2) M - Y × P - N + E 3) N - Y + A ÷ M + E 4) N ÷ C + F × M - L

2) If A+B means A is the mother of B; A-B means A is the sister of B; Ax B means A is the father of

B and A+B means A is the brother of B. Then select the statement that means N is the maternal

uncle of M.

1) N ÷ P - L + E - M 2) M - Y × P - N + E 3) N - Y + A ÷ M + E 4) N ÷ C + F × M - L

3) Oa A × B Mm AW© A, B À¶m X{jUobm Amho; A + B Mm AW© Amho A, B À¶m CÎmaobm Amho; A % B Mm AW© A, B

À¶m nyd}bm Amho; A - B Mm AW© A, B À¶m npíM‘obm Amho; 'P % Q + R - S' À¶m g§X^m©V S Mr {Xem {ZdS>m.
1) B©emÝ¶ 2) dm¶ì¶ 3) Z¡F$Ë¶ 4) Am¾o¶

3) If A × B means A is to the south of B; A+B means A is to the north of B; A%B ,means A

is to the east of B; A - B means A is to the west of B; then as per 'P % Q+R-S', select the

direction of S with respect to Q :

1) North-east 2) North-west 3) South-west 4) South-east

4) C Mo U er ZmVo H$m¶ Amho ¶m àíZmg§X^m©V {Xboë¶m nwT>rb {dXoMm nwaonUm {ZpíMV H$am.
{dXm {dYmZo …
A) R Mr ~hrU J {hZo C Mm ^mD$ L er b¾ Ho$bo AgyZ, Vmo AmB©d{S>bm§Mm EH$Q>m ‘wbJm Amho.
~) U hr L Am{U J ¶m§Mr EH$Q>r ‘wbJr Amho.
n¶m©¶r CÎmao …
1) ’$º$ A nwaoer Amho Am{U ~ Mr Amdí¶H$Vm Zmhr.
2) A Am{U ~ ¶m XmoÝhr Amdí¶H$ Am{U nwaoer Amho.
3) ’$º$ A qH$dm ~ nwaoer Amho.
4) A qH$dm ~ ¶m{edm¶ A{YH$ {dXm Amdí¶H$ Amho.

4) Decide sufficiency of data with respect to thé question : How is C related to U ?

Data statment :

a) R’ssister J is married to C’s brother L, who is the only son of his parents.

b) Uis the only daughter of L and J.

Answer Options:

1) Only ais sufficient and b is not necessary. 2) Both a and b are necessary and sufficient.

3) Either a or b is sufficient. 4) Apart from a and b more data is necessary.
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5) gmÝdr hr nm¡{U©‘mMr ‘wbJr Amho. {eënm hr gmÝdrMr AmË¶m Amho. {‘qbX hm {eënmMm EHw$bVm EH$ ̂ mD$ Amho. Va {eënm
hr nm¡{U©‘mMr ......... Amho.
1) ZU§X 2) ^mdO¶ 3) ‘wbJr 4) ~{hU

5) Sanvi is Paurnima's duaghter. Shilpa is Sanvi's auntie. Milind is the only single brother of Shilpa.

Then Shilpa is Paurnima's ..............

1) Sister-in-law 2) Brother's wife 3) Daughter 4) Sister

6) A$B Mm AW© A, B Mo dS>rb AmhoV; A#B Mm AW© A, B Mr ~hrU Amho; A*B Mm AW© A, B Mr ‘wbJr Amho Am{U
A@B Mm AW© A, B Mm ^mD$ Amho. M, Q Mr ~m¶H$mo Amho ho Xe©{dUmam n¶m©¶ {ZdS>m.
1) Q$R#T@M 2) Q$R@T#M 3) Q$R*T#M 4) Q$R@T*M

6) A$B means A is the father of B; A# B means A is the sister of B; A*B means A is the daughter

of and A@B means A is the brother of B. Select the following that indicate 'M' is the wife

of Q'.

1) Q$R#T@M 2) Q$R@T#M 3) Q$R*T#M 4) Q$R@T*M

7) 'C' d 'P' hr ̂ md§S>o 'B' Mr ‘wbo AmhoV nU Vr Ë¶m§Mr AmB© Zmhr. 'C' hr ì¶º$s Ë¶m§À¶m AmB©-d{S>bm§À¶m EHw$bË¶m ‘wbmMm
^mD$ Zmhr. 'A' Am{U 'B' ho OmoS>no Amho. 'Q' hr 'C' Mr ‘wbJr Amho. 'R' hm 'P' Mm ‘wbJm Amho. 'S' Am{U 'P' ho OmoS>no
Amho. 'T' hr 'S' Mr AmB© Amho. AZwH«$‘o ^mMm d AmË¶m ho ZmVo Agboë¶m ì¶º$s¨Mr OmoS>r {ZdS>m.
1) C Am{U R 2) Q Am{U P 3) R Am{U C 4) T Am{U Q

7) ‘C and ‘P’ are siblings and children of ‘B’ but ’B’ is not their mother. ‘C’ is not the brother of only

son of their parents. ‘A’ is the spouse of ‘B’. ‘Q’ is the daughter of ‘C’. ‘R’ is son of ‘P’. ‘S’ is

spouse of ‘P’. "T’ is mother of ’S’. Select the pair of persons who are nephew and aunty from

fathers side respectively.

1) C and R 2) Q and P 3) R and C 4) T and Q

8) ghm OUm§À¶m Hw$Qw>§~mV nwéf d {ó¶m§Mr g§»¶m g‘mZ Amho. Ë¶m§À¶mV XmoZ dS>rb Am{U XmoZ ‘wbJo AmhoV. Ë¶m Hw$Qw>§~mÀ¶m
gXñ¶m§~ÔbMr A{YH$ ‘m{hVr nwT>r {Xbr Amho.
am‘ Hw$Qw>§~mVrb d¶mZo gdm©V ‘moR>m Amho Va ZrVm d¶mZo gdm©V bhmZ Amho. eoVH$ar ho boIH$ d {edm¶ S>m°³Q>a ¶m§Mo dS>rb
Amho. ZrVm, g‘raMr ~hrU Amho d XmoK§hr Hw$‘mad¶rZ AmhoV. Ë¶m§Mr AmB© {e{jH$m Amho. O¶oe Am{U Zm{Xam ho
Hww$Qw>§~mVrb EH$‘od OmoS>no Amho. A°ZmMo b¾ Pmbobo Zmhr d Vr am‘Mr ‘wbJr Amho.
am‘ d boIH$ ì¶º$s ¶m§À¶mVrb ZmË¶mMo dU©Z H$aUmam n¶m©¶ {ZdS>m.
1) am‘ boIZ H$aUmè¶m ì¶º$sMo dS>rb AmhoV. 2) am‘ boIZ H$aUmè¶m ì¶º$sMm Zdam Amho.
3) am‘ boIZ H$aUmè¶m ì¶º$sMm ^mD$ Amho. 4) am‘ boIZ H$aUmè¶m ì¶º$sMm ‘wbJm Amho.

8) There are equal number of men and women in a family of six. There are two fathers and two sons.

Additional information about these family members is as given below.

Ram is eldest and Nita is youngest of the family. The farmer is the father of the writer and also of

the doctor. Nita is Sameer’s sister and both are teenagers. Their mother is a teacher. The only

couple in the family is Jayesh and Nadira. Anna is not married and is the daughter of Ram.

Select the option that describes the relationship between Ram and the writer.

1) Ram is the father of the person who is the writer.

2) Ram is the husband of the person who is the writer.

3) Ram is the brother of the person who is the writer.

4) Ram is the son of the person who is the writer.
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9) Oa P $ Q Mm AW© P, Q Mm ^mD$ Amho; P # Q Mm AW© P, Q Mr AmB© Amho; P * Q Mm AW© P, Q Mr ‘wbJr Amho;
Va 'A # B $ C * D' ¶m {dYmZmVrb dS>rb {ZdS>m.
1) D 2) B 3) C 4) Anwar {dXm

9) If P $ Q means P is the brother of Q; P # Q means F is the mother of Q; P * Q means P is the

daughter of Q; then select the father in the statements ‘A # B $C * D’.

1) D 2) B 3) C 4) Insufficient Data

10) Oa A + B Mm AW© A hr B Mr ~hrU Amho. A x B Mm AW© A hr B Mr ~m¶H$mo Amho; A ÷ B Mm AW© A ho B Mo dS>rb
AmhoV Am{U A - B Mm AW© A hm B Mm ^mD$ Amho, Va T hr P Mr ‘wbJr Amho ¶m AWm©Mo {dYmZ {ZdS>m.
1) P × Q ÷ R + S - T 2) P × Q ÷ R - T + S

3) P × Q ÷ R + T - S 4) P × Q ÷ R + S + T

10) If A + B means A is the sister of B; A × B means A is the wife of B, A ÷ B means A is the father

of B and A - B means A is the brother of B, then select the statement that means T is the daughter

of P.

1) P × Q ÷ R + S - T 2) P × Q ÷ R - T + S

3) P × Q ÷ R + T - S 4) P × Q ÷ R + S + T

11) Oa M σ N Mm AW© M hm N Mm ‘wbJm Amho; M φ N Mm AW© M hr N Mr ~hrU Amho; M l• N Mm AW© M ho
N Mo dS>rb AmhoV, Va C hr E Mr ZmV Amho ¶m AWm©Mo {dYmZ {ZdS>m.
1) E σ B l• F l• C 2) C σ B l• F l• E 3) C φ B σ F σ E 4) B l• F l• E σ C

11) If Mo N means M is the son of N; M o N means M is the sister of N; M l• N means M is the father

of N, then select. the statement that means C is the grand-daughter of E.

1) E σ B l• F l• C 2) C σ B l• F l• E 3) C φ B σ F σ E 4) B l• F l• E σ C

12) P hr N Mr nËZr AgyZ, S hr P Mr ZU§X Amho. R hm P Mm ‘wbJm Amho Am{U T hm N Mm ‘wbJm Amho; Va S {hMo
T er ZmVo H$m¶ ?
1) gmgy 2) AmË¶m 3) ‘mder 4) AmB©H$Sy>Z AmOr

12) P is wife of N and S is sister in law of P and R is the son of P and T is son of N then how is S related

to T?

1) Mother in Law 2) Paternal Aunt 3) Maternal Aunt 4) Maternal Grandmothe

13) Oa 'P × Q' åhUOo P hr Q Mr ~{hU, 'P + Q' åhUOo P hr Q Mr AmB©, 'P - Q' åhUOo P ho Q Mo d{S>b, 'P ÷

Q' åhUOo P ho Q Mm ^mD$, 'P = Q' åhUOo P hr Q Mr H$Ý¶m, 'P > Q' åhUOo P ho Q Mo nVr, Va Imbrbn¡H$s
H$moUVo gyÌ 'B ho R Mo nUOmo~m' åhUyZ àñVwV H$aVo ?
1) B - N + K × R 2) B > P = R 3) R ÷ S = T + B 4) B - S + L - R

13) If 'P × Q' means P is sister of Q, 'P + Q' means P is mother of Q, 'P - Q' means P is father of Q, 'P

÷ Q' means P is brother of Q, 'P = Q' means P is daughter of Q, 'P > Q' means P is husband of Q,

then which of the following represents 'B is the great-grandfather of R'?

1) B - N + K × R 2) B > P = R 3) R ÷ S = T + B 4) B - S + L - R
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14) nwT>rb ‘m{hVr H$miOrnyd©H$ dmMm d Ë¶mdê$Z àíZmMo CÎma {ZdS>m.
a) X hm Y Mm ^mD$ Amho. b) Z hr X Mr ~hrU Amho.
c) M hm N Mm ^mD$ Amho. d) N hr Y Mr ‘wbJr Amho.
M Mo H$mH$m AgUmar ì¶º$s H$moU ?
1) X 2) Y 3) Z 4) N

14) Read the information carefully and using it select the answer to question.

a) X is a brother of Y b) Z is a sister of X

c) M is a brother of N d) N is a daughter of Y

Who is a uncle of M ?

1) X 2) Y 3) Z 4) N

15) A hr B Mr AmB© Amho, C hm A Mm ‘wbJm Amho, D hm E Mm ̂ mD$ Amho, E hr B Mr ‘wbJr Amho. ‘J D Mr AmOr H$moU
Amho?
1) A 2) B 3) C 4) E

15) Given that, A is the mother of B, C is the son of A, D is the brother of E, E is the daughter of B.

Who is the grandmother of D?

1) A 2) B 3) C 4) E

16) A{ZVm ‘hoebm åhUVo Vwbm ‘m‘m ‘mÂ¶m ‘m‘mbm ‘m‘m åhUVmo. Va A{ZVmÀ¶m ‘wbrMo d ‘hoeÀ¶m d{S>bm§Mo ZmVo H$m¶
Agob ?
1)  AmB©-‘wbJm 2) nVr-nËZr 3) ~hrU-^mD$ 4) ‘wbJr-dS>rb

16) Anita says to Mahesh, you are called mama, my mama is called mama. So what will be the rela-

tionship between Anita's daughter and Mahesh's father?

1) Mother-Son 2) Husband-Wife 3) Sister-Brother 4) Daughter-Father

17) ""A'' hr ""~'' Mr AmB© Amho. ""H$'' hr ""A'' Mr ‘wbJr Amho d ""S>'' ho {VMo dS>rb AmhoV. ""n'' hm ""H$'' Mm
Zdam Amho. Va ""~'' Mo ""n'' er ZmVo H$m¶ ?
1) ‘ohþUr
2) ‘ohþUm
3) OmdB©
4) Ë¶m§Mo ZmVo da {Xboë¶m ¶mXrnojm doJio Amho.

17) "A" is the mother of "B". "C" is the daughter of "A" and "D" is her father. "P" is the husband of "C".

So what is the relationship of "B" with "P"?

1) Sister-in-law

2) Brother-in-law

3) Son-in-law

4) Their relationship is different from the above list.
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(7) ‘erZ BZnwQ> Am{U {MÝho, J{UVr` VH©$

1) ‘erZ BZnwQ> Am{U {MÝho
2) J{UVr` VH©$

1) ‘erZ BZnwQ> Am{U {MÝho
1) Imbrb àíZmV @, $, φ d # ¶m {MÝhm§Mm nwT>rbà‘mUo Cn¶moJ Ho$bm Amho.

A φ B åhUOo A hm B nojm ‘moR>m Zmhr.
A $$ B åhUOo A hm B nojm bhmZ qH$dm g‘mZ Zmhr.
A @ B åhUOo A hm B nojm ‘moR>m qH$dm g‘mZ Zmhr.
A # B åhUOo A hm B nojm bhmZ Zmhr.
{dYmZ :  H φ D, T $ D, F $ H

AZw‘mZo … I) F φ D II) T # F III) D $ F

H$moUVo AZw‘mZ/AZw‘mZo gË¶ Amho ?
1) EH$hr gË¶ Zmhr 2) ’$º$ AZw‘mZ (I) gË¶
3) ’$º$ AZw‘mZ (III) gË¶ 4) AZw‘mZo (I) d (II) gË¶

1) In following question the symbols @, $, φ and # are used as follows.

A φ B means A is not greater than B

A $ B means A is neither smaller than or equal to B

A @ B means A is neither greater than or equal to B

A # B means A is not smaller than B

Statement : H φ D, T $ D, F $ H

Conclusion : I) F φ D II) T # F III) D $ F

Which conclusion/conclusions are true ?

1) None of true 2) Only conclusion (I) true

3) Only conclusion (III) true 4) Conclusion (I) and (II) true

2) Am§VaOmb ~±Ho$gmR>rMm OmVrMm nadbr g§Ho$V ghm doJdoJio A§H$ dmnê$Z aMbm Amho. ¶m g§Ho$VmMm n{hbm A§H$ 6,
{Vgam A§H$ 5 Am{U nmMdm A§H$ 2 Amho. Oa Xþgè¶m d {Vgè¶m A§H$mÀ¶m ‘Ü¶o JwUmH$ma {MÝh Am{U {Vgè¶m d Mm¡Ï¶m
A§H$mÀ¶m ‘Ü¶o g‘mZVm {MÝh R>odbo Va ¶mo½¶ JUZà{H«$¶m {XgVo.
{Xboë¶m n¶m©¶mVyZ OrVMm nadcr g§Ho$V {ZdS>m.
1) 645320 2) 635427 3) 635428 4) 635429

2) For Internet banking Jeet’s six digit passcode is composed using six different digits. The first

digit of the passcode is 6, third digit is 5 and the fifth digit is 2. A correct calculation appears if a

sign of multiplication is placed between the second and third digits and the sign of equality is

placed between the third and fourth digits.

Select Jeet’s passcode from given options. .

1) 645320 2) 635427 3) 635428 4) 635429
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2) J{UVr` VH©$
1) EH$m g§¶wº$ Hw$Qw>§~mVrb gdmªn¡H$s 8 gXñ¶ Ho$ir ImV ZmhrV, 7 gXñ¶ nnB© ImV ZmhrV, 6 gXñ¶ noê$ ImV ZmhrV,

5 OU nnB© d noê$ ImV ZmhrV, 2 OU Ho$ir d noê$ ImV ZmhrV, 3 OU nnB© d Ho$io ImV ZmhrV, 2 OU {VÝhr ’$io
ImV ZmhrV. ¶m gd© Hw$Qw>§~ gXñ¶m§Mr EHy$U g§»¶m Xe©dUmam n¶m©¶ {ZdS>m.
1) 21 2) 13
3) 17 4) ho gXñ¶ H$moUVr ’$io ImVmV hr ‘m{hVr Zgë¶m‘wio {Xbobr g§»¶m emoYUo e³¶ Zmhr

1) Among all members of a joint family, 8 members don’t eat banana, 7 don’t eat papaya, 6 don’t eat

guava, 5 don’t eat papaya and guava, 2 don’t eat banana and guava, 3 don’t eat papaya and banana, 2

don’t eat all 3 fruits. Select the option that indicates the total number of these family members.

1) 21 2) 13 3) 17

4) It is not possible to find the number as information about fruits which members eats is not

given.

2) N hm dJm©V 5 ì¶m H«$‘m§H$mda Amho. S hm eodQ>À¶m H«$‘m§H$mdê$Z 8 dm Amho. Oa T hm N Z§Va ghmdm Am{U N Am{U
S À¶m ‘Ü¶^mJr Agob, Va dJm©V {H$Vr {dÚmWu AmhoV ?
1) 23 2) 24 3) 25 4) 26

2) N ranks fifth in the class. S is eightth from the last. If T is sixth after N and just in the middle

of N and S. Then how many students are there in a class ?

1)  23 2) 24 3) 25 4) 26

3) A d B ¶m§Zr X ¶m {R>H$mUmnmgyZ Y ¶m {R>H$mUmn¶ªV ~gZo àdmg H$aÊ¶mMo R>adbo. A Odi 10 én¶o AmhoV Am{U
hr a¸$‘ XmoZ ì¶º$s¨À¶m ~g XamÀ¶m 80% Amho Ago A À¶m bjmV Ambo. ñdV…H$S>o 3 én¶o Agë¶mMo B bm AmT>ibo
Am{U Ë¶mZo Vr a¸$‘ A H$S>o gmondbr. ¶m g§X^m©V n¶m©¶m§VyZ ¶mo½¶ {dYmZ {ZdS>m.
1) A bm 2 {V{H$Q>o KoÊ¶mgmR>r AOyZhr 2 én¶m§Mr JaO Amho.
2) 2 {V{H$Q>o IaoXr Ho$ë¶mZ§Va A H$S>o 50 n¡go {e„H$ am{hbo.
3) AmVm A H$S>o {V{H$Q>o IaoXr H$aÊ¶mgmR>r Zo‘H$s a¸$‘ Amho.
4) AmVm A H$S>o Agbobo n¡go XmoZ {V{H$Q>o IaoXr H$aÊ¶mgmR>r nwaogo ZmhrV.

3) A and B decide to travel from place X to place Y by bus. A has < 10 with him and he finds

that it is 80% of the bus fare of two persons. B finds that he has < 3 with him and hands

it over to A. In this context select to the correct statement from options.

1) A still needs < 2 for buying 2 tickets.

2)  A is left with 50 paise after purchasing 2 tickets

3) NowA has exact money to buy tickets.

4) Now A has not sufficient money to buy two tickets.

4) 1 Vo 10 Mr Mm¡H$Q>-Omir H$ê$Z {XZm, ‘mZy, H$mZy, O¶y d Po~m {R>H$ë¶m IoiV AmhoV. ’$º$ {XZm d ‘mZy ¶m§Zr Ë¶m§À¶m
{R>H$è¶m g‘ H«$‘m§H$m§da CVadë¶m. O¶yMr {R>H$ar gdm©V H$‘r H«$‘m§H$mda CVabr. H$mZyMr {R>H$ar gmVda CVabr.
H$moUmhr XmoZ ì¶º$s¨Zr EH$mM H«$‘m§H$mda Ë¶m§À¶m {R>H$è¶m CVadë¶m ZmhrV. H$moUmMrhr {R>H$ar 1, 5 d 10 da CVabr
Zmhr.
Oa hr ‘m{hVr gË¶ Agob Va {Xboë¶m n¶m©¶m§Vrb H$moUVo {dYmZ ImÌrZo gË¶ Amho.
1) Po~mMr {R>H$ar 9 H«$‘m§H$mda CVabr. 2) H$mZyMr {R>H$ar ‘mZyÀ¶m daÀ¶m H«$‘m§H$mda CVabr.
3) O¶yMr {R>H$ar H«$‘m§H$ 2 da CVabr. 4) ‘mZyMr {R>H$ar H«$‘m§H$ 6 da CVabr.
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4) Dina, Manu, Kanu, Jayu and Zeba are playing hopscotch on a grid with the numbers 1 to 10. Only

Dina and Manu throw their stones onto even numbers. Jayu’s stone lands on lower number than,

anyone else’s. Kanu’s stone lands on number seven. No two persons throw their stone on same

number, Nobody’s stone lands on numbers 1, 5 and 10. If this information is true then select the

definitely true statement from given options.

1) Zeba’s stone land on number 9.

2) Kanu’s stone lands on the higher number than Manu’s.

3) Jayu’s stone lands on number 2.

4) Manu’s stone lands on the number 6.

5) àË¶oH$s 25 ’w$bo Agbobo 5 hma Jw§’$Ê¶mgmR>r 5 ‘wbo ~mJoV ’w$bo Jmoim H$aV AmhoV. Jmoim H$ê$Z Pmë¶mZ§Va R>adboë¶m
doimÀ¶m eodQ>r gdmªH$S>o g‘mZ g§»¶oZo ’w$bo AgVrb ¶mMr ImÌr H$aÊ¶mMm {ZU©¶ Ë¶m§Zr KoVbm hmoVm. Ë¶mVrb Mm¡Km§H$S>o
hmamV Jw§’$Ê¶mgmR>r R>adboë¶m g§»¶onojm ’$º$ 2 ’w$bo H$‘r hmoVr Am{U gdm©V bhmZ ‘wbJr Amdí¶H$V VodT>r ’w$bo Jmoim
H$ê$ eH$br Zmhr. ¶m‘wio gdmªH$S>À¶m ’w$bm§Mr g§»¶m gmaIr H$aÊ¶mgmR>r BVam§n¡H$s àË¶oH$mZo ñdV…H$S>rb ’w$bm§n¡H$s
3 ’w$bo {Vbm {Xbr.
gdm©V bhmZ ‘wbrZo Jmoim Ho$boë¶m ’w$bm§Mr g§»¶m {ZX}{eV H$aUmam n¶m©¶ {ZdS>m.
1) 13 2) 12 3) 8 4) darbn¡H$s EH$hr Zmhr

5) 5 children are collecting flowers in the garden for making 5 garlands using 25 flowers each. They

decided that at the end of the collecting time, they are going to ensure that they all have equal

number of flowers. Four of them are only 2 short of making their garland as was decided and the

youngest child was not able to collect the required number of flowers. So each of the others gave

3 flowers from their collection in order to equalise the number of flowers.

Choose the option that indicates the number of flowers that the youngest child had collected.

1) 13 2) 12 3) 8 4) None of the above

6) P, Q, R, S, T Am{U U hr MwbV ^md§S>o AmhoV. H$moUVrhr XmoZ ^md§S>o gma»¶m d¶mMr ZmhrV; ‘mÌ gdmªMr OÝ‘{VWr
gmaIrM Amho. gdm©V YmH$Q>m hm 17 df} d¶mMm AgyZ, Wmoabm T hm 22 df} d¶mMm Amho. U hm d¶mZo Q Am{U S ¶m§À¶m
‘Ybm Amho. P hm Q nojm ‘moR>m Amho. R hm S nojm ‘moR>m Amho. Oa Q Mo d¶ 17 Agob Va AZwH«$‘o S d R ¶m§À¶m
d¶m§Mr OmoS>r {ZdS>m.
1) 18 Am{U 19 2) 18 Am{U 20 3) 19 Am{U 21 4) 18 Am{U 21

6) P, O,R, S, T and U are cousins. No two cousins are of the same age, but all have birthdays on the

same dates. The youngest is 17 years old and the oldest T is 22. U is somewhere between Q and S

in age. P is older than Q. R is older than S. Select the pair of ages of S and R respectively; if Q is

17 years old.

1) 18 and 19 2) 18 and 20 3) 19 and 21 4) 18 and 21

7) Mmoarbm Joboë¶m Mma MmH$sMm emoY KoVmZm nmo{bgm§Zm VrZ doJdoJù¶m ì¶º$s¨H$Sy>Z nwT>rb ‘m{hVr {‘imbr …
A) JmS>rMm H«$‘m§H$ Mma A§H$s Amho.
~) JmS>rÀ¶m H«$‘mH$m§À¶m ~oaOobm 4 Zo ^mJ OmVmo.
H$) JmS>rÀ¶m H«$‘m§H$mÀ¶m EH$H$ ñWmZr 4 hm A§H$ Amho.
n¶m©¶r CÎmao …
1) UPU 4054 2) WBB 3544 3) DLM 3214 4) MPY 8324
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7) While investigating about a stolen car, the police received information from different persons as

follows :

a) The car number has four digits.

b) The sum of digits of the car number is divisible by 4.

c) The unit place digit of the car number is 4.

Answer Options :

1) UPU 4054 2) WBB 3544 3) DLM 3214 4) MPY 8324

8) dmhZVimda 36 dmhZo EH$m AmoirZo C^r Ho$bobr AmhoV. n{hë¶m H$maZ§Va EH$ ñHy$Q>a, Xþgè¶m H$maZ§Va
XmoZ ñHy$Q>g©, {Vgè¶m H$maZ§Va VrZ ñHy$Q>g© ........... Aem nÕVrZo dmhZo C^r Ho$bobr AmhoV.
AmoirÀ¶m Xþgè¶m AÜ¶m© ^mJmV {H$Vr ñHy$Q>g© AmhoV ho emoYm ?
1) 14 2) 15 3) 16 4) 17

8) 36 vehicles are parked in a parking lot in a single row. After the first car, there is one scooter, after

< the second car, there are two scooters. After the third car, there are three scooters and so on.

Work out the number of scooters in the second half of the row.

1) 14 2) 15 3) 16 4) 17

9) AÜ¶mnH$m§Zr ‘wbm§Zm Jwbm~mMr 21, ‘moJè¶mMr 42 Am{U Omñd§XrMr 56 amonQ>r bmdÊ¶mMr {dZ§Vr Ho$br. àË¶oH$ am§JoV
àË¶oH$ àH$maMr amonQ>r g‘mZ g§»¶oZo AgVrb ¶mà‘mUo amonQ>çm§Mr bmJdS> H$am¶Mr Amho.
darb AQ>tÀ¶m g§X^m©V MwH$sMo {dYmZ {ZdS>m.
1) {Xboë¶m AQ>tZwgma ’$º$ 7 Amoir AgUo e³¶ AmhoV.
2) Oa AÜ¶mnH$m§Zr Omñd§XrMr 7 amonQ>r A{YH$ {Xbr Va {Xboë¶m AQ>rMo g‘mYmZ H$aUmè¶m 3 Amoir H$aUo e³¶ Amho.
3) Oa AÜ¶mnH$m§Zr Omñd§XrMr 7 amonQ>r H$‘r {Xbr Va {Xboë¶m AQ>rMo g‘mYmZ H$aUmè¶m 7 Amoir H$aUo e³¶ Zmhr.
4) Oar Omñd§XrMr 7 amonQ>r H$‘r Agbr Var {Xboë¶m AQ>rMo g‘mYmZ H$aUmè¶m 7 Amoir H$aUo e³¶ Amho.

9) Teacher requested children to plant 21 rose saplings, 42 jasmine saplings and 56 hibiscus sap-

lings. These are to be planted such that each row contains the same number of saplings of each

variety. Select the false statement with respect to above conditions.

1) There would be only 7 rows possible ‘as -per given condition.

2) Itis possible to have 3 rows if teacher gives 7 more saplings of hibiscus that satisfy above

condition.

3) If teacher gives 7 less saplings of hibiscus then it is not possible to have 7 tows that satisfy

given condition.

4) It is possible to have 7 rows that satisfy given condition even if 7 less saplings of hibiscus.

10) Om§̂ yi d {MHy$À¶m {d{dY g§{‘l àH$mam§Mr EHy$U {‘iyZ 48 PmS>o {Oëhm n[afXoÀ¶m emioVrb gd© 36 {dÚmÏ¶mªZr {‘iyZ
Ë¶m§À¶m n[agamV bmdbr. àË¶oH$ ‘wbmZo Om§̂ imÀ¶m OmVrMr VrZ Am{U XmoZ ‘wbtÀ¶m àË¶oH$ JQ>mZo {‘iyZ {MHy$À¶m
OmVrMo EH$ PmS> bmdbo.
1) ¶m emioV ‘wbm§nojm 12 ‘wbr OmñV AmhoV.
2) darb ~m~VrV bmdboë¶m EHy$U PmS>m§Mr g§»¶m Oa 49 Agob, Va Ë¶m emioVrb ‘wbtMr g§»¶m {ZpíMVnUo ‘wbm§nojm

14 Zo OmñV Agob.
3) ¶m emioV 14 ‘wbo AmhoV.
4) darb ~m~VrV bmdboë¶m EHy$U PmS>m§Mr g§»¶m Oa 51 Agob, Va Ë¶m emioVrb ‘wbm§Mr g§»¶m {ZpíMVnUo 13

Agob.
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10) All 36 pupils of the Zilla Parishad School planted in all 48 plants, a mixture of jambhul and chiku

varieties, in their locality. Every boy planted three jambhul varieties and the each group of two

girls planted one chiku variety between them.

Select the statement that is not true with respect to the above information.

1) There are 12 more girls than boys in this school.

2) If the total number of plants planted is 49, then the number of girls in this school is definitely

14, with respect to the above case.

3) There are 14 boys in this school.

4) If the total number of plants planted is 51, then the number of boys in this school is definitely

13, with respect to the above case.

11) àË¶oH$ ‘moR>r H$m|~S>r Xa {Xder gma»¶m à‘mUmV AÞ ImVo Am{U chmZ H$m|~S>çm§~m~Vhr AgoM Amho. EH$ ‘moR>r Am{U
XmoZ chmZ H$m|~S>çm EH$ {XdgmV Hw$ w̧$Q> AÞmÀ¶m 100 Jw{Q>H$m ImVmV. XmoZ ‘moR>çm Am{U VrZ chmZ H$m|~S>çm§Zm
ImÊ¶mgmR>r 175 AÞ Jw{Q>H$m cmJVmV. ¶m ‘m{hVrÀ¶m AmYmao {Xcoë¶m n¶m©¶m§VyZ MwH$sMo {dYmZ {ZdS>m.
1) chmZ H$m|~S>rcm 24 Vmgm§nojm WmoS>çm OmñV H$mimgmR>r ImÚ Úm¶cm 30 AÞ Jw{Q>H$m nwaoem AmhoV.
2) Vr ‘moR>çm d Xhm chmZ H$m|~S>çm§Zm àË¶oH$ {Xder ImÚ XoÊ¶mgmR>r 450 AÞ Jw{Q>H$m cmJVrc.
3) ‘moR>çm H$m|~S>rcm {Xdg^amMo ImÚ åhUyZ 65 AÞ Jw{Q>H$m nwaoem AmhoV.
4) chmZ H$m|~S>rer VwcZm Ho$ë¶mg ‘moR>r H$m|~S>r XþnQ>rZo AÞ ImVo.

11) Each of large chicken consumes equal quantity of food every day and same is the case with the

small chickens. One large and two small chickens feed on 100 pellets of chicken food in a day.

175 pellets of food are needed for feeding two large and three small chickens in a day. Select the

false statement from options on the basis of this information.

1) Thirty pellets are sufficient to feed one small chicken for little longer duration than 24 hours.

2) 450 pellets are needed for feeding three large and ten small chickens every day.

3) For feeding one large chicken for a day 65 pellets are sufficient,

4) Large chicken consumes double quantity of food when compared to small chicken.

12) H$mhr {‘Ì H$~È>r nmhV AmhoV. hmZm 308 ¶m AmgZmda ~gbr Amho. hmZmÀ¶m COì¶m ~mOybm 311 ì¶m AmgZmda ‘§Oy
~gbr Amho. hmZmÀ¶m S>mì¶m ~mOyÀ¶m AmgZmda JJZ ~gbm Amho. Aã~mg JJZÀ¶m S>mì¶m ~mOybm ~gbm Amho. Aã~mg
d JJZ ¶m§À¶m Xaå¶mZÀ¶m VrZ AmgZm§da ¶m gdmªZm An[a{MV Agbobo bmoH$ ~gbo AmhoV. Aã~mg ~gboë¶m
AmgZmMm H«$‘m§H$ {Xboë¶m n¶m©¶m§VyZ {ZdS>m.
1) 313 2) 314 3) 303 4) 302

12) Some friends are watching Kabaddi. Hana is occupying seat 308. Manju is occupying seat 311

that is to the right of Hana. In the seat left to Hana, Gagan is sitting. Abbas is sitting to the left side

of Gagan. Three seats between Abbas and Gagan are occupied by strangers. Select the seat number

occupied by Abbas from the given options.

1) 318 2) 314 3) 303 4) 302

13) Joë¶m amÌr ‘r àíZ‘§OwfoV ^mJ KoVbm Am{U ‘mÂ¶m g§KmZo n{hbo ~{jg qOH$bo. àíZ ‘§OwfoV VrZ ’o$è¶m hmoË¶m. 1 ë¶m
’o$arV àË¶oH$ 1 JwU AgUmao 20 gmono àíZ hmoVo. 2 è¶m ’o$arV àË¶oH$s 2 JwU AgUmao 20 ‘Ü¶‘ àíZ hmoVo. 3 è¶m
’o$arV àË¶oH$s 5 JwU AgUmao 20 H$R>rU àíZ hmoVo. Am‘Mo qOH$Ê¶mgmR>rMo JwU 138 hmoVo Am{U Amåhr ’$º$ ZD$ CÎmao
MwH$sMr {Xbr. Xþgao ~{jg {‘imboë¶m g§KmV MrS> Ambr H$maU Ë¶m§Mo H$‘r àíZ MwH$bo hmoVo. nU Am‘À¶m gwX¡dmZo (ho
WmoS>g§ bm{OadmU§ AgyZhr) BVa XmoZ ’o$è¶m§Vrb àË¶oH$sÀ¶m VwbZoV n{hë¶m ’o$arV (gmono àíZ) Am‘Mo OmñV àíZ
MH$bo hmoVo. Va Amåhr MwH$sMr CÎmao {Xboë¶m n{hë¶m ’o$arVrb àíZm§Mr g§»¶m {ZdS>m.
1) 4 2) 5 3) 7 4) 8
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13) Last night I took part in a quiz night, and my team won first prize. The quiz consisted of three

rounds : Round 1 was 20 easy questions worth 1 point each; Round 2 was 20 medium questions

worth 2 points each; Round 3 was 20 hard questions worth 5 points each. Our winning score was

138 points, having answered just nine questions incorrectly. The runners-up were annoyed because

they had fewer incorrect answers, but fortunately for (us although a little embarrassing) we had

more incorrect answer in Round 1 (the easy questions) than in either of the other two rounds.

Select the number of questions that we answered incorrectly in Round one.

1) 4 2) 5 3) 7 4) 8

14) dm{f©H$ hm°H$s gmIir ñnY}À¶m n{hë¶m Q>ßß¶mV gh^mJr Pmbobo EHy$U 32 g§K 4 JQ>m§À¶m 8 ^mJmV {d^mJbo. àË¶oH$
JQ>mVm§Vrb gd© g§K EH$Xm EH$‘oH$m§~amo~a IoiVmV. Z§Va JQ> {dOoVo ~mX ’o$ar, Cnm§Ë¶nyd© ’o$ar, Cnm§Ë¶ ’o$ar Am{U A§{V‘
’o$ar Aer àJVr H$aVmV. WmoS>³¶mV gd© g§K {H$‘mZ 3 gm‘Zo IoiVmV. Ë¶mMdoir A§{V‘ gm‘Ý¶mV CVabobo XmoZ g§K
ghm gm‘Zo OmVo. JVdfu MH«$dmV g§KmZo 4.75 hr gamgar JmRy>Z "Cƒ gamgar nm[aVmo{fH$' qOH$bo.
JV dfm©À¶m MH«$dmV g§KmÀ¶m àJVrMo dU©Z H$aUmam n¶m©¶ {ZdS>m.
1) ’$º$ n{hë¶m ’o$arn¶ªV 2) ’$º$ Cnm§Ë¶nyd© ’o$arn¶ªV
3) ’$º$ Cnm§Ë¶ ’o$arn¶ªV 4) A§{V‘ ’o$arV nmohmoMbm

14) In the first phase of the annual Hockey Tournament the 32 participating teams are divided into

groups of 4. In each group all the teams play each other once. The group winners progress

to the knockout phase, which consists of quarter-finals, semi-finals and the final. This means

that all the teams play at least 3 matches, whilst the two teams that contest the final play 6

matches. Alongwith awarding the trophy to winning team, the team that makes highest average

number of goals during the tournament is also awarded. Last year the team 'chakravata' won

the 'highest average award' by scoring an average 4.75.

Select the option that describes the last year' progress of 'Chakravata' team.

1) Only till first round 2) Only up to quarter finals

3) Only up to semi-finals 4) Reached to the finals

15) ‘r {VÀ`m {nedrV {H$Vr ’w$bo AmhoV Ago {dMmabo Voìhm ZmZrZo CÎma {Xbo H$s EH$ Jwbm~ nU Xhm AmhoV, gd© H$mZ}eZ
nU Xhm AmhoV Am{U gd© {P{Z`m nU Xhm AmhoV. gd© ’w$bm§À`m `mo½` g§» òMo dU©Z H$aUmam n`m©̀  {ZdS>m.
1) 30 2) 20 3) 15 4) 10

15) When I asked how many flowers she had in her bag, Nani replied that there are al roses but ten, all

carnation but ten and all zinias but ten.

Choose the option that describes correct number of all flowers.

1) 30 2) 20 3) 15 4) 10
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(8) ñWmZ {ZpíMVr MmMUr, {Xem{ZX}e
1) ñWmZ {ZpíMVr
2) {Xem{ZX}e

1) ñWmZ {ZpíMVr MmMUr
1) Jmdm§À¶m nañnagmnoj ñWmZm§Mr ‘m{hVr dmMyZ EH$m aofoda Agboë¶m Jmdm§Mm JQ> Xe©dUmam n¶m©¶ {ZdS>m.

F, D À¶m npíM‘obm 1 {H$‘rda Amho.
B, E À¶m nyd}bm 1 {H$‘rda Amho.
A, E À¶m CÎmaobm 2 {H$‘rda Amho.
C, A À¶m nyd}bm 1 {H$‘rda Amho.
E, D À¶m X{jUobm 1 {H$‘rda Amho.
n¶m©¶r CÎmao …
1) A, C d B 2) A, D d E 3) C, B d F 4) E, B d D

1) Study the information about the mutual positions of villages and select the option that indicates

the group of villages that are in line.

F is 1 km to the west of D.

B is 1 km to the east of E.

A is 2 km to the north of E,

C is 1 km to the east of A.

Eis 1 km to the south of D.

Answer Options :

1) A, C and B 2) A, D and E 3) C, B and F 4) E, B and D

2) amOy Am{U JUy XmoKohr 'P' q~XÿnmgyZ Xÿa MmcV Amho. 'P' q~XÿnmgyZ amOy 3 ‘r. d JUy 4 ‘r. Mmcco. Ë¶mZ§Va amOy
'P' q~XÿÀ¶m CÎmaoH$S>o 4 ‘r. Mmccm Am{U JUy hm amOyÀ¶m X{jUoH$S>o 5 ‘r. Mmccm Va XmoKm§‘Yrc A§Va {H$Vr ?
1) 11.40 ‘r. 2) 19.50 ‘r 3) 5 ‘r. 4) 16 ‘r.

2) Both Raju and Ganu are moving away from the point Raju is 3 m from the point And count 4 m.

walked After that, 4 m to the north of Raju ???? point. Challa and Ganu are 5 m south of Raju. If so,

how much is the distance between the two?

1) 11.40 m. 2) 19.50 m 3) 5 m. 4) 16 m.

3) O{‘b Ë¶mÀ¶m gm¶H$bdê$Z Ë¶mÀ¶m KamÀ¶m nyd}bm 2 {H$‘r Ë¶mÀ¶m ‘¡{ÌUrbm, XmZmbm {VÀ¶m Kar ôQ>m¶bm Jobm. ¶m
{R>H$mUmhÿZ ho XmoZ {‘Ì ñdV§Ì gm¶H$bdê$Z 5 {H$.‘r. X{jUobm Ë¶m§À¶m ‘¡ÌrUrbm, gw‘mbm {VÀ¶m Kar ôQ>m¶bm Jobo.
¶m {R>H$mUmhÿZ ho {VKo {‘Ì ñdV§Ì gm¶H$bdê$Z 9 {H$‘r CÎmaobm, 2 {H$‘r npíM‘obm Am{U eodQ>r 7 {H$‘r X{jUobm
Jobo d ¶oWo Ë¶m§Mr gm¶H$bñdmar g§nbr. H$moU Ë¶mÀ¶m/{VÀ¶m/Ë¶m§À¶m KamÀ¶m gdm©V Odi Amho/AmhoV ?
1) O{‘b Am{U XmZm 2) XmZm Am{U gw‘m 3) O{‘b Am{U gw‘m 4) gw‘m

3) Jamil rides on his cycle 2 km east of his home to meet his friend Dana at her home. From here the

two friends with separate cycles, cycled § km south to meet their friend Suma at her home. From

this point the three friends with separate cycles, cycled 9 km to north, 2 km to west and finally 9

km to south where they complete their ride. Who is closest to her/his/their own home ?

1) Jamil and Dana 2) Dana and Suma 3) Jamil and Suma 4) Suma
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4) gH$mir {Zc‘ gy¶m©À¶m {XeoZo Mmbm¶bm gwédmV H$aVo Am{U 8 {H$‘r MmbVo. Vr 900 À¶m H$moZmV S>mdrH$S>o diVo Am{U
gai 12 {H$‘r MmbVo Am{U nwÝhm 900 À¶m H$moZmV COdrH$S>o diVo Am{U 8 {H$‘r OmVo. Va Vr gwédmVrÀ¶m
ñWimnmgyZ {H$Vr A§Va Xÿa Amho Am{U H$moUË¶m {Xeobm Amho ?
1) 28 {H$‘r nyd}bm 2) 18 {H$‘r B©emÝ¶H$S>o
3) 20 {H$‘r B©emÝ¶H$S>o 4) 20 {H$‘r nyd}H$S>o

4) In the morning Neelam starts to walk towards the Sun and walks 8 km. She turns left at 90° and

goes 12 km, and then again turns right at 90° and goes 8 km. How far and in which direction is she

from her starting point ?

1) 28 km, East 2) 18 km, North-East

3) 20 km, North-East 4) 20 km, East

5) Om°ÝgZ Ë¶mÀ¶m H$m¶m©b¶mH$S>o H$maZo {ZKmbm. Vmo CÎmaoH$S>o 15 {H$‘r Jobm Z§Va 10 {H$‘r npíM‘oH$S>o Jobm. Z§Va Vmo
X{jUoH$S>o diyZ 5 {H$‘r Jobm. nyd}H$S>o diyZ Ë¶mZo 8 {H$‘r A§Va nma Ho$bo. eodQ>r Ë¶mZo COdrH$S>o diyZ 10 {H$‘rMm
àdmg Ho$bm. àma§{^H$ q~XÿnmgyZ AmVm Vmo {H$Vr Xÿa d H$moUË¶m {Xeobm Agob ?
1) 2 {H$‘r, npíM‘ 2) 5 {H$‘r, nyd© 3) 6 {H$‘r, X{jU 4) 7 {H$‘r, CÎma

5) Johnson left for his office in his car. He drove 15 km towards north and then 10 km towards west.

He then turned to the south and covered 5 km. Further, he turned to the east and moved 8 km.

Finally, he turned right and drove 10 km.

How far and in which direction is he from his starting point ?

1) 2km, West 2) 5 km, East 3) 6km,South 4) 7 km, North

6) nmM {‘Ì P, Q, R, S Am{U T Jmoì¶mVyZ ñdV§ÌnUo nmM eham§gmR>r àdmg H$aVmV. åhUOo - MoÞB©, {X„r, h¡Ðm~mX,
H$mobH$mVm Am{U ‘§Jiya Am{U dmhVwH$sÀ¶m {d{dY gmYZm§Zr åhUOo ~g, Q´>oZ, {d‘mZ, H$ma Am{U ~moQ>.
{X„rgmR>r àdmg Ho$boë¶m ì¶º$sZo ~moQ>rMm dmna Ho$bobm Zmhr. R Zo ‘§Jiyabm H$maZo àdmg Ho$bm Am{U S Zo ~moQ>rZo àdmg
Ho$bm. Q Zo H$mobH$mVmgmR>r {d‘mZmZo àdmg Ho$bobm Amho Am{U T Zo Q´>oZZo àdmg Ho$bm. {X„r Am{U MoÞB© Jmoì¶mer
~g‘mJm©Zo OmoS>bobo Zmhr.
Imbrbn¡H$s H$moUVr {R>H$mUo d dmhVyH$ ¶m§Mo g§¶moOZ Iao Amho ?
1) H$mobH$mVm - ~g 2) {X„r - {d‘mZ
3) ‘§Jiya - Q́>oZ 4) MoÞB© - ~moQ>

6) Five friends, P,Q,R,S and T travelled for Goa individually for five cities. i.e. Chennai, Delhi,

Hydrabad, Kolkata and Mangalore by different means of transport. i.e. bus, train, aeroplane,

car and boat

The one who travelled for Delhi didn't use boat. R travelled for Mangalore by car and S travelled

by boat Q travelled by aeroplane for Kolkata and T travelled by train. Delhi and Chennai are

not connected with bus route with Goa.

Which combination of place and transport of the following is true ?

1) Kolkata - bus 2) Delhi - aeroplane

3) Mangalore - train 4) Chennai - boat
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2) {Xem{ZX}e
1) Jmonmi MmbM npíM‘oÀ¶m {XeoZo Jobm. H$mhr A§Va Mmbë¶mZ§Va Vmo COdrH$S>o diyZ MmbV am{hbm. H$mhr A§Va

Joë¶mZ§Va Vmo COdrH$S>o dibm d Mmby bmJbm. Z§Va Vmo S>mdrH$S>o dibm. Va AmVm Ë¶mMo Vm|S> H$moUË¶m {Xeobm Amho?
1) nyd© 2) X{jU 3) npíM‘ 4) CÎma

1) Gopal walked westward. After walking some distance he turned right and continued walking. After

some distance he turned right and started walking. Then he turned to the left. So which direction

is he facing now?

1) East 2) South 3) West 4) North

2) O¶ Ë¶mÀ¶m KamnmgyZ npíM‘oH$S>o H$mhr A§Va MmbV Jobm. Ë¶mZ§Va COdrH$S>o H$mhr A§Va H$mnbo. nwÝhm Vmo S>mdrH$S>o
diyZ H$mhr A§Va MmbV Jobm. Ë¶mZ§Va nwÝhm COdrH$S>o H$mhr A§Va OmD$Z Vmo nwÝhm EH$Xm COdrH$S>o dibm d H$mhr
A§Va H$mnbo d Wm§~bm. Wm§~boë¶m OmJoda Vmo 900 À¶m H$moZmV S>mdrH$S>o dibm Va Ë¶mMo Vm|S> AmVm H$moUË¶m {Xeog
Amho ?
1) nyd© 2) CÎma 3) dm¶ì¶ 4) X{jU

2) Jay walked some distance west from his house. After that, cut some distance to the right. Again he

turned left and walked some distance. After that, after going right again for some distance, he

again turned right and covered some distance and stopped. If he turns to the left at an angle of 900

at a stopped place, in which direction is he now facing?

1) East 2) North 3) Northwest 4) South

3) EH$ gH$mir gy¶m}X¶mZ§Va, EH$m Mm¡H$mV ZdrZ d S>°Zr EH$‘oH$m§g‘moa C ô amhÿZ ~mobV hmoVo. Oa S>°ZrMr gmdbr Zo‘H$s
ZdrZÀ¶m COdrH$S>o Agob, Va S>°ZrMo Vm|S> Á¶m {Xeobm Amho {VMr {ZdS> H$am.
1) nyd© 2) npíM‘ 3) CÎma 4) X{jU

3) One morning after sunrise Navin and Dany were talking to each other face to face at one crossing.

If Dany’s shadow was exactly to the right of Navin, select the direction that Dany was facing.

1) East 2) West 3) North 4) South

4) gy¶m©H$S>o nmR> H$ê$Z A‘rZo Mmbm¶bm gwédmV Ho$br. H$mhr doimZo Vr S>mdrH$S>o dibr, Z§Va COdrH$S>o Am{U S>mì¶m
{Xeobm dibr. Vr OmV Agbobr AmÎmmMr {Xem {ZdS>m.
1) CÎma qH$dm X{jU 2) nyd© qH$dm npíM‘ 3) CÎma qH$dm npíM‘ 4) X{jU qH$dm npíM‘

4) Ami started walking positioning her back towards the Sun. After some time, she turned left, then

turned right and towards the left again. Select the direction in which she is going now.

1) North or South 2) East or West 3) North or West (4) South or West

5) lrH$m§V ‘¡XmZmV CÎmaoH$S>o Vm|S> C^m Amho. Vmo COdrH$S>o diVmo Am{U 30 {H$.‘r. àdmg H$aVmo. Z§Va Vmo S>mdrH$S>o diVo
Am{U 20 {H$.‘r. àdmg H$aVmo. nwÝhm Vmo COdrH$S>o diVo Am{U 40 {H$.‘r. àdmg H$aVmo. nwÝhm Vmo COdrH$S>o diVmo
Am{U 35 {H$.‘r. àdmg H$aVmo. Va AmVm Ë¶mMo Vm§oS> H$moUË¶m {Xeocm Amho ?
1) nyd© 2) Am½Zo¶  3) Z¡F$Ë¶ 4) X{jU

5) Srikant stands facing north on the ground. He turns right and travels 30 km. Then he turns left and

travels 20 km. Again he turns right and travels 40 km. Again he turns right and travels 85 km.

Which direction is he facing now ?

1) East 2) North-East 3) South-West 4) South
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6) EH$m ì¶º$sMo ‘wI npíM‘oH$S>o Amho, Vr ì¶º$s KS>çmù¶mÀ¶m {XeoZo 450 VyZ diVo, nwÝhm KS>çmù¶mÀ¶m {XeoZo 1800 VyZ
diVo Am{U Z§Va KS>çmù¶mÀ¶m {déÕ {XeoZo 2700 VyZ diVo, Va AmVm {VMo ‘wI H$moUË¶m {Xeobm Amho ?
1) npíM‘ 2) dm¶ì¶ 3) CÎma 4) Z¡F$Ë¶

6) A man is facing towards West and turns through 450 clockwise, again 1800 clockwise and then

turns through 2700 anticlockwise. In which direction is the facing now ?

1) West 2) North-West 3) North 4) South-West
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(9) {díbofU, Hy$Q> ‘m{hVrdarb àíZ, g‘ñ`m gmoS>dUo

1) {díbofU d g‘ñ`m gmoS>dUo
2) Hy$Q> ‘m{hVrdarb àíZ

1) {díbofU d g‘ñ`m gmoS>dUo
1) ZmZy eãX Ioi IoiV Amho. EImÚm eãXmV H$moUË¶mhr ñWmZr Ambo Var dUm©jam§Mr qH$‘V ~XbV Zmhr na§Vw àË¶oH$

dUm©jamMr qH$‘V doJdoJir Amho. TEAR, RITE, TREE Am{U ART ¶m eãXm§À¶m {H$‘Vr {Xboë¶m AmhoV na§Vw
H$moUË¶mhr dUm©jamMr qH$‘V {Xbobr Zmhr. ¶m ‘m{hVrg§~§YmZo {Xboë¶m n¶m©¶m§VyZ MwH$sMo {dYmZ {ZdS>m.
1) ’$º$ 1 ë¶m d 2 è¶m eãXm§À¶m {H$‘Vr dmnê$Z H$mhr dUm©jamMr qH$‘V {ZYm©[aV H$aUo e³¶ Amho.
2) {Xbobr ‘m{hVr ’$º$ àË¶oH$s VrZ dUm©jam§À¶m {H$‘VrMo JUZ H$aÊ¶mgmR>r nwaoer Amho.
3) {Xbobr ‘m{hVr T ¶m dUm©jamÀ¶m {H$‘VrMo JUZ H$aÊ¶mÀ¶m Ñï>rZo Anwar Amho.
4) T d R ¶m dUm©jam§Mr EHy$U qH$‘V emoYUo BVam§n¡H$s EH$m dUm©jamÀ¶m ñdV§Ì {H$‘VrMo JUZ H$aÊ¶mgmR>r Amdí¶H$

Amho.
1) Nanu is playing a word game. Each alphabet has the same value whenever it appears but each

alphabet has different value. Information about the word values for TEAR, RITE, TREE and ART
is given but none of the latter values. Select the statement that is false from given options with
respect to given information.
1) It is possible to ascertain the value of some alphabets using values of 1st and 2nd words only.
2) Given information is sufficient for calculating individuals values of three alphabets only.
3) Given information is insufficnet for calculating value of alphabet T.
4) Finding total value of alphabets T and R is necessary for calculating individual value of one of

other the alphabet.

2) Hw$Qw>§~mV AmOr, nVr-nËZr, XmoZ ‘wbJo Am{U XmoZ ‘wbr AmhoV. gd© ‘{hbm§Zm H$m¡Qw>§{~H$ g‘ma§̂ mgmR>r Am‘§{ÌV H$aÊ`mV
Ambo hmoVo Am{U Ë`m§À`mn¡H$s àË òH$mZo `m H$m ©̀H«$‘mV H$mhr ‘hÎdmMr O~m~Xmar ñdrH$mabr Amho. XmoÝhr ‘wb§ ‘°M
Ioim`bm ~mhoa Jobr.
Kar H$moU Amho?
{Xboë`m ‘m{hVrÀ`m g§X^m©V Imbrbn¡H$s H$moUVo VH©$g§JV CÎma `mo½` Amho?
1) KamV ’$º$ AmOrM AgVo H$maU Vr Iyn ‘moR>r Amho
2) ’$º$ {VÀ`m ‘wbm§Mr H$miOr KoÊ`mgmR>r Kar Amho
3) ‘wbm§Mr H$miOr KoÊ`mgmR>r ’$º$ nVr Kar AgVmo.
4) EH$hr ‘{hbm Kar Zmhr

2) In a family there are grandmother, husband and wife, two sons and two daughters. All ladies were
invited to family function and each one of them has accepted some important responsibility in
the function. Both sons went out to play a match.
Who is at home?
Which of the following is the appropriate logical answer with respect to information given?
1) Only grandmother is at home as she is too old
2) Only with is at home to take care of her sons
3) Only husband is at home to take care of sons.

4) None of the lady is at home
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3) Imbrb ‘m{hVr H$miOrnyd©H$ dmMm Am{U àl²ZmMo CÎma Úm.
a) A ho {hb ñQ>oeZ Zmhr. b) B Am{U E hr Eo{Vhm{gH$ {R>H$mUo ZmhrV.
c) D ho Am¡Úmo{JH$ eha Zmhr. d) A Am{U D hr Eo{Vhm{gH$ ehao ZmhrV.
e) A Am{U B EH$gmaIo ZmhrV
XmoZ eham§n¡H$s H$moUVo Eo{Vhm{gH$ {R>H$mU qH$dm Am¡Úmo{JH$ ehao ZmhrV?
1) A Am{U B 2) D Am{U E 3) E Am{U C 4) B Am{U D

3) Read the following information carefully and answer the question.

a) A is not a hill station. b) B and E are not historical places.

c) D is not an industrial city. d) A and D are not historical cities.

e) A and B are not alike

Which of two cities are neither historical place nor industrial cities?

1) A and B 2) D and E 3) E and C 4) B and D

2) Hy$Q> ‘m{hVrdarb àíZ
1) AmnmngmV gdm©V CÎm‘ {ZdS>Ê¶mgmR>r ̂ md§S>m§À¶m XmoZ OmoS>çm, gmhrb Am{U Ë¶mMr ~hrU Zwar Am{U Z°Ýgr d {VMm ̂ mD$

nÌy, ho ~w{Õ~i Ioibo. ’$º$ n{hë¶m gm‘Ý¶mVrb XmoZ IoimSy> ^md§S>o hmoVr. n{hë¶m gm‘Ý¶mV habobm IoimSy> nwT>À¶m
gm‘Ý¶mgmR>r ~mX Ho$bm Am{U qOH$bobm IoimSy> Z§VaMm gm‘Zm Ioibm d ¶mZ§Va ¶mMà‘mUo gm‘Zo Pmbo. Aem arVrZo
’$º$ VrZ gm‘Zo Pmbo. Zwar d {VMm ^mD$ ¶m§Zr Xþgè¶m ^md§S>m§À¶m OmoS>rnojm OmñV gm‘Zo qOH$bo. ‘wb½¶m§Zr XmoZ gm‘Zo
qOH$bo Va ‘wbtZr ’$º$ EH$ qOH$bm. Va gm‘Zm Z habobr ì¶º$s {ZdS>m.
1) gmhrb 2) nÌy
3) Z°Ýgr 4) Z habobr ì¶º$s emoYÊ¶mÀ¶m Ñï>rZo ‘m{hVr nwaoer Zmhr

1) Two pairs of siblings, Sahil and his sister Nuri and Nancy and her brother Pannu, played chess to

decide the best among all of them. The two players were siblings in the first game only. After 1°

game, loser was eliminated; winner played the next game and so on. Thus only three games were

played. Nuri and her brother won more number of games than other pair of siblings. The boys won

two games whereas girls won only one. Select the person who did not lose the game.

1) Sahil 2) Pannu

3) Nancy 4) Data is not sufficient for finding person who did not lose any game.

2) gyMZm : Imcrc {Xcoë¶m {dYmZmÀ¶m ghmæ¶mZo àíZmMo CÎma {chmdo.
M, N, O, P, Q Am{U R ¶m ZmdmÀ¶m ghm B‘maVr añË¶mÀ¶m àË¶oH$ ~mOyg VrZ à‘mUo Cä¶m AmhoV. Ë¶m§Mo a§J {hadm,
{ndim, Om§̂ im, nm§T>am, cmc Am{U {Zim Ago {^Þ a§J AmhoV Am{U Ë¶m§Mr C§Mr hr {^Þ AmhoV. Q hr gdm©V C§M B‘maV
{haì¶m B‘maVrÀ¶m AJXr {déÕ ~mOyg Amho. gdm©V chmZ B‘maV hr Om§̂ ù¶m B‘maVrÀ¶m {déÕ ~mOyg Amho. R

nm§T>è¶m a§JmMr B‘maV hr M Am{U P ¶m§À¶m ‘Ü¶o Amho. O cmc B‘maV hr M À¶m AJXr {déÕ ~mOyg Amho. N Om§̂ ù¶m
a§JmMr B‘maV hr R À¶m AJXr {déÕ ~mOyg Amho. M {Zù¶m a§JmMr B‘maV hr O nojm C§M AgyZ Vr P Am{U N nojm
chmZ Amho. Va gdm©V C§M B‘maVrMm a§J H$moUVm Amho ?
1) {hadm 2) cmc 3) {ndim 4) Om§̂ im
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2) Instructions : Answer the question with the help of the statement given below.

Six buildings named M, N, O, P, Q and R stand three on each side of the road. They have different

colors like green, yellow, purple, white, red and blue and they have different heights. Q is the

tallest building on the opposite side of the green building. The smallest building is on the oppo-

site side of the purple building. The white colored building R is between M and P. The red build-

ing O is on the opposite side of M. The purple colored building N is on the opposite side of the

road. The blue building M is taller than O and shorter than P and N. So what is the color of the

tallest building?

1) Green 2) Red 3) Yellow 4) Purple

3) EH$m AemgH$s¶ g§ñWobm Mma ‘wbm§Zm amÁ¶ñVar¶ gm¶H$b ñnY}gmR>r àm¶mo{OV H$am¶Mo Amho. {ZdS>rgmR>r gma»¶m
j‘VoMr gmV ‘wbo CnbãY AmhoV. am°Oa, VmZy, {g{gbr¶m, A‘Z, YZy, ‘ram Am{U JwÞm hr Vr ‘wbo AmhoV. AemgH$s¶
g§ñWobm EH$m Hw$Qw>§~mVyZ EH$M ‘yb {ZdS>m¶Mo Amho Am{U ‘wbJo d ‘wbr ¶m§Mr g§»¶m g‘mZ R>odm¶Mr Amho. ¶mn¡H$s
{g{gbr¶m, ‘ram d JwÞm ¶m ‘wbr AmhoV. am°Oa d VmZy ho XmoKoM ^mD$ AmhoV. {g{gbr¶m hr EHw$bVm ‘wbJm A‘ZMr
EHw$bVr ~hrU Amho. ‘ram d JwÞm ¶m EH$m Hw$Qw>§~mVrb ZmhrV.
nwT>rb n¶m©¶m§VyZ gdm©V A{YH$ ñdrH$mamh© JQ> {Xboë¶m ‘m{hVrÀ¶m AmYmao {ZdS>m …
1) am°Oa, YZw, A‘Z d {g{gbr¶m 2) VmZy, {g{g{b¶m, ‘ram d A‘Z
3) A‘Z, JwÞm, am°Oa d ‘ram 4) {g{g{b¶m, VmZy, ‘ram d am°Oa

3) An NGO wants to sponsor four children for State Level Cycling Meet. Seven children, equally

competent, are available for selection. They are Roger, Tanu, Sicilia, Aman, Dhanu, Meera and

Gunna. The NGO wants to select only one child from one family and equal number of girls and

boys. Among these Sicilia, Meera and Gunna are girls. Roger and Tanu are two brothers. Sicilia is

the only sister of Aman who is the only son. Meera and Gunna are not from the same family.

Select the most acceptable group from the following options to the NGO :

1) Roger, Dhanu, Aman and Sicilia 2) Tanu, Sicilia, Meera and Aman

3) Aman, Gunna, Roger and Meera 4) Sicilia, Tanu, Meera and Roger

4) g§nyU© amÁ¶mVyZ {ZdS>boë¶m M, N, O, P, Q, R, S d T ¶m Amamo½¶ H$m¶©H$Ë¶mªVyZ Amamo½¶mer g§~§{YV H$m¶©H«$‘m§Mr
A§‘b~OmdUr H$aÊ¶mgmR>r XmoZ M‘y V¶ma H$am¶Mo AmhoV. àË¶oH$ H$m¶©H$Vm© XmoZn¡H$s EH$m M‘yV Agob. EH$m M‘yV
OmñVrV OmñV nmM qH$dm H$‘rV H$‘r Mma H$m¶©H$V} AgVrb. H$m¶©H$Ë¶mªg§~§YrMr H$mhr ‘m{hVr nwT>o {Xbr Amho.
a) Mm§Jbo {‘Ì Agë¶mZo O d M EH$m M‘yV AgVrb
b) eÌwËd Agë¶m‘wio M d T EH$m M‘yV AgUma ZmhrV.
c) O gmo~V R d N ¶m§Mr {ZdS> Ho$br OmUma Zmhr.
d) M d P gmo~V Q Mr {ZdS> hmoB©b na§Vw S gmo~V Ë¶m§Mr {ZdS> Ho$br OmUma Zmhr.
Oa EH$m M‘ygmR>r P d M Mr {ZdS> Ho$br, Va {Xboë¶m n¶m©¶m§VyZ gË¶ {dYmZ {ZdS>m.
n¶m©¶r CÎmao …
1) EH$m M‘yV nmM ì¶º$s AgUma. 2) N ¶m M‘yMr gXñ¶ AgUma.
3) Q AÝ¶ M‘yMr gXñ¶ AgUma. 4) S ¶m M‘yMr gXñ¶ ZgUma.
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4) Two teams are to be compiled from health workers M, N, O, P, Q, R, S and T selected from all

over the State for executing health related programmes. Each worker will be in either of the

teams and one of the teams can accommodate at the most-five or at least four workers. Given

below is some more information about the workers.

a) Being best friends O and M would be in the same team.

b) Being rivals M and T will not be in the same team.

c) R and N will not be selected along with O.

d) Q will be selected with M and P but not with S.

If P and M are selected for a team, then select the true statement from the given options.

Answer Options :

1) One of the teams has five persons. 2) Nis the member of this team.

3) Qzis in the other team. 4) Sis not the member of this team.

5) A) amoZy, A°Zm, {~~m, {MZy, gmZm d {XZm ¶m ghm ‘wbtn¡H$s àË¶oH$ OU V~bm, drUm d ìhm¶mobrZ ¶mn¡H$s H$moUVo Var
dmÚ dmOdVo, na§Vw H$mhr dmÚo XmoZ ‘wbr dmOdVmV.

~) a{ddma dJiyZ AmR>dS>çmÀ¶m doJdoJù¶m {Xder àË¶oH$sMm dmT>{Xdg AgVmo.
H$) A°Zm gmo‘dmar OÝ‘bobr Zmhr Am{U drUm dmOdV Zmhr. EH$ ‘wbJr V~bm dmOdVo d Vr ewH«$dmar OÝ‘br Amho.

{~~m ìhm`mocrZ dmOdVo, nU Vr A°ZmÀ¶m EH$ {Xdg AmYr OÝ‘br. {XZm e{Zdmar OÝ‘br Am{U Vr drUm d
ìhm`mocrZ dmOdV Zmhr.

S>) amoZy dmOdVo VoM dmÚ {MZy dmOdVo. amoZy hr A°ZmÀ¶m dmT>{XdgmÀ¶m Z§Va Xþgè¶m {Xder, Jwédmar OÝ‘br. amoZy drUm
dmOdVo.

drUm dmOdUmè¶m amoZynojm BVa ì¶º$sMm dmT>{Xdg {ZX}{eV H$aUmam n¶m©¶ {ZdS>m.
1) gmo‘dma 2) ‘§Jidma 3) ~wYdma 4) {dXm nwaoer Zmhr

5) a) Among Ronu, Ana, Biba, Chinu, Sana and Dina, everyone can play one of the musical

instruments, tabla, veena and violin but some instruments are played by two girls,

b) The birthday of each girl is on a different day of the week and is on a day other than Sunday.

c) Ana is not born on Monday and cannot play veena. One girl playing tabla is born on Friday.

Biba plays violin but she is born one day before Ana. Dina is born on Saturday and she doesn’t

play violin or veena.

d) Chinu plays the instrument that is played by Ronu. Ronu was born on Thursday, the second day

after the birthday of Ana. Ronu plays veena.

Select the birthday of the person, other than Ronu, who plays the veena.

1) Monday 2) Tuesday 3) Wednesday 4) Insufficient data

6) gwÅ>rgmR>r nmM ‘¡{ÌUtZm EH$ {‘iyZ AmgnmgÀ¶m EImÚm Jmdr Om¶Mo hmoVo. nU H$moR>o Om¶Mo ho R>adUo Ë¶m§Zm H$R>rU OmD$
bmJbo. OmB© d ‘mZmo ¶m§Zm nmZobm Om¶Mo, Va ’o$Uo hr Ë¶m§Mr Xþgè¶m H«$‘m§H$mMr {ZdS> hmoVr. H$mbrbm ‘mHo$ ¶oWo Om¶Mo
hmoVo Va {bbrMr n{hbr {ZdS> JwQ>o hmoVr Am{U ZmPMr Q>|~o hr hmoVr. ZmP d H$mbr ¶m XmoKm§Zr {‘iyZ ’o$Uobm Xþgar ng§Vr
{Xbr Va {bbrZo Vo {Vgè¶m H«$‘mda {ZdSy>Z Q>|~oMr Xþgè¶m H«$‘mda {ZdS> H$aÊ¶mbm ng§Vr {Xbr. H$mbr d ‘mZr ¶m§Zr
Q>|~oMr {Vgè¶m H«$‘m§H$mda {ZdS> Ho$br. OmB©Mr {Vgar {ZdS> JwQ>o hmoVr Va ZmPMr ‘mHo$. ¶m ‘¡{ÌUtZr 1ë¶m {ZdS>rbm
VrZ 2è¶m {ZdS>rbm XmoZ Am{U 3è¶m {ZdS>rbm EH$ ¶mZwgma JwU {ZYm©[aV H$aÊ¶mgmR>r Ë¶m gh‘V Pmë¶m. Oa EImXo
{R>H$mU H$moUmMrhr n{hë¶m H«$‘mMr {ZdS> Zgob Va VoWo Om¶Mo Zmhr Agm {ZU©¶ Ë¶m§Zr KoVbm. Va Ë¶m gwÅ>rgmR>r Jobobm
Jmd {ZdS>m.
1) ’$º$ Q>|~o 2) nmZo qH$dm Q>|~o 3) ’$º$ ’o$Uo 4) ‘mHo$ qH$dm JwQ>o
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6) Five friends wanted to go on holiday together to one nearby village, but they found it difficult to

decide where to go. Jai and Mano both wanted to go to Pane, with Fene as their second choice.

Kali wanted to go to Make, while Lily's first choice was Gute and Naz's was tembe. Naz and Kali

both put Fene as their second choice, while Lily gave it as her third choice, preferring Tembe as

her second choice. Kali and Mano put Tembe as their third choice. Jai's third choice was Gute and

Naz's was Make. They agreed to allocate three points for a 1st choice, two points for a 2nd choice

and one point for 3rd choice. The friends decided that they would not go anywhere which was not

someone's first choice. Select the lace they did go for holiday.

1) Only Tembe 2) Pane or Tembe 3) Only Fene 4) Make or Gute

7) X¶m, ‘m¶m, gm¶m, {O¶m d {Z¶m ¶m J¥{hUr AmhoV d Ë¶m§Mm JQ> Ë¶m§À¶m dgmhVrVrb ~mJoMr H$miOr KoVmo. Ë¶m§Zm gwÅ>rV
eobm, H$moQ>m, ‘mohm, hoQ>m Am{U ~obm ¶m {R>H$mUm§Zm ôQ> Úm¶Mr hmoVr. Ë¶m§Zr ‘mM©, OyZ, gßQ>|~a, Zmoìh|~a Am{U {S>g|~a
ho ‘{hZo ¶m gwÅ>rgmR>r {ZdS>bo. nwT>o H$mhr A{YH$Mr d g§~§{YV VÏ¶o {Xbr AmhoV.
{O¶mZo {S>g|~a‘Ü¶o gwÅ>r KoVbr nU ‘mohm qH$dm hoQ>mbm ôQ> {Xbr Zmhr. ‘m¶m OyZ‘Ü¶o eobmbm Jobr. X¶m H$moQ>mbm Jobr
nU ‘mM© qH$dm gßQ>|~a‘Ü¶o Zmhr. {Z¶m ‘mM©‘Ü¶o gwÅ>rda Jobr na§Vw hoQ>mbm nydu ôQ> {Xë¶m‘wio Vr VoWo Jobr Zmhr.
Zmoìh|~a‘Ü¶o gwÅ>r KoVboë¶m ì¶º$sMo Zmd {ZdS>m.
1) X¶m 2) gm~m 3) X¶m qH$dm gm¶m 4) {dXm nwaoer Zmhr

7) Daya, Maya, Saya, Jia, and Nia are housewives and their team takes care of the garden in their

colony. They wanted to visit places Shela, Kota, Moha, Heta and Vela for vacation. They choose

to take these holidays in the month of March, June, September, November and December.

Following are some additional, related facts.

Jia took holiday in December but did not visit Moha or Heta. Maya went to Shela in June. Daya

went to Kota but not in March or September. Nia went for holiday in March but as she had visited

Heta, she did not go there.

Select the person who went on holiday in November.

1) Daya 2) Saya 3) Daya or Saya 4) Data is insufficient

8) AmnmngmV gdm©V CÎm‘ {ZdS>Ê¶mgmR>r ̂ md§S>m§À¶m XmoZ OmoS>çm, gmhrb Am{U Ë¶mMr ~hrU Zwar Am{U Z°Ýgr d {VMm ̂ mD$
nÞy, ho ~w{Õ~i Ioibo. ’$º$ n{hë¶m gm‘Ý¶mVrb XmoZ IoimSy> ^md§S>o hmoVr. n{hë¶m gm‘Ý¶mV habobm IoimSy> nwT>À¶m
gm‘Ý¶mgmR>r ~mX Ho$bm Am{U qOH$bobm IoimSy> Z§VaMm gm‘Zm Ioibm d ¶mZ§Va ¶mMà‘mUo VrZ gm‘Zo Pmbo. Zwar d
{VMm ̂ mD$ ¶m§Zr Xþgè¶m ̂ md§S>m§À¶m OmoS>rnojm OmñV gm‘Zo qOH$bo. ‘wbm§Zr EH$ gm‘Zm qOH$bm Va ‘wbtZr XmoZ qOH$bo.
Va {Vgam gm‘Zm qOH$bobr ì¶º$s {ZdS>m.
1) Zwar 2) Z°Ýgr
3) gmhrc qH$dm nÞy 4) CÎma emoYÊ¶mgmR>r A{YH$ ‘m{hVrMr JaO Amho

8) Two pairs of siblings, Sahil and his sister Nuri and Nancy and her brother Pannu, played chess to

decide the best among all of them. The two players were siblings in the first game only. After 1st

game, loser was eliminated; winner played the next game and so on. They played three games in

all. Nuri and her brother won more number of games than other pair of siblings. The boys won one

game only whereas girls won two. Select the person who did win in 3 game.

1) Nuri 2) Nancy

3) Sahil or Pannu 4) More data is needed to find the answer
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9) P, Q, R, S, T Am{U U ¶m ì¶º$s h[aV H$m¶©H$Ë¶m© AmhoV. ¶mVrb EH$ ì¶º$s AÜ¶mnH$, EH$ ì¶º$s Amamo½¶ godH$, EH$
ì¶º$s MhmMr Q>nar MmbdVo, EH$ ì¶º$s J«§Wnmb Am{U XmoZ {ó¶m eoVH$ar AmhoV. ¶m JQ>mV XmoZ {ddm{hV OmoS>nr AmhoV.
J«§Wnmb ì¶º$sZo S er {ddmh Ho$bm Amho, Or eoVH$ar Amho. JQ>mVrb EH$hr ór MhmMr Q>nar MmbdV Zmhr qH$dm Amamo½¶
godH$hr Zmhr. R hr ì¶º$s MhmMr Q>nar MmbdVo {VZo U øm ì¶º$ser {ddmh Ho$bm Amho, Or AÜ¶mnH$ Amho. P Zo S
er {ddmh Ho$bm Amho Am{U T hr ì¶º$s eoVH$ar Zmhr. {Xboë¶m n¶m©¶m§VyZ AgË¶ {dYmZ {ZdS>m.
1) JQ>mVrb {ó¶m§Mr EHy$U g§»¶m {ZpíMV H$aUo e³¶ Zmhr.
2) Or ì¶º$s J«§Wnmb Amho Vr Z¸$sM ór Zmhr.
3) Or ì¶º$s MhmMr Q>nar MmbdVo Vr Z¸$sM JQ>mVrb nwéf gXñ¶ Amho.
4) ¶m JQ>mV Z¸$sM VrZ ór gXñ¶ AmhoV.

9) P, Q, R, S, T and U are green activists. One is a teacher, one is a health worker, one runs a tea stall,

one is a librarian and two ladies are farmers. There are two married couples in this group. The

librarian is married to S who is a farmer. None of the women in the groups runs a tea stall or a

nurse. R runs the tea stall and is married to U who is a teacher. P is married to S and T is not a

farmer. Select the statement that is false from given options.

1) It is not possible to ascertain total number of women members of the group.

2) The person who is librarian is definitely not a women.

3) The person who runs a tea stall is definitely male members of the group.

4) There are definitely three female members in the group.

10) Imbrb ‘m{hVr Aä¶mgm Am{U {dMmaboë¶m àíZm§Mr CÎmao Úm …
P, Q, R, S, T, U Am{U V ho doJdoJù¶m VrZ dmhZmZo àdmg H$aVmV. àË¶oH$ dmhZmZo {H$‘mZ XmoZ àdmgr àdmg H$aVmV.
H$ma, [ajm Am{U bm°ar ho dmhZo AgyZ àË¶oH$ dmhZmV XmoÝhr qbJr àdmgr AmhoV. Ë¶mV XmoZ ì¶mnmar, XmoZ d¡Ú Am{U
VrZ dH$sb AmhoV. 'R' hr ór d¡Ú AgyZ Vr Amnë¶m XmoZ ~{hUr P Am{U U ¶m§À¶m g‘doV àdmg H$arV Zmhr. Q
ho nwéf ì¶mnmar AgyZ Vo ’$º$ V dH$sb g‘doV H$maZo àdmg H$aVmV. S ho nwéf d¡Ú Amho. XmoZ gma»¶m ì¶dgm¶m§Mr
ì¶º$s EH$mM dmhZmZo àdmg H$arV Zmhr. P ho ì¶mnmar Zmhr Am{U Vo [ajmZo àdmg H$aVmV.
R ho H$moUË¶m dmhZmZo àdmg H$aVmV?
1) H$ma 2) [ajm 3) bm°ar 4) [ajm AWdm bm°ar

10) Study the following information carefully and answer the questions given below :

P, Q, R, S, T, U and V are travelling in three different vehicles. There are at least two passengers in

each vehicle. Car, Rickshaw, Lorry and each vehicle has passengers of both the sexes. There are

two Merchants, two Doctors and three Lawyers among them. R is a lady doctor and she does not

travel with the pair of sisters, P and U. Q, a male merchant, travels with she does not travel with

only V, a Lawyer in vehicle car. S is a male doctor. Two persons belonging to same profession do

not travel in the same vehicles. P is not a merchant and travels in vehicle Rickshaw. In which

vehicle does R travel?

1) Car 2) Rickshaw 3) Lorry 4) Rickshaw or Lorry
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(10) {dXoMm nwaonUm
1) gm§Ho${VH$ ^mfoV 'blue' ¶m eãXmMm g§Ho$V H$moUVm Amho ¶m àíZmg§X^m©V {Xboë¶m nwT>rb {dXoMm nwaonUm {ZpíMV H$am?

{dXm {dYmZo …
A) EH$m gm§Ho${VH$ ^mfoV 'sea water is blue' Mm g§Ho$V 'er pi th dy' Agm Amho.
~) darb ^mfoV 'sky is clearly blue' Mm g§Ho$V 'dy th ha cb' Agm Amho.
n¶m©¶r CÎmao …
1) A Am{U ~ XmoÝhr Amdí¶H$ 2) ’$º$ A nwaoer Amho
3) ’$º$ A qH$dm ~ ~waoer Amho 4) A Am{U ~ XmoÝhr nwaoer ZmhrV.

1) Decide sufficiency of data with respect to the question : What is the code for ‘blue’ in the code

language ?

Data statements :

a) Code for ‘sea water is blue’ in the certain system is ‘er pi th dy’.

b) Code for ‘sky is clearly blue’ in the above mentioned system is ‘dy th ha ch’.

Answer options :

1) Botha and b are necessary 2) a alone is sufficient

3) Either a or b is sufficient 4) Both a and b are insufficient

2) EH$m ‘mM© ‘{hÝ¶mVrc eodQ>Mm a{ddma H$moUË¶m dmar Amcm Amho ¶m àíZmg§X^m©V {Xcoë¶m {dXoMm nwaogonUm {ZpíMV H$am.
{dXm {dYmZo :
a) ewH«$dma hm Ë¶m ‘{hÝ¶mMm eodQ>Mm {Xdg Amho.
b) Ë¶m ‘{hÝ¶mÀ¶m n{hë¶m a{ddmar 5 VmarI Amho.
n¶m©¶r CÎmao :
1) (a) d XmoÝhr Amdí¶H$ 2) ’$º$ (a) nwaoer Zmhr
3) ’$º$ (a) qH$dm (b) nwaoer Amho 4) ’$º$ (b) nwaoer Zmhr

2) Decide sufficiency of data with respect to the question : On which date the last Sunday of month

March was ?

Data statements :

a) The last day of that month was Friday.

b) The first Sunday of that month fell on 5th,

Answer options :

1) Both (a) and (b) are necessary. 2) (a) alone is not sufficient.

3) Either (a) or (b) is sufficient. 4) (b) alone is not sufficient.

3) M bm EHy$U ‘wbo {H$Vr ¶m àíZmg§X^m©V {Xboë¶m nwT>rb {dXoMm nwaonUm {ZpíMV H$am.
{dXm {dYmZo …
a) Owù¶m ‘wbr Agboë¶m J Mm M hm Zdam AgyZ, Vmo AmB©d{S>bm§Mm EHw$bVm EH$ ‘wbJm Amho.
b) K bm EH$ ZmVy AgyZ, Vr J Mr gmgy Amho.
n¶m©¶r CÎmao …
1) (a) d (b) XmoÝhr Amdí¶H$ d nwaoer Amho. 2) ’$º$ (a) nwaoer Amho.
3) ’$º$ (a) qH$dm (b) nwaoer Amho. 4) ’$º$ (b) nwaoer Amho.
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3) Decide sufficiency of data with respect to question : How many children does M have ?

Data statements :

a) M is the only one son of his parents and is the husband of J who has twin daughters.

b) K has a grandson and she is the mother-in-law of J.

Answer options :

1) Both (a) and (b) are necessary and sufficient. 2) (a) alone is sufficient.

3) Either (a) or (b) is sufficient. 4) (b) alone is sufficient.

4) EH$m ‘wbmH$S>o {ndim d {Zim ‘oUISy> Amho AmUIr EH$m ‘wbmH$S>o {hadm Am{U {Zim ‘oUISy> Amho. VÎdH$S>o {ndim ISy>
Zmhr. gw‘mH$S>o {hadm ISy> Amho, na§Vw bmb a§JmMm Zmhr. OmZH$S>o {ndim ‘oUISy> Amho. XmoZrH$S>o {Zim ISy> Amho na§Vw
{hadm Zmhr.
""àË¶oH$mH$S>o Agboë¶m ISy>§Mo a§J H$moUVo AmhoV' ¶m àíZmg§X^m©V Imbr {Xboë¶m A{YH$À¶m {dXoMm nwaogonUm/
Amdí¶H$Vm {ZpíMV H$am.
OmñVrMr {dXm {dYmZo …
A) àË¶oH$ ‘wbmH$S>o ’$º$ XmoZM ISy> AmhoV.
~) àË¶oH$ a§JmMo ’$º$ XmoZ ISy> AmhoV.
n¶m©¶r CÎmao …
1) n[aÀN>oXmV {Xbobr {dXm Amdí¶H$ d nwaoer Amho. 2) ’$º$ A Amdí¶H$ d nwaoer Amho.
3) A d ~ ¶m XmoÝhr Amdí¶H$ d nwaoem AmhoV. 4) ’$º$ ~ Amdí¶H$ d nwaoer Amho.

4) One child has a yellow and a blue crayon and another has a green and a blue crayon. Tatva does not

have a yellow crayon. Suma has a green crayon but not a red one. Jan has a yellow crayon. Doni

has a blue crayon but not a green one.

Decide the sufficiency/necessity of additional data given below with respect to the above

information and question : ‘What is the colour of crayons each one is having’ ?

Additional data statements :

a) Each child has only two crayons.

b) There are only two crayons of each colour.

Answer Options:

1) Data given in the paragraph is necessary and sufficient.

2) Only ais necessary and sufficient.

3) Both a and b are necessary and sufficient.

4) Only bis necessary and sufficient.

5) CnbãY Agboë¶m {dXoVyZ, EH$m ehamVrb añË¶m§darb {d{dY dJ©dmarÀ¶m dmhZm§À¶m n[aUm‘r Pmboë¶m àXÿfUmMo à‘mU
nwT>rbà‘mUo CKS> Pmbo Amho. ImOJr Mma MmH$s JmS>çm gdm©V OmñV àXÿfU H$aVmV, Ë¶mImbmoImb ~g, Q´>H$ Am{U
XmoZ MmH$s dmhZo àXÿfU H$aVmV.
nwT>rb n¶m©¶m§VyZ darb {dXoÀ¶m AmYmao H$mT>Vm ¶oUmam / ao {ZîH$f© {ZdS>m.
a) eham§À¶m añË¶m§da YmdUmè¶m XþMmH$s dmhZm§Zr g§»¶m MmaMmH$s dmhZm§À¶m g§»¶onojm H$‘r Amho.
b) EH$ ImOJr dmhZm‘wio hmoUmao àXÿfU H$moUË¶mhr EH$m ~g‘wio hmoUmè¶m àXÿfUmnojm OmñV Agob.
n¶m©¶r CÎmao :
1) (a) d (b) ho XmoÝhr {ZîH$f© H$mT>Vm ¶oVmV. 2) ’$º$ (a) hm {ZîH$f© H$mT>Vm ¶oVmo.
3) ’$º$ (b) hm {ZîH$f© H$mT>Vm ¶oVmo. 4) (a) qH$dm (b) ¶m§À¶mn¡H$s EH$hr {ZîH$f© H$mT>Vm ¶oV Zmhr.
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5) According to the available data, quantum of pollution caused by various categories of vehicles on

the road of certain city reveals that the private four wheeler vehicles cause the maximum pollution,

this is followed by the pollution caused by the buses, the trucks and finally the two wheelers.

Select the conclusion/s from the following options that/those can be drawn on the basis of these

data.

a) The number of two wheelers is less than the number of four wheelers plying on the city roads.

b) Pollution caused by a single private vehicle would be more than the pollution caused by any

single bus

Answer Options :

1) Both the conclusions (a) and (b) can be drawn.

2) Only conclusion (a) can be drawn.

3) Only conclusion (b) can be drawn.

4) Neither conclusion (a) nor (b) can be drawn.

-0-0-0-0-0-0-0-0-0-0-0-
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‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

Vm{H©$H$ VH©$ Am{U {díbofUmË‘H$ j‘Vm

(1) {Xboë¶m dmŠ`aMZodéZ {ZU©̀ , {ZîH$f©
H$mT>Uo, {dYmZo d {ZîH$f©

1-1 2-3 3-2 4-2 5-1 6-1

7-4 8-4 9-3 10-2 11-4 12-4

13-4 14-1 15-4 16-4 17-4

(2) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U
J¥{hVHo$

1) {dYmZo Am{U ̀ w{º$dmX

1-4 2-1 3-2 4-3 5-2 6-3

7-3 8-2 9-1 10-4 11-1

¶w{º$dmXmVrb Xmof /¶w{º$dmX gdm©V OmñV Xþ~im H$aUmao

{dYmZ

1-2 2-3 3-1 4-1 5-1 6-4

¶w{º$dmXmcm AmYma ŷV J¥hrVH$

1-1 2-2 3-2 4-1 5-4

2) {dYmZo Am{U J¥{hVHo$

1-x 2-3 3-2

(3) n[apñWVr Am{U à{VgmX,
n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo

1) n[apñWVr Am{U à{VgmX

1-1 2-3 3-1 4-2 5-4 6-4

2) n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo

1-2 2-2 3-3 4-2 5-3 6-4

(4) {dYmZ Am{U H¥$VrMm ‘mJ©, à{VnmXZ Am{U
H$maU, {dYmZmÀ`m gË`VoMr nS>VmiUr

1) {dYmZ Am{U H¥$VrMm ‘mJ©

1-2

2) à{VnmXZ Am{U H$maU

1-4 2-2

3) {dYmZmÀ`m gË`VoMr nS>VmiUr

1-x 2-3 3-3 4-3 5-4 6-3

(5) ~¡R>H$, H«$‘ d ‘m§S>Ur ì`dñWm, ‘mZm§H$Z
MmMUr, VwbZm

1) ~¡R>H$ì¶dñWm

1-2 2-1 3-2 4-2 5-2 6-1

7-3 8-x 9-x 10-4
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2) H«$‘ d ‘m§S>Ur ì`dñWm

1-2 2-x 3-3 4-3 5-1 6-3

7-4 8-3 9-3 10-4 11-x

3) VwbZm d ‘mZm§H$Z

1-4 2-3 3-2 4-3

(6) ZmVog§~§Y

1-2 2-1 3-4 4-2 5-1 6-4

7-3 8-1 9-1 10-2 11-3 12-2

13-4 14-1 15-x 16-x 17-x

(7) ‘erZ BZnwQ> Am{U {MÝho, J{UVr` VH©$

1) ‘erZ BZnwQ> Am{U {MÝho

1-1 2-1

2) J{UVr` VH©$

1-2 2-2 3-2 4-1 5-3 6-3

7-2 8-2 9-3 10-3 11-2 12-3

13-2 14-3 15-x

(8) ñWmZ {ZpíMVr MmMUr, {Xem{ZX}e

1) ñWmZ {ZpíMVr MmMUr

1-2 2-1 3-4 4-3 5-1 6-4

2) {Xem{ZX}e

1-x 2-x 3-3 4-1 5-4 6-4

(9) {díbofU, Hy$Q> ‘m{hVrdarb àíZ,
g‘ñ`m gmoS>dUo

1) {díbofU d g‘ñ`m gmoS>dUo

1-1 2-x 3-x

2) Hy$Q> ‘m{hVrdarb àíZ

1-3 2-3 3-3 4-4 5-3 6-1

7-1 8-2 9-1 10-3

(10) {dXoMm nwaonUm

1-4 2-3 3-1 4-3 5-4


